

ANNUAL PROCUREMENT PLAN-COMMON SUPPLIES AND EQUIPMENT (APP-CSE) 2020 FORM

Introduction:

Listed in this template are all the common supplies and equipment (CSE) carried in stock by the Procurement Service (PS) that may be purchased by government agencies. Agencies must accomplish this form and submit in order to purchase CSEs from the PS. Consistent with DBM Circular No. 2018-10 dated November 8, 2018, the APP-CSE shall serve as the agency's APR for all its CSE requirements. Items in the template has been arranged in accordance with UNSPSC coding and this is in preparation for integration of the APP-CSE template in the Modernized Government Electronic Procurement System (MGEPS).

Instructions:

- Download the worksheet file APP-CSE 2020 template at www.ps-philgeps.gov.ph
- Indicate the agency's monthly requirement per item in the APP-CSE 2020 form.
- The agency should indicate zero if an item is not being purchased by the agency or purchased for a particular month.
- Agency must not delete any item in the template; neither should it include line items or revise the template.
- An APP-CSE is considered incorrect or invalid if
 - form used is other than the prescribed format which can be downloaded only at www.ps-philgeps.gov.ph and;
 - correct format is used but fields were deleted and/or inserted in PART I of the template
- Fill out the CSE requirements that are available for purchase in the PS under the PART I. For other Items that are not available from the PS but is regularly purchased by the agency from other sources, agency must indicate the items in the PART II and indicate likewise the unit prices based on its last purchase.
- Once accomplished and finalized, the APP-CSE 2019 form should be:
 - Saved using this format: APP2020_Name of Agency_Main or Regional Office (e.g. APP2020_DBM_Central Office, APP2020_DBM_Region IVA).
 - Printed and signed by the agency Property/Supply Officer, Budget Officer and Head of the Procuring Entity. An unsigned APP-CSE or that which lacks any of the three (3) signatures will be considered as an invalid submission.
- The SIGNED COPY of the APP-CSE must be scanned and saved as pdf format. The file in excel format should be submitted online using the Virtual Store (VS) facility at PhilGEPS website. (Only buyer coordinators will be allowed to upload APP-CSEs.)
- An agency may revise its APP-CSE during the year if there will be changes in its requirements. However, it should submit an original APP-CSE within the prescribed deadline. Agency may follow the same procedure as indicated in No. 7 when submitting the revised copy. All requirements in excess of the quantities indicated in the original APP-CSE will not be served if not covered by a revised APP-CSE.
- For further assistance/clarification, agencies may call the Marketing and Sales Division of the Procurement Service at telephone no.(02)689-7750 local 4019.

Note: Consistent with Memorandum Circular No. 2019 -1 dated 03 September 2019, issued by AO 25, the APP-CSE for FY 2020 must be submitted on or before **October 31, 2019**.

Department/Bureau/Office: DEPARTMENT OF SOCIAL ELFARE AND DEVELOPMENT
 Region: IX
 Address: GENERAL VICENTE ALVAREZ STREET, ZAMBOANGA CITY

Agency Account Code: NONE
 Organization Type: NATIONAL GOVERNMENT AGENCY (NGA)
 Contact Person: XANTHI ROMEILLA J. VALLICER
 Position: BAC SECRETARIAT
 E-mail: bac.dswdfo@gmail.com
 Telephone/Mobile Nos: (062) 991-6030

Item & Specifications	Unit of Measure	Monthly Quantity Requirement																				Total Quantity for the year	Price Catalogue	Total Amount for the year		
		Jan	Feb	Mar	Q1	Q1 AMOUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	Q3 AMOUNT	Oct	Nov	Dec	Q4	Q4 AMOUNT					
PART I. AVAILABLE AT PROCUREMENT SERVICE STORES																										
Pesticides or Pest Repellents																										
1	10191509-IN-A01	INSECTICIDE, aerosol type, net content: 600ml min	can	0	204	13	217	30,241.12	25	107	5	137	19,092.32	73	144	0	217	30,241.12	119	3	0	122	17,001.92	693.00	139.36	96,576.48
Solvents																										
2	12191601-AL-E01	ALCOHOL, ethyl, 68%-70%, scented, 500ml (-5ml)	bottle	41	171	205	417	18,344.66	112	270	65	447	19,664.42	240	190	80	510	22,435.92	136	94	31	261	11,481.91	1,635.00	43.99	71,926.92
Color Compounds and Dispersions																										
3	12171703-SI-P01	STAMP PAD INK, purple or violet	bottle	0	31	32	63	1,551.51	1	399	5	405	9,974.02	133	26	5	164	4,038.86	0	1		1	24.63	633.00	24.63	15,589.02
Films																										
4	13111203-AC-F01	ACETATE, thickness: 0.075mm min (gauge #3)	roll	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	737.24	0.00
5	13111201-CF-P01	CARBON FILM, PE, black, size 210mm x 297mm	box	2	10	40	52	10,843.04	0	0	20	20	4,170.40	2	10	20	32	6,672.64	0	0	0	0	0.00	104.00	208.52	21,686.08
6	13111201-CF-P02	CARBON FILM, PE, black, size 216mm x 330mm	box	2	14	3	19	3,961.88	2	17		19	3,961.88	14	2	3	19	3,961.88	2	2		4	834.08	61.00	208.52	12,719.72
Paper Materials and Products																										
7	14111525-CA-A01	CARTOLINA, assorted colors	pack	20	0	66	90	6,550.13	55	0	15	70	5,094.54	90	50	0	140	10,189.09	5	0	0	5	363.90	305.00	72.78	22,197.66
8	14111506-CF-L11	CONTINUOUS FORM, 1 PLY, 280 x 241mm	box	0	10	10	20	13,644.80	0	0	10	10	6,822.40	0	10	10	20	13,644.80	0	0	0	0	0.00	50.00	682.24	34,112.00
9	14111506-CF-L12	CONTINUOUS FORM, 1 PLY, 280 x 378mm	box	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,029.60	0.00
10	14111506-CF-L22	CONTINUOUS FORM, 2 ply, 280 x 378mm, carbonless	box	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,300.00	0.00
11	14111506-CF-L21	CONTINUOUS FORM, 2 ply, 280mm x 241mm, carbonless	box	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	765.44	0.00
12	14111506-CF-L31	CONTINUOUS FORM, 3 PLY, 280 x 241mm, carbonless	box	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	596.80	0.00
13	14111506-CF-L32	CONTINUOUS FORM, 3 PLY, 280 x 378mm, carbonless	box	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,034.80	0.00
14	14111609-LL-C01	LOOSELEAF COVER, made of chipboard, for legal	bundle	0	5	0	5	3,353.48	0	0	0	0	0.00	5	0	0	5	3,353.48	0	0	0	0	0.00	10.00	670.70	6,706.96
15	14111514-NP-S02	NOTE PAD, stick on, 50mm x 76mm (2" x 3") min	pad	0	35	263	298	9,601.32	0	0	0	0	0.00	87	25	0	112	3,608.55	0	0	0	0	0.00	410.00	32.22	13,209.87

16	14111514-NP-S04	NOTE PAD, stick on, 76mm x 100mm (3" x 4") min	pad	0	35	5	40	2,242.24	0	0	0	0	0.00	10	25	0	35	1,961.96	0	0	0	0	0.00	75.00	56.06	4,204.20
17	14111514-NP-S03	NOTE PAD, stick on, 76mm x 76mm (3" x 3") min	pad	0	41	50	91	3,776.14	0	6	60	66	2,738.74	10	31	0	41	1,701.34	60	6	0	66	2,738.74	264.00	41.50	10,954.94
18	14111514-NB-S01	NOTEBOOK, STENOGRAPHER, spiral, 40 leaves	piece	0	260	420	550	6,623.76	0	0	0	0	0.00	50	310	0	360	4,335.55	0	10	0	10	120.43	920.00	12.04	11,079.74
19	14111507-PP-M01	PAPER, MULTICOPY, 80gsm, size: 210mm x 297mm	ream	0	0	0	0	0.00	0	594	0	594	78,628.49	510	0	108	618	81,805.40	172	172	0	344	45,535.69	1,556.00	132.37	205,969.59
20	14111507-PP-M02	PAPER, MULTICOPY, 80gsm, size: 216mm x 330mm	ream	0	0	50	50	7,737.60	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	154.75	7,737.60
21	14111507-PP-C01	PAPER, Multi-Purpose (COPY) A4, 70 gsm	ream	620	353	1535	2508	287,202.12	60	1062	274	1396	159,862.10	1350	300	174	1824	208,874.27	238	62	20	320	36,644.61	6,048.00	114.51	692,583.09
22	14111507-PP-C02	PAPER, Multi-Purpose (COPY) Legal, 70 gsm	ream	1565	282	1907	3754	487,941.92	25	1083	142	1250	162,474.00	1350	153	47	1550	201,467.76	235	32	27	294	38,213.88	6,848.00	129.98	890,097.56
23	14111531-PP-R01	PAPER, PAD, ruled, size: 216mm x 330mm (± 2mm)	pad	0	25	0	25	433.68	0	0	0	0	0.00	0	25	0	25	433.68	0	0	0	0	0.00	50.00	17.35	867.36
24	14111503-PA-P01	PAPER, PARCHMENT, size: 210 x 297mm, multi-purpose	ream	0	0	0	0	0.00	0	0	2	2	192.40	0	0	0	0	0.00	0	0	0	0	0.00	2.00	96.20	192.40
25	14111818-TH-P02	PAPER, THERMAL, 55gsm, size: 216mm±1mm x 30m-0.3m	roll	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	48.78	0.00
26	14111531-RE-B01	RECORD BOOK, 300 PAGES, size: 214mm x 278mm min	book	5	193	145	343	24,256.96	0	3	0	3	212.16	113	62	0	175	12,376.00	0	3	0	3	212.16	524.00	70.72	37,057.28
27	14111531-RE-B02	RECORD BOOK, 500 PAGES, size: 214mm x 278mm min	book	45	6	320	371	37,812.32	15	252	0	267	27,212.64	200	24	32	256	26,091.52	15	2	0	17	1,732.64	911.00	101.92	92,849.12
28	14111704-TT-P02	TOILET TISSUE PAPER 2-ply sheets, 150 rolls	pack	44	65	112	221	14,456.94	47	94	42	183	11,971.13	129	42	43	214	13,999.02	52	45	32	129	8,438.66	747.00	65.42	48,865.75

Batteries and Cells and Accessories

29	26111702-BT-A02	BATTERY, dry cell, AA, 2 pieces per blister pack	pack	1	90	35	126	2,485.83	13	22	12	47	927.25	62	50	12	124	2,446.37	21	0	22	43	848.34	340.00	19.73	6,707.79
30	26111702-BT-A01	BATTERY, dry cell, AAA, 2 pieces per blister pack	pack	5	47	32	84	1,638.00	5	1	0	6	117.00	49	47	0	96	1,872.00	5	1	0	6	117.00	192.00	19.50	3,744.00
31	26111702-BT-A03	BATTERY, dry cell, D, 1.5 volts, alkaline	pack	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	88.40	0.00

Manufacturing Components and Supplies

32	31201610-GL-J01	GLUE, all purpose, gross weight: 200 grams min	jar	0	70	147	217	10,376.77	3	345	5	353	16,880.18	142	62	0	204	9,755.12	0	0	0	0	0.00	774.00	47.82	37,012.06
33	31151804-SW-H01	STAPLE WIRE, for heavy duty staplers, (23/13)	box	6	21	42	69	1,426.59	6	0	32	38	785.66	16	0	32	48	992.41	6	0	0	6	124.05	161.00	20.68	3,328.71
34	31151804-SW-S01	STAPLE WIRE, STANDARD, (26/6)	box	28	79	622	729	14,617.32	50	525	7	582	11,669.80	470	66	9	545	10,927.90	70	8	30	108	2,165.53	1,964.00	20.05	39,380.56
35	31201502-TA-E01	TAPE, ELECTRICAL, 18mm x 16M min	roll	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	18.20	0.00
36	31201503-TA-M01	TAPE, MASKING, width: 24mm (±1mm)	roll	0	10	140	150	8,268.00	0	4	36	40	2,204.80	5	5	32	42	2,315.04	0	4	0	4	220.48	236.00	55.12	13,008.32
37	31201503-TA-M02	TAPE, MASKING, width: 48mm (±1mm)	roll	5	30	102	137	14,604.20	5	886	2	893	95,193.80	105	30	0	135	14,391.00	5	0	0	5	533.00	1,170.00	106.60	124,722.00
38	31201517-TA-P01	TAPE, PACKAGING, width: 48mm (±1mm)	roll	45	68	0	113	2,056.60	15	525	0	540	9,828.00	35	40	24	99	1,801.80	15	0	0	15	273.00	767.00	18.20	13,959.40
39	31201512-TA-T01	TAPE, TRANSPARENT, width: 24mm (±1mm)	roll	0	24	100	124	1,128.40	61	531	35	627	5,705.70	145	16	33	194	1,765.40	10	7	0	17	154.70	962.00	9.10	8,754.20
40	31201512-TA-T02	TAPE, TRANSPARENT, width: 48mm (±1mm)	roll	16	23	102	141	2,566.20	6	56	2	64	1,164.80	16	16	0	32	582.40	6	6	0	12	218.40	249.00	18.20	4,531.80
41	31151507-TW-P01	TWINE, plastic, one (1) kilo per roll	roll	0	50	103	153	7,796.88	0	0	0	0	0.00	0	50	0	50	2,548.00	0	0	0	0	0.00	203.00	50.96	10,344.88

Heating and Ventilation and Air Circulation

42	40101604-EF-G01	ELECTRIC FAN, INDUSTRIAL, ground type, metal blade	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	974.48	0.00
43	40101604-EF-C01	ELECTRIC FAN, ORBIT type, ceiling, metal blade	unit	0	0	6	6	7,157.28	0	0	0	0	0.00	2	0	0	2	2,385.76	0	0	0	0	0.00	8.00	1,192.88	9,543.04
44	40101604-EF-S01	ELECTRIC FAN, STAND type, plastic blade	unit	0	18	15	33	33,210.78	8	0	0	8	8,051.10	21	0	0	21	21,134.13	0	0	0	0	0.00	62.00	1,006.39	62,396.01
45	40101604-EF-W01	ELECTRIC FAN, WALL type, plastic blade	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	669.66	0.00

Lighting and Fixtures and Accessories

46	39101605-FL-T01	FLUORESCENT LAMP, 18 WATTS, linear tubular (T8)	piece	0	0	0	0	0.00	0	0	10	10	405.60	0	0	0	0	0.00	0	0	0	0	0.00	10.00	40.56	405.60
47	39101628-LB-L01	Ligh Bulb, LED, 7 watts 1 pc in individual box	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	72.49	0.00

Measuring and Observing and Testing Equipment

48	41111604-RU-P02	RULER, plastic, 450mm (18"), width: 38mm min	piece	0	0	30	30	464.26	0	0	0	0	0.00	0	1	0	1	15.48	0	0	0	0	0.00	31.00	15.48	479.73
----	-----------------	--	-------	---	---	----	----	--------	---	---	---	---	------	---	---	---	---	-------	---	---	---	---	------	-------	-------	--------

Cleaning Equipment and Supplies

49	47131812-AF-A01	AIR FRESHENER, aerosol, 280ml/150g min	can	6	72	22	100	8,606.00	23	15	38	76	6,540.56	66	22	25	113	9,724.78	10	28	2	40	3,442.40	329.00	86.06	28,313.74
50	47131604-BR-S01	BROOM, soft (tambo)	piece	0	8	53	61	7,930.00	5	3	3	11	1,430.00	55	3	3	61	7,930.00	8	0	0	8	1,040.00	141.00	130.00	18,330.00
51	47131604-BR-T01	BROOM, STICK (TING-TING), usable length: 760mm min	piece	0	59	0	59	1,803.98	5	3	0	8	244.61	55	4	0	59	1,803.98	8	0	0	8	244.61	134.00	30.58	4,097.18
52	47131829-TB-C01	CLEANER, TOILET BOWL AND URINAL, 900ml-1000ml cap	bottle	0	88	25	113	4,700.80	64	24	25	113	4,700.80	59	24	25	108	4,492.80	89	24	0	113	4,700.80	447.00	41.60	18,595.20

53	47131805-CL-P01	CLEANSER, SCOURING POWDER, 350g min./can	can	0	30	0	30	717.60	0	0	0	0	0.00	30	0	0	30	717.60	0	0	0	0	0.00	60.00	23.92	1,435.20
54	47131811-DE-B02	DETERGENT BAR, 140 grams as packed	bar	0	10	0	10	80.08	10	0	0	10	80.08	10	0	0	10	80.08	10	0	0	10	80.08	40.00	8.01	320.32
55	47131811-DE-P02	DETERGENT POWDER, all purpose, 1kg	pack	2000	20	0	2020	75,607.79	2000	65	0	2065	77,292.12	2000	65	0	2065	77,292.12	2065	0	10	2075	77,666.42	8,225.00	37.43	307,858.46
56	47131803-DS-A01	DISINFECTANT SPRAY, aerosol type, 400-550 grams	can	0	122	5	127	15,618.46	30	23	24	77	9,469.46	110	33	0	143	17,586.14	42	20	0	62	7,624.76	409.00	122.98	50,298.82
57	47131601-DU-P01	DUST PAN, non-rigid plastic, w/ detachable handle	piece	0	8	0	8	198.68	5	8	0	13	322.86	5	8	0	13	322.86	8	0	0	8	198.68	42.00	24.84	1,043.08
58	47131802-FW-P02	FLOOR WAX, PASTE, RED	can	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	269.36	0.00
59	47131830-FC-A01	FURNITURE CLEANER, aerosol type, 300ml min per can	can	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	87.36	0.00
60	47121804-MP-B01	MOP BUCKET, heavy duty, hard plastic	unit	0	18	0	18	34,398.00	0	6	0	6	11,466.00	12	0	0	12	22,932.00	0	0	0	0	0.00	36.00	1,911.00	68,796.00
61	47131613-MP-H02	MOPHANDLE, heavy duty, aluminum, screw type	piece	0	52	5	57	8,299.20	0	0	0	0	0.00	52	5	0	57	8,299.20	0	0	0	0	0.00	114.00	145.60	16,598.40
62	47131619-MP-R01	MOPHEAD, made of rayon, weight: 400 grams min	piece	0	10	41	51	5,622.24	0	0	0	0	0.00	46	5	0	51	5,622.24	0	0	0	0	0.00	102.00	110.24	11,244.48
63	47131501-RG-C01	RAGS, all cotton, 32 pieces per kilogram min	bundle	0	14	0	14	695.68	0	4	0	4	198.76	0	14	0	14	695.68	0	4	0	4	198.76	36.00	49.69	1,788.88
64	47131602-SC-W01	SCOURING PAD, made of synthetic nylon, 140 x 220mm	pack	0	10	0	10	1,029.60	0	10	0	10	1,029.60	10	0	0	10	1,029.60	10	0	0	10	1,029.60	40.00	102.96	4,118.40
65	47121701-TB-P04	TRASHBAG, plastic, transparent	roll	0	24	0	24	3,357.12	0	0	0	0	0.00	24	0	0	24	3,357.12	0	0	0	0	0.00	48.00	139.88	6,714.24
66	47121702-WB-P01	WASTEBASKET, non-rigid plastic	piece	0	37		37	872.73	5	0	0	5	117.94	41	0	10	51	1,202.95	0	0	0	0	0.00	93.00	23.59	2,193.61

Information and Communication Technology (ICT) Equipment and Devices and Accessories

67	43211507-DCT-03	Desktop Computer, branded	unit	1	7	35	43	1,685,944.00	0	5	1	6	235,248.00	1	0	5	6	235,248.00	0	0	0	0	0.00	55.00	39,208.00	2,156,440.00
69	43201827-HD-X02	EXTERNAL HARD DRIVE, 1TB, 2.5"HDD, USB 3.0	piece	0	10	12	22	59,945.60	0	1		1	2,724.80		6		6	16,348.80	0	0	0	0	0.00	29.00	2,724.80	79,019.20
1	43202010-FD-U01	FLASH DRIVE, 16 GB capacity	piece	0	17	241	258	71,373.12	0	100	35	135	37,346.40	95	0	35	130	35,963.20	0	0	0	0	0.00	523.00	276.64	144,682.72
71	43211503-LCT-03	Laptop Computer, branded	unit	1	1	20	22	790,160.80	0	0	3	3	107,749.20	1	0	0	1	35,916.40	0	0	0	0	0.00	26.00	35,916.40	933,826.40
72	43211708-MO-001	MOUSE, optical, USB connection type	unit	3	28	138	169	22,813.65	3	0	3	6	809.95	42	14	2	58	7,829.54	3	0	0	3	404.98	236.00	134.99	31,858.11
73	43212102-PR-D02	PRINTER, IMPACT DOT MATRIX, 24 pins, 136 column	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	33,131.28	0.00
74	43212102-PR-D01	PRINTER, IMPACT DOT MATRIX, 9 pins, 80 columns	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	7,995.52	0.00
75	43212105-PR-L01	PRINTER, LASER, monochrome, network-ready	unit	0	1	0	1	724.88	0	0	0	0	0.00	1	0	0	1	724.88	0	0	0	0	0.00	2.00	724.88	1,449.76

Office Equipment and Accessories and Supplies

76	44121710-CH-W01	CHALK, molded, white, dustless, length: 78mm min	box	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	25.68	0.00
77	44122105-BF-C01	CLIP, BACKFOLD, all metal, clamping: 19mm (-1mm)	box	0	2	8	10	75.71	0	0	0	0	0.00	0	0	3	3	22.71	0	0	0	0	0.00	13.00	7.57	98.43
78	44122105-BF-C02	CLIP, BACKFOLD, all metal, clamping: 25mm (-1mm)	box	0	15	5	20	267.90	0	0	0	0	0.00	15	0	0	15	200.93	0	0	0	0	0.00	35.00	13.40	468.83
79	44122105-BF-C03	CLIP, BACKFOLD, all metal, clamping: 32mm (-1mm)	box	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	20.55	0.00
80	44122105-BF-C04	CLIP, BACKFOLD, all metal, clamping: 50mm (-1mm)	box	0	15	0	15	592.80	0	0	0	0	0.00	15	0	0	15	592.80	0	0	0	0	0.00	30.00	39.52	1,185.60
81	44121801-CT-R01	CORRECTION TAPE, film base type, UL 6m min	piece	206	188	697	1091	19,152.72	36	615	102	753	13,219.07	493	105	52	650	11,410.88	111	23	2	136	2,387.51	2,630.00	17.56	46,170.18
82	44111515-DF-B01	DATA FILE BOX, made of chipboard, with closed ends	piece	30	40	45	115	8,025.16	30	4		34	2,372.66	75	4	0	79	5,512.94	30	4	0	34	2,372.66	262.00	69.78	18,283.41
83	44122011-DF-F01	DATA FOLDER, made of chipboard, taglia lock	piece	30	3	0	33	2,265.12	30	2		32	2,196.48	20	2	0	22	1,510.08	20	2	0	22	1,510.08	109.00	68.64	7,481.76
84	44121506-EN-D01	ENVELOPE, DOCUMENTARY, for A4 size document	box	2	5	0	7	2,856.96	2	3		5	2,040.69	5	3	0	8	3,265.10	2	3	0	5	2,040.69	25.00	408.14	10,203.44
85	44121506-EN-D02	ENVELOPE, DOCUMENTARY, for legal size document	box	15	4	0	19	9,843.44	15	4		19	9,843.44	17	0	2	19	9,843.44	0	0	0	0	0.00	57.00	518.08	29,530.33
86	44121506-EN-X01	ENVELOPE, EXPANDING, KRAFTBOARD, for legal size doc	box	0	5	16	21	15,506.40	0	0	2	2	1,476.80		2	10	12	8,860.80	0	0	0	0	0.00	35.00	738.40	25,844.00
87	44121506-EN-X02	ENVELOPE, EXPANDING, PLASTIC, 0.50mm thickness min	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	30.49	0.00
88	44121506-EN-M02	ENVELOPE, MAILING, white, 80gsm (-5%)	box	4	4	13	21	6,901.44	0	0	0	0	0.00	4	3	11	18	5,915.52	0	0	0	0	0.00	39.00	328.64	12,816.96
89	44121504-EN-W02	ENVELOPE, mailing, white, with window	box	0	2	0	2	821.60	0	0	0	0	0.00	2	0	0	2	821.60	0	0	0	0	0.00	4.00	410.80	1,643.20
90	44111912-ER-B01	ERASER, FELT, for blackboard/whiteboard	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	11.11	0.00
91	44122118-FA-P01	FASTENER, METAL, 70mm between prongs	box	0	18	15	33	2,604.20	0	0	0	0	0.00		12		12	946.98	0	0	0	0	0.00	45.00	78.92	3,551.18
92	44111515-FO-X01	FILE ORGANIZER, expanding, plastic, 12 pockets	piece	0	3	0	3	211.82	6	0	0	6	423.63	4	3	10	17	1,200.30	0	0	0	0	0.00	26.00	70.61	1,835.75
93	44122018-FT-D01	FILE TAB DIVIDER, bristol board, for A4	set	0	4	0	4	49.92	0	4	0	4	49.92	0	4	0	4	49.92	0	4	0	4	49.92	16.00	12.48	199.68
94	44122018-FT-D02	FILE TAB DIVIDER, bristol board, for legal	set	0	0	10	10	166.40	0	0	0	0	0.00	0	0	0	0	0.00	20	0	0	20	332.80	30.00	16.64	499.20

95	44122011-FO-F01	FOLDER, FANCY, for A4 size documents	bundle	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	253.29	0.00
96	44122011-FO-F02	FOLDER, FANCY, for legal size documents	bundle	15	2	37	54	15,724.80	1	16	21	38	11,065.60	13	15	20	48	13,977.60	1	0	0	1	291.20	141.00	291.20	41,059.20
97	44122011-FO-L01	FOLDER, L-TYPE, PLASTIC, for A4 size documents	pack	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	171.08	0.00
98	44122011-FO-L02	FOLDER, L-TYPE, PLASTIC, for legal size documents	pack	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	213.72	0.00
99	44122027-FO-P01	FOLDER, PRESSBOARD, size: 240mm x 370mm (-5mm)	box	0	1	0	1	746.72	0	0	0	0	0.00	0	1	0	1	746.72	0	0	0	0	0.00	2.00	746.72	1,493.44
100	44122011-FO-T03	FOLDER, TAGBOARD, for A4 size documents	pack	0	3	0	3	652.08	0	3	0	3	652.08	0	3	0	3	652.08	0	3	0	3	652.08	12.00	217.36	2,608.32
101	44122011-FO-T04	FOLDER, TAGBOARD, for legal size documents	pack	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	279.64	0.00
102	44122008-IT-T01	INDEX TAB, self-adhesive, transparent	box	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	51.88	0.00
103	44111515-MF-B02	MAGAZINE FILE BOX, LARGE size, made of chipboard	piece	2	5	0	7	291.20	0	3	0	3	124.80	5	3	0	8	332.80	0	3	0	3	124.80	21.00	41.60	873.60
104	44121716-MA-F01	MARKER, FLUORESCENT, 3 assorted colors per set	set	0	23	32	55	2,047.76	0	3	0	3	111.70	20	3	0	23	856.34	0	3	0	3	111.70	84.00	37.23	3,127.49
105	44121708-MW-B01	MARKER, whiteboard, black, felt tip, bullet type	piece	10	40	44	94	968.80	10	74	2	86	886.35	48	20	0	68	700.84	20	10	0	30	309.19	278.00	10.31	2,865.18
106	44121708-MW-B02	MARKER, whiteboard, blue, felt tip, bullet type	piece	0	20	10	30	309.19	0	0	0	0	0.00	20	0	0	20	206.13	0	0	0	0	0.00	50.00	10.31	515.32
107	44121708-MW-B03	MARKER, whiteboard, red, felt tip, bullet type	piece	0	20	20	40	412.26	0	0	0	0	0.00	20	0	0	20	206.13	0	0	0	0	0.00	60.00	10.31	618.38
108	44121708-MP-B01	MARKER, PERMANENT, bullet type, black	piece	15	90	1032	1137	10,973.41	15	441	10	466	4,497.46	500	65	37	602	5,810.02	15	20	0	35	337.79	2,240.00	9.65	21,618.69
109	44121708-MP-B02	MARKER, PERMANENT, bullet type, blue	piece	0	37	157	194	1,872.33		10	5	15	144.77	140	20	32	192	1,853.03	0	10	0	10	96.51	411.00	9.65	3,966.64
110	44121708-MP-B03	MARKER, PERMANENT, bullet type, red	piece	0	20	5	25	241.28		5	5	5	48.26	20	0	5	25	241.28	0	0	0	0	0.00	55.00	9.65	530.82
111	44122104-PC-G01	PAPER CLIP, vinyl/plastic coat, length: 32mm	box	30	13	40	83	496.34		8	8	8	47.84	40	0	37	77	460.46	0	0	0	0	0.00	168.00	5.98	1,004.64
112	44122104-PC-J02	PAPER CLIP, vinyl/plastic coat, length: 48mm	box	5	142	1321	1468	18,702.32	5	6	2	13	165.62	215	131	35	381	4,853.94	5	6		11	140.14	1,873.00	12.74	23,862.02
113	44121706-PE-L01	PENCIL, lead, w/ eraser, wood cased, hardness: HB	box		78	37	115	2,390.80	0	4	0	4	83.16	2	76	0	78	1,621.59	0	4	0	4	83.16	201.00	20.79	4,178.71
114	44122037-RB-P10	RING BINDER, 80 rings, plastic, 32mm x 1.12m	bundle	5	10	5	20	4,032.70	19	0	10	29	5,847.42	15	0	0	15	3,024.53	10	0	5	15	3,024.53	79.00	201.64	15,929.18
115	44122101-RU-B01	RUBBER BAND, 70mm min lay flat length (#18)	box	0	8	2	10	967.20	0	0	0	0	0.00	0	7	0	7	677.04	0	0	0	0	0.00	17.00	96.72	1,644.24
116	44121905-SP-F01	STAMP PAD, FELT, bed dimension: 60mm x 100mm min	piece	0	27	0	27	746.93	10	280	0	290	8,022.56	94	25	0	119	3,292.02	0	1	0	1	27.66	437.00	27.66	12,089.17
117	44121612-BL-H01	CUTTER BLADE, for heavy duty cutter	piece	5	0	0	5	58.86	0	0	0	0	0.00	0	0	0	0	0.00	5	0	0	5	58.86	10.00	11.77	117.73
118	44121612-CU-H01	CUTTER KNIFE, for general purpose	piece	20	15	5	40	1,096.16	5	0	0	5	137.02	30	0	0	30	822.12	5	0	0	5	137.02	80.00	27.40	2,192.32
119	44103202-DS-M01	DATING AND STAMPING MACHINE, heavy duty	piece	5	1	11	17	8,132.45	0	0	0	0	0.00	0	0	8	8	3,827.03	5	0	0	5	2,391.90	30.00	478.38	14,351.38
120	44121619-PS-M01	PENCIL SHARPENER, manual, single cutter head	piece	10	1	10	21	3,931.20	0	0	0	0	0.00	10	0	5	15	2,808.00	0	0	0	0	0.00	36.00	187.20	6,739.20
121	44101602-PJ-P01	PUNCHER, paper, heavy duty, with two hole guide	piece	5	40	29	74	9,764.68	5	222	0	227	29,953.83	95	25	0	120	15,834.62	5	0	0	5	659.78	426.00	131.96	56,212.92
122	44121618-SS-S01	SCISSORS, symmetrical, blade length: 65mm min	pair	20	85	52	157	2,449.20	0	267	0	267	4,165.20	120	40	20	180	2,808.00	0	0	0	0	0.00	604.00	15.60	9,422.40
123	44121615-ST-S01	STAPLER, STANDARD TYPE, load cap: 200 staples min	piece	5	49		54	4,436.64	28	10	32	70	5,751.20	15	35	0	50	4,108.00	15	0	0	15	1,232.40	189.00	82.16	15,528.24
124	44121615-ST-B01	STAPLER, BINDER TYPE, heavy duty, desktop	unit	3	12	20	35	30,758.00	3	0	0	3	2,636.40	13	0	0	13	11,424.40	3	0	0	3	2,636.40	54.00	878.80	47,455.20
125	44121613-SR-P01	STAPLE REMOVER, PLIER-TYPE	piece	2	12	52	66	1,199.83	0	0	10	10	181.79	0	10	0	10	181.79	0	0	0	0	0.00	86.00	18.18	1,563.41
126	44121605-TD-T01	TAPE DISPENSER, TABLE TOP, for 24mm width tape	piece	0	12	46	58	3,237.98	0	0	0	0	0.00	10	2	0	12	669.93	0	0	0	0	0.00	70.00	55.83	3,907.90
127	44101602-PB-M01	BINDING AND PUNCHING MACHINE, binding cap: 50mm	unit	0	1	0	1	10,400.00	0	0	0	0	0.00	1	0	0	1	10,400.00	0	0	0	0	0.00	2.00	10,400.00	20,800.00
128	44101807-CA-C01	CALCULATOR, compact, 12 digits	unit	0	109	106	215	29,068.00	5	0	20	25	3,380.00	32	17	0	49	6,624.80	15	0	0	15	2,028.00	304.00	135.20	41,100.80
129	44101714-FX-M01	FACSIMILE MACHINE, uses thermal paper	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	4,711.20	0.00
130	44101601-PT-M01	PAPER TRIMMER/CUTTING MACHINE, max paper size: B4	unit	0	1	0	1	8,088.08	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	8,088.08	8,088.08
131	44101603-PS-M01	PAPER SHREDDER, cutting width: 3mm-4mm (Entry Level)	unit	0	1	0	1	5,699.20	0	0	0	0	0.00	0	1	0	1	5,699.20	0	0	0	0	0.00	2.00	5,699.20	11,398.40
132	44101603-PS-M02	PAPER SHREDDER, cutting width: 3mm-4mm (Mid-Level)	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00

Printer or Facsimile or Photocopier Supplies

133	44103109-BR-D05	DRUM CART, BROTHER DR-3455	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	6,864.00	0.00
134	44103105-CA-C04	INK CART, CANON CL-741, Col.	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,001.52	0.00
135	44103105-CA-C02	INK CART, CANON CL-811, Colored	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,029.60	0.00
136	44103105-CA-B04	INK CART, CANON PG-740, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	754.00	0.00

137	44103105-CA-B02	INK CART, CANON PG-810, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	780.00	0.00
138	44103105-EP-B17	INK CART, EPSON C13T664100 (T6641), Black	cart	95	55	392	542	138,101.60	75	158	61	294	74,911.20	185	40	59	284	72,363.20	30	4	0	34	8,663.20	1,154.00	254.80	294,039.20
139	44103105-EP-C17	INK CART, EPSON C13T664200 (T6642), Cyan	cart	75	35	178	288	73,382.40	55	147	46	248	63,190.40	127	20	43	190	48,412.00	60	3	0	63	16,052.40	789.00	254.80	201,037.20
140	44103105-EP-M17	INK CART, EPSON C13T664300 (T6643), Magenta	cart	75	35	178	288	73,382.40	55	147	46	248	63,190.40	127	20	43	190	48,412.00	60	3	0	63	16,052.40	789.00	254.80	201,037.20
141	44103105-EP-Y17	INK CART, EPSON C13T664400 (T6644), Yellow	cart	60	35	178	273	69,560.40	55	147	46	248	63,190.40	127	20	43	190	48,412.00	60	3	0	63	16,052.40	774.00	254.80	197,215.20
142	44103105-HP-B40	INK CART, HP C2P04AA (HP62) Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
143	44103105-HP-T40	INK CART, HP C2P06AA (HP62) Tri-color	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
144	44103105-HP-B09	INK CART, HP C9351AA, (HP21), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	658.32	0.00
145	44103105-HP-T10	INK CART, HP C9352AA, (HP22), Tri-color	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	745.68	0.00
146	44103105-HP-T30	INK CART, HP C9363WA, (HP97), Tri-color	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,492.40	0.00
147	44103105-HP-P48	INK CART, HP C9397A (HP72) 69ml Photo Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,996.80	0.00
148	44103105-HP-C48	INK CART, HP C9398A (HP72) 69ml Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,996.80	0.00
149	44103105-HP-M48	INK CART, HP C9399A (HP72) 69ml Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,996.80	0.00
150	44103105-HP-Y48	INK CART, HP C9400A (HP72) 69ml Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,996.80	0.00
151	44103105-HP-G48	INK CART, HP C9401A (HP72) 69ml Gray	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,996.80	0.00
152	44103105-HP-B48	INK CART, HP C9403A (HP72) 130ml Matte Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,016.00	0.00
153	44103105-HP-B17	INK CART, HP CC640WA, (HP60), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	650.00	0.00
154	44103105-HP-T17	INK CART, HP CC643WA, (HP60), Tri-color	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	766.48	0.00
155	44103105-HP-B35	INK CART, HP CD887AA, (HP703), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	339.04	0.00
156	44103105-HP-T35	INK CART, HP CD888AA, (HP703), Tri-color	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	339.04	0.00
157	44103105-HX-C40	INK CART, HP CD972AA, (HP 920XL), Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	629.20	0.00
158	44103105-HX-M40	INK CART, HP CD973AA, (HP 920XL), Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	629.20	0.00
159	44103105-HX-Y40	INK CART, HP CD974AA, (HP 920XL), Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	629.20	0.00
160	44103105-HX-B40	INK CART, HP CD975AA, (HP 920XL), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,242.80	0.00
161	44103105-HP-B20	INK CART, HP CH561WA, (HP61), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	644.80	0.00
162	44103105-HP-T20	INK CART, HP CH562WA, (HP61), Tricolor	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	826.80	0.00
163	44103105-HP-B49	INK CART, HP CH565A (HP82) Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,872.00	0.00
164	44103105-HP-C49	INK CART, HP CH566A (HP82) Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,300.00	0.00
165	44103105-HP-M49	INK CART, HP CH567A (HP82) Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,300.00	0.00
166	44103105-HP-Y49	INK CART, HP CH568A (HP82) Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,300.00	0.00
167	44103105-HX-B43	INK CART, HP CN045AA, (HP950XL), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,554.80	0.00
168	44103105-HX-C43	INK CART, HP CN046AA, (HP951XL), Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,175.20	0.00
169	44103105-HX-M43	INK CART, HP CN047AA, (HP951XL), Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,180.40	0.00
170	44103105-HX-Y43	INK CART, HP CN048AA, (HP951XL), Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,180.40	0.00
171	44103105-HP-B36	INK CART, HP CN692AA, (HP704), Black	cart	0	0	0	0	0.00	0	21	0	21	7,119.84	7	0	0	7	2,373.28	0	0	0	0	0.00	28.00	339.04	9,493.12
172	44103105-HP-T36	INK CART, HP CN693AA, (HP704), Tri-color	cart	0	0	0	0	0.00	0	21	0	21	7,119.84	7	0	0	7	2,373.28	0	0	0	0	0.00	28.00	339.04	9,493.12
173	44103105-HP-B33	INK CART, HP CZ107AA, (HP678), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	339.04	0.00
174	44103105-HP-T33	INK CART, HP CZ108AA, (HP678), Tricolor	cart	0	0	0	0	0.00	0	90	0	90	30,513.60	30	0	0	30	10,171.20	0	0	0	0	0.00	120.00	339.04	40,684.80
175	44103105-HP-B42	INK CART, HP CZ121A (HP685A), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	366.08	0.00
176	44103105-HP-C33	INK CART, HP CZ122A (HP685A), Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	249.60	0.00
177	44103105-HP-M33	INK CART, HP CZ123A (HP685A), Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	249.60	0.00
178	44103105-HP-Y33	INK CART, HP CZ124A (HP685A), Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	249.60	0.00
179	44103105-HP-T43	INK CART, HP F6V26AA (HP680) Tri-color	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	403.83	0.00
180	44103105-HP-B43	INK CART, HP F6V27AA (HP680) Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	403.83	0.00

181	44103105-HP-C50	INK CART, HP L0551AA (HP955) Cyan Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
182	44103105-HP-M50	INK CART, HP L0554AA (HP955) Magenta Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
183	44103105-HP-Y50	INK CART, HP L0557AA (HP955) Yellow Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
184	44103105-HP-B50	INK CART, HP L0560AA (HP955) Black Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
185	44103105-HX-C48	INK CART, HP L0563AA (HP955XL) Cyan Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,277.76	0.00
186	44103105-HX-M48	INK CART, HP L0566AA (HP955XL) Magenta Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,277.76	0.00
187	44103105-HX-Y48	INK CART, HP L0569AA (HP955XL) Yellow Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,277.76	0.00
188	44103105-HX-B48	INK CART, HP L0572AA (HP955XL) Black Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,737.02	0.00
189	44103105-HP-C51	INK CART, HP T6L89AA (HP905) Cyan Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	453.62	0.00
190	44103105-HP-M51	INK CART, HP T6L93AA (HP905) Magenta Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	453.62	0.00
191	44103105-HP-Y51	INK CART, HP T6L97AA (HP905) Yellow Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	453.62	0.00
192	44103105-HP-B51	INK CART, HP T6M01AA (HP905) Black Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	741.28	0.00
193	44103105-HX-C49	INK CART, HP T6M05AA (HP905XL) Cyan Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
194	44103105-HX-M49	INK CART, HP T6M09AA (HP905XL) Magenta Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
195	44103105-HX-Y49	INK CART, HP T6M13AA (HP905XL) Yellow Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
196	44103105-HX-B49	INK CART, HP T6M17AA (HP905XL) Black Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
197	44103112-EP-R05	RIBBON CART, EPSON C13S015516 (#8750), Black	cart	0	0	5	5	383.76	0	0	0	0	0.00	0	0	5	5	383.76	0	0	0	0	0.00	10.00	76.75	767.52
198	44103112-EP-R07	RIBBON CART, EPSON C13S015531 (S015086), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	724.88	0.00
199	44103112-EP-R13	RIBBON CART, EPSON C13S015632, Black, for LX-310	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	75.92	0.00
200	44103103-BR-B03	TONER CART, BROTHER TN-2025, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,556.32	0.00
201	44103103-BR-B04	TONER CART, BROTHER TN-2130, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	1,820.00	0.00
202	44103103-BR-B05	TONER CART, BROTHER TN-2150, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,615.60	0.00
203	44103103-BR-B09	TONER CART, BROTHER TN-3320, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,941.95	0.00
204	44103103-BR-B11	TONER CART, BROTHER TN-3350, Black, for HL5450DN (CU Printer)	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	4,288.54	0.00
205	44103103-HP-B12	TONER CART, HP CB435A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,857.92	0.00
206	44103103-HP-B14	TONER CART, HP CB540A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,312.40	0.00
207	44103103-HP-B18	TONER CART, HP CE255A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	6,791.20	0.00
208	44103103-HP-B21	TONER CART, HP CE278A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,179.28	0.00
209	44103103-HP-B22	TONER CART, HP CE285A (HP85A), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,953.60	0.00
210	44103103-HP-B23	TONER CART, HP CE310A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,386.80	0.00
211	44103103-HP-C23	TONER CART, HP CE311A, Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,490.80	0.00
212	44103103-HP-Y23	TONER CART, HP CE312A, Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,490.80	0.00
213	44103103-HP-M23	TONER CART, HP CE313A, Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,490.80	0.00
214	44103103-HP-B24	TONER CART, HP CE320A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,854.80	0.00
215	44103103-HP-C24	TONER CART, HP CE321A, Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,010.80	0.00
216	44103103-HP-Y24	TONER CART, HP CE322A, Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,010.80	0.00
217	44103103-HP-M24	TONER CART, HP CE323A, Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,010.80	0.00
218	44103103-HP-B25	TONER CART, HP CE390A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	7,690.80	0.00
219	44103103-HP-B26	TONER CART, HP CE400A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	6,754.80	0.00
220	44103103-HP-C26	TONER CART, HP CE401A, Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	9,978.80	0.00
221	44103103-HP-Y26	TONER CART, HP CE402A, Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	9,978.80	0.00
222	44103103-HP-M26	TONER CART, HP CE403A, Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	9,978.80	0.00
223	44103103-HP-B27	TONER CART, HP CE410A, (HP305), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,868.80	0.00
224	44103103-HP-C27	TONER CART, HP CE411A, (HP305), Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	5,512.00	0.00

225	44103103-HP-Y27	TONER CART, HP CE412A, (HP305), Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	5,512.00	0.00
226	44103103-HP-M27	TONER CART, HP CE413A, (HP305), Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	5,512.00	0.00
227	44103103-HP-B28	TONER CART, HP CE505A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	4,079.92	0.00
228	44103103-HX-B28	TONER CART, HP CE505X, Black, high cap	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	7,213.44	0.00
229	44103103-HP-B52	TONER CART, HP CF217A (HP17A) Black LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,932.80	0.00
230	44103103-HP-B53	TONER CART, HP CF226A (HP26A) Black LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
231	44103103-HX-B50	TONER CART, HP CF226XC (HP26XC) Black LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
232	44103103-HP-B55	TONER CART, HP CF280A, LaserJet Pro M401/M425 2.7K Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
233	44103103-HP-B51	TONER CART, HP CF280XC	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	6,962.80	0.00
234	44103103-HP-B56	TONER CART, HP CF281A (HP81A) Black LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	8,640.85	0.00
235	44103103-HP-B57	TONER CART, HP CF283A (HP83A) LaserJet Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,241.70	0.00
236	44103103-HX-B51	TONER CART, HP CF283XC (HP83X) Blk Contract LJ	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,946.80	0.00
237	44103103-HP-B58	TONER CART, HP CF287A (HP87) black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	10,051.60	0.00
238	44103103-HP-B59	TONER CART, HP CF310AC (HP826) black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
239	44103103-HP-C59	TONER CART, HP CF311AC (HP826) cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
240	44103103-HP-Y59	TONER CART, HP CF312AC (HP826) yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
241	44103103-HP-M59	TONER CART, HP CF313AC (HP826) magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
242	44103103-HX-B52	TONER CART, HP CF325XC (HP25X) Black LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	13,156.00	0.00
243	44103103-HP-B60	TONER CART, HP CF350A Black LJ	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,901.60	0.00
244	44103103-HP-C60	TONER CART, HP CF351A Cyan LJ	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,943.20	0.00
245	44103103-HP-Y60	TONER CART, HP CF352A Yellow LJ	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,943.20	0.00
246	44103103-HP-M60	TONER CART, HP CF353A Magenta LJ	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	2,943.20	0.00
247	44103103-HP-B61	TONER CART, HP CF360A (HP508A) Black LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	7,389.20	0.00
248	44103103-HX-B53	TONER CART, HP CF360XC (HP508X) Black Contract LJ	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
249	44103103-HP-C61	TONER CART, HP CF361A (HP508A) Cyan LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	9,474.40	0.00
250	44103103-HX-C53	TONER CART, HP CF361XC (HP508X) Cyan Contract LJ	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
251	44103103-HP-Y61	TONER CART, HP CF362A (HP508A) Yellow LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	9,474.40	0.00
252	44103103-HX-Y53	TONER CART, HP CF362XC (HP508X) Yellow Contract LJ	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
253	44103103-HP-M61	TONER CART, HP CF363A (HP508A) Magenta LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	9,474.40	0.00
254	44103103-HX-M53	TONER CART, HP CF363XC (HP508X) Magenta Contract LJ	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
255	44103103-HP-B62	TONER CART, HP CF400A (HP201A) Black LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
256	44103103-HP-C62	TONER CART, HP CF401A (HP201A) Cyan LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
257	44103103-HP-Y62	TONER CART, HP CF402A (HP201A) Yellow LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
258	44103103-HP-M62	TONER CART, HP CF403A (HP201A) Magenta LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	-	0.00
259	44103103-HP-B63	TONER CART, HP CF410A (HP410A) black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	4,440.80	0.00
260	44103103-HX-B54	TONER CART, HP CF410XC (HP410XC) black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	7,441.20	0.00
261	44103103-HP-C63	TONER CART, HP CF411A (HP410A) cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	5,049.20	0.00
262	44103103-HX-C54	TONER CART, HP CF411XC (HP410XC) cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	7,472.40	0.00
263	44103103-HP-Y63	TONER CART, HP CF412A (HP410A) yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	5,049.20	0.00
264	44103103-HX-Y54	TONER CART, HP CF412XC (HP410XC) yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	7,472.40	0.00
265	44103103-HP-M63	TONER CART, HP CF413A (HP410A) magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	5,049.20	0.00
266	44103103-HX-M54	TONER CART, HP CF413XC (HP410XC) magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	7,472.40	0.00
267	44103103-HP-B34	TONER CART, HP Q2612A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	3,164.72	0.00
268	44103103-HP-B39	TONER CART, HP Q5942A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	7,482.80	0.00

269	44103103-HP-B48	TONER CART, HP Q7553A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	3,972.80	0.00
270	44103103-LX-B03	TONER CART, LEXMARK E360H11P, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	8,874.32	0.00
271	44103103-LX-B05	TONER CART, LEXMARK T650A11P, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	9,630.40	0.00
272	44103103-SA-B06	TONER CART, SAMSUNG MLT-D101S, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	2,641.60	0.00
273	44103103-SA-B07	TONER CART, SAMSUNG MLT-D103S, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	2,912.00	0.00
274	44103103-SA-B08	TONER CART, SAMSUNG MLT-D104S, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	2,444.00	0.00
275	44103103-SA-B09	TONER CART, SAMSUNG MLT-D105L, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	2,787.20	0.00
276	44103103-SA-B14	TONER CART, SAMSUNG MLT-D108S, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	2,745.60	0.00
277	44103103-SA-B21	TONER CART, SAMSUNG MLT-D203E, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	7,124.00	0.00
278	44103103-SA-B18	TONER CART, SAMSUNG MLT-D203L, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	4,617.60	0.00
279	44103103-SA-B20	TONER CART, SAMSUNG MLT-D203U, black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	9,464.00	0.00
280	44103103-SA-B12	TONER CART, SAMSUNG MLT-D205E, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	9,204.00	0.00
281	44103103-SA-B05	TONER CART, SAMSUNG MLT-D205L, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	5,064.80	0.00
282	44103103-SA-B10	TONER CART, SAMSUNG SCX-D6555A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	4,357.60	0.00
283	44103103-BR-B15	TONER CARTRIDGE, BROTHER TN-3478, Blackf, for printer HL-6400DW	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	6,069.44	0.00
284	44103103-CA-B00	TONER CARTRIDGE, CANON 324 II, for printer LBP6780x	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	13,399.36	0.00

Audio and Visual Equipment and Supplies

285	45121517-DO-C01	DOCUMENT CAMERA, 3.2M pixels	unit	0	0	1	1	28,860.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	1.00	28,860.00	28,860.00
286	45111609-MM-P01	MULTIMEDIA PROJECTOR, 4000 min ANSI Lumens	unit	1	3	0	4	74,464.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	4.00	18,616.00	74,464.00

Flag or Accessories

287	55121905-PH-F01	PHILIPPINE NATIONAL FLAG, 100% polyester	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	319.28	0.00
-----	-----------------	--	-------	---	---	---	---	------	---	---	---	---	------	---	---	---	---	------	---	---	---	------	------	--------	------

Printed Publications

288	55101524-RA-H01	HANDBOOK (RA 9184), 7th Edition	book	0	0	5	5	231.40	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	5.00	46.28	231.40
-----	-----------------	---------------------------------	------	---	---	---	---	--------	---	---	---	---	------	---	---	---	---	------	---	---	---	------	------	-------	--------

Fire Fighting Equipment

289	46191601-FE-M01	FIRE EXTINGUISHER, DRY CHEMICAL, 4.5kgs	unit	20	20	0	40	45,760.00	0	0	0	0	0.00	20	0	0	20	22,880.00	0	0	0	0.00	60.00	1,144.00	68,640.00
290	46191601-FE-H01	FIRE EXTINGUISHER, PURE HCFC 123, 4.5kgs	unit	0	20	0	20	99,840.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	20.00	4,992.00	99,840.00

Consumer Electronics

291	52161535-DV-R01	DIGITAL VOICE RECORDER, memory: 4GB (expandable)	unit	0	2	2	4	27,312.56	0	0	0	0	0.00	0	2	0	2	13,656.28	0	0	0	0.00	6.00	6,828.14	40,968.84
-----	-----------------	--	------	---	---	---	---	-----------	---	---	---	---	------	---	---	---	---	-----------	---	---	---	------	------	----------	-----------

Furniture and Furnishings

292	56101504-CM-B01	CHAIR, monobloc, beige, with backrest, w/o armrest	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	262.60	0.00
293	56101504-CM-W01	CHAIR, monobloc, white, with backrest, w/o armrest	piece	0	0	30	30	7,878.00	0	0	0	0	0.00	30	0	0	30	7,878.00	0	0	0	0.00	60.00	262.60	15,756.00
294	56101519-TM-S01	TABLE, MONOBLOC, WHITE, 889 x 889mm (35" x 35")min	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	1,326.00	0.00
295	56101519-TM-S02	TABLE, MONOBLOC, BEIGE, 889 x 889mm (35" x 35")min	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	1,326.00	0.00

Arts and Crafts Equipment and Accessories and Supplies

296	60121413-CB-P01	CLEARBOOK, 20 transparent pockets, for A4 size	piece	0	50	0	50	1,989.00	0	0	0	0	0.00	30	0	0	30	1,193.40	0	0	0	0.00	80.00	39.78	3,182.40	
297	60121413-CB-P02	CLEARBOOK, 20 transparent pockets, for LEGAL size	piece	0	50	0	50	2,119.00	0	0	0	0	0.00	30	0	0	30	1,271.40	0	0	0	0.00	80.00	42.38	3,390.40	
298	60121534-ER-P01	ERASER, PLASTIC/RUBBER, for pencil draft/writing	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	4.42	0.00	
299	60121524-SP-G01	SIGN PEN, BLACK, liquid/gel ink, 0.5mm needle tip	piece	98	242	4995	5335	184,650.75	48	4340	36	4424	153,119.95	3098	190	49	3337	115,497.57	58	90	4	152	5,260.90	13,248.00	34.61	458,529.18
300	60121524-SP-G02	SIGN PEN, BLUE, liquid/gel ink, 0.5mm needle tip	piece	0	100	152	252	8,722.02	10	0	20	30	1,038.34	138	51	20	209	7,233.74	0	0	0	0.00	491.00	34.61	16,994.10	
301	60121524-SP-G03	SIGN PEN, RED, liquid/gel ink, 0.5mm needle tip	piece	0	50	20	70	2,422.78	0	0	20	20	692.22	50	0	20	70	2,422.78	0	0	0	0.00	160.00	34.61	5,537.79	
302	60121124-WR-P01	WRAPPING PAPER, kraft, 65gsm (-5%)	pack	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0.00	0.00	129.67	0.00	

SOFTWARE

PASSENGER AIR TRANSPORTATION

Motor Vehicles

A. For the Exercise of the Executive Functions

B. For the Transport of Personnel, Equipment, Supplies, Product and Materials

C. For the Transport of Sick and/or Injured Persons

D. For Patrol Operations

F. For Disaster Response and Rescue/Relief Operations

H. For Fire Fighting Operations

PART II. OTHER ITEMS NOT AVAILABLE AT PS BUT REGULARLY PURCHASED FROM OTHER SOURCES (Note: Please indicate price of items)

Common Electrical Supplies

1	40101701-AC-W01	Air Conditioning Unit, Window Inverter Type HF/RSCC		0	4	0	4	120,000.00	0	0	7	7	210,000.00	0	0	0	0	0.00	0	0	0	0	0.00	11.00	30,000.00	330,000.00
2		Air Conditioning Unit 2 HP RSCC		0	2	0	2	60,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	30,000.00	60,000.00
3	40101701-AC-S01	Air Conditioning Unit, Split Type		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00		0.00
4		FUSE, 60 AMP	pcs	0	0	2	2	180.00	0	0	0	0	0.00	0	0	2	2	180.00	0	0	0	0	0.00	4.00	90.00	360.00
5		EXTENSION WIRE,10M LENGTH, 2 PIN	pcs	0	0	0	0	0.00	0	0	2	2	500.00	0	0	0	0	0.00	0	2	0	2	500.00	4.00	250.00	1,000.00
6		EXTENSION WIRE 3 SOCKETS 3-5M	pcs	0	2	0	2	800.00		0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	400.00	800.00
7		LINEAR TUBE 18w	TUBE	10	0	0	10	2,500.00	10	0	0	10	2,500.00	10	0	0	10	2,500.00	10	0	0	10	2,500.00	40.00	250.00	10,000.00
8		LED BULB WHITE 13 W	pcs	2	2	2	6	1,500.00	2	2	2	6	1,500.00	2	2	70	74	18,500.00	2	2	2	6	1,500.00	92.00	250.00	23,000.00
9		ELECTRIC WIRE NO. 14	meter	0	50	0	50	1,400.00	0	0	0	0	0.00	50	0	0	50	1,400.00	0	0	0	0	0.00	100.00	28.00	2,800.00
10		ELECTRIC WIRE NO. 16	meter	0	100	0	100	2,400.00	0	0	0	0	0.00	100	0	0	100	2,400.00	0	0	0	0	0.00	200.00	24.00	4,800.00
11																										
12																										
13																										
14																										
15																										
16																										

Common Office Equipment

1	44111905-WB-N01	White Board	pcs.	0	3		3	3,000.00				0	0.00			0	0.00	3		3	3,000.00	6.00	1,000.00	6,000.00	
2	44111911-WB-D01	White Board, Digital	pcs.	0	0		0	0.00				0	0.00			0	0.00			0	0.00	0.00			0.00
3		WHITE BOARD 4"X4"	pcs.			2	2	12,000.00	1			1	6,000.00			0	0.00			0	0.00	3.00	6,000.00	18,000.00	
4		CORK BOARD 4"X4"	pcs.	2			2	2,000.00	1			1	1,000.00			0	0.00			0	0.00	3.00	1,000.00	3,000.00	
5		WHITE BOARD 3"X5"	pcs.				0	0.00		12		12	25,440.00	4		4	8,480.00			0	0.00	16.00	2,120.00	33,920.00	
6		WHITE BOARD 4"X8"	pcs.				0	0.00		3		3	7,800.00	1		1	2,600.00			0	0.00	4.00	2,600.00	10,400.00	
7	PSD	CORKBOARD	pcs.	5			5	2,975.00				0	0.00			0	0.00			0	0.00	5.00	595.00	2,975.00	
8		DOUBLE SIDED TAPE "	roll		30		30	2,700.00				0	0.00		30	30	2,700.00			0	0.00	60.00	90.00	5,400.00	
9		EXPANDED FOLDER, LONG; GREEN COLOR ; 100 PCS. /BOX	BOX		10		10	6,800.00		5		5	3,400.00		5	5	3,400.00	5		5	3,400.00	25.00	680.00	17,000.00	
10	PPD	LAMINATING MACHINE	UNIT		1	1	2	7,600.00				0	0.00	1		1	3,800.00			0	0.00	3.00	3,800.00	11,400.00	
11	SWADT-ISABELA	ROSTRUM, WOODEN WITH DRAWER	UNIT		1	1		8,500.00				0	0.00			0	0.00			0	0.00	1.00	8,500.00	8,500.00	
12	SWADT-ISABELA	WATER KTANK	UNIT			1	1	14,800.00				0	0.00			0	0.00			0	0.00	1.00	14,800.00	14,800.00	
13	SWADT-ISABELA	REFREGIRATOR 6cu FT.	UNIT				0	0.00		1	1	11,000.00				0	0.00			0	0.00	1.00	11,000.00	11,000.00	
14	4Ps	REFREGIRATOR 7cu FT.	UNIT				0	0.00				0	0.00	1		1	12,000.00			0	0.00	1.00	12,000.00	12,000.00	
15	SWADT-ISABELA	MULTI-MEDIA RECHARGEABLE TROLLY SPEAKER WITH EIRELESS	UNIT			1	1	9,500.00				0	0.00			0	0.00			0	0.00	1.00	9,500.00	9,500.00	

16		WATER PUMP 2HP	UNIT				0	0.00				0	0.00	1			1	15,000.00			0	0.00	1.00	15,000.00	15,000.00
17	SWADT-ISABELA	BURNER GAS STOVE WITH REGULAR AND 1kg TANK, 2 BURNER	UNIT		1	1	6,000.00					0	0.00				0	0.00			0	0.00	1.00	6,000.00	6,000.00
18	SWADT-ISABELA	CASH COUNTING MACHINE	UNIT		1	1	11,000.00					0	0.00				0	0.00			0	0.00	1.00	11,000.00	11,000.00
19	SWADT-ISABELA	RECTANGULAR TENT, HEAVY DUTY	UNIT			0	0.00			2	2	9,000.00					0	0.00			0	0.00	2.00	4,500.00	9,000.00
20	RECORDS	AIRCONDION 2 HP	UNIT			0	0.00		1	1	20,000.00						0	0.00			0	0.00	1.00	20,000.00	20,000.00
21	ALL CENTER	WATER DISPENSER	UNIT		10	10	80,000.00					0	0.00	2	6	8	64,000.00				0	0.00	18.00	8,000.00	144,000.00
22	4Ps	OTHER MCHINERIES			3	3	30,000.00					0	0.00	2		2	20,000.00				0	0.00	5.00	10,000.00	50,000.00
23	4Ps	XEROX MACHINE	UNIT		2	2	50,000.00			2	2	50,000.00					0	0.00			0	0.00	4.00	25,000.00	100,000.00
24	PPD	STAND FAN, RECHARGEABLE	UNIT		4	4	14,000.00					0	0.00				0	0.00			0	0.00	4.00	3,500.00	14,000.00
25	PPD	BINDING MACHINE	UNIT		1	1	30,000.00					0	0.00				0	0.00			0	0.00	1.00	30,000.00	30,000.00
26	SWADT-ISABELA/HFE	ELECTRIC FAN ,STAND FAN; GQ	UNIT			0	0.00			2	2	5,360.00	2			2	5,360.00				0	0.00	4.00	2,680.00	10,720.00
27		Sewing Machine - High Speed(Sewing Machine - High Speed)	UNIT			0	0.00					0	0.00	2		2	26,000.00				0	0.00	2.00	13,000.00	26,000.00
28		BOOSTER PUMP 1HP(BOOSTER PUMP 1HP)	UNIT			0	0.00					0	0.00	2		2	19,600.00				0	0.00	2.00	9,800.00	19,600.00
29		WATER DISPENSER HOT & COLD(WATER DISPENSER HOT & COLD)	UNIT			0	0.00		6	6	45,000.00	6			6	45,000.00					0	0.00	12.00	7,500.00	90,000.00
30	AVRC	ASSISTIVE DEVICE FROR AVRC III	UNIT		1	1	500,000.00			1	1	500,000.00		1	1	500,000.00			1	1	500,000.00	4.00	500,000.00	500,000.00	2,000,000.00
31		CCTV	unit		1	1	150,000.00					0	0.00				0	0.00			0	0.00	1.00	150,000.00	150,000.00
32		MEGA PHONE LARGE	UNIT		3	3	6,000.00			3	3	6,000.00					0	0.00			0	0.00	6.00	2,000.00	12,000.00
33		MEGAPHONE STAND	UNIT		2	2	6,400.00					0	0.00				0	0.00			0	0.00	2.00	3,200.00	6,400.00

Common Office Supplies

1		PAPER BOND PAPER SHORT S-20	reams	40	100	0	140	32,200.00	40	0	0	40	9,200.00	90	50	0	140	32,200.00	40	0	0	40	9,200.00	360.00	230.00	82,800.00
2		BALLPEN	doz.	10	0	0	10	300.00	10	0	0	10	300.00	10	0	0	10	300.00	10	0	0	10	300.00	40.00	30.00	1,200.00
3		BALLPEN (BLACK AND BLUE) GQ	box	0	5	0	5	1,000.00	0	0	0	0	0.00	5	0	0	5	1,000.00	0	0	0	0	0.00	10.00	200.00	2,000.00
4	HFW	CALCULATOR (16 DIGITS)GOOD QUALITY	pcs	0	25	0	25	20,000.00	0	0	0	0	0.00	0	25	0	25	20,000.00	0	0	0	0	0.00	50.00	800.00	40,000.00
5		COLUMNAR NOTEBOOK 24 COLUMN	pcs	0	10	0	10	750.00	0	0	0	0	0.00	10	0	0	10	750.00	0	0	0	0	0.00	20.00	75.00	1,500.00
6	PDS	FOLDER ,SHORT; WHITE	pcs	30	0	0	30	180.00	20	0	0	20	120.00	20	0	0	20	120.00	10	0	0	10	60.00	80.00	6.00	480.00
7		ENVELOPE, MAILING,BROWN, 80gsm (-5%)	box	1	0	0	1	400.00	1	0	0	1	400.00	1	0	0	1	400.00	1	0	0	1	400.00	4.00	400.00	1,600.00
8		FASTENER, PLASTIC COATED, 70mm between prongs	box	55	82	24	161	12,075.00	5	753	36	794	59,550.00	510	78	24	612	45,900.00	5	5	0	10	750.00	1,577.00	75.00	118,275.00
9		PASTE, 200ml	JAR	2	36	0	38	2,660.00	2	9	0	11	770.00	45	0	0	45	3,150.00	0	0	0	0	0.00	94.00	70.00	6,580.00
10		PENCIL SHARPENER,-MOUNTED TYPE, WITH METAL CLUMP	pcs.	0	20	0	20	5,000.00	0	0	0	0	0.00	0	38	0	38	9,500.00	2	0	0	2	500.00	60.00	250.00	15,000.00
11		PHOTO ALBUM	pcs.	0	25	0	25	15,000.00	0	0	0	0	0.00	15	0	0	15	9,000.00	0	0	0	0	0.00	40.00	600.00	24,000.00
12		PLASTIC COVER, THICK	ROLL	0	5	0	5	6,000.00	0	0	0	0	0.00	0	5	0	5	6,000.00	0	0	0	0	0.00	10.00	1,200.00	12,000.00
13		PUSH PIN	BOX	26	40	200	266	10,640.00	6	104		110	4,400.00	54	0	0	54	2,160.00	6	10	0	16	640.00	446.00	40.00	17,840.00
14		RER FROMS	PAD	5	0	0	5	250.00	5	0	0	5	250.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	50.00	500.00
15	CRCF/KC	BOND PAPER A3	REAMS	0	24	0	24	14,400.00	0	4	0	4	2,400.00	0	0	0	0	0.00	0	4	0	4	2,400.00	32.00	600.00	19,200.00
16	CRCF	BALLPOINT PEN GQ	BOX	0	5	50	55	10,725.00	0	0	0	0	0.00	0	5	0	5	975.00	0	0	0	0	0.00	60.00	195.00	11,700.00
17	KC-NCCDP	FOLDER, EXPANDING , LONG 100/BOX COLOR YELLOW	BOX	5	0	200	205	184,500.00	5	0	0	5	4,500.00	200	5	0	205	184,500.00	5	0	0	5	4,500.00	420.00	900.00	378,000.00
18	KC-NCCDP	ENVELOP, EXPANDING , LONG 500/BOX COLOR YELLOW	BOX	0	0	200	200	200,000.00	0	0	0	0	0.00	200	0	0	200	200,000.00	0	0	0	0	0.00	400.00	1,000.00	400,000.00
19	4Ps	FOLDER, LONG , EXPANDED COLOR BLUE	PCS.	0	0	766	766	16,852.00	0	500	0	500	11,000.00	422	0	0	422	9,284.00	0	0	0	0	0.00	1,688.00	22.00	37,136.00
20	ALL CENTER	FOLDER, LONG , EXPANDED COLOR GREEN ,GQ, 100/BOX	BOX	0	10	10	20	36,000.00	10	15	0	25	45,000.00	13	20	10	43	77,400.00	10	0	0	10	18,000.00	98.00	1,800.00	176,400.00
21	4Ps	FOLDER, LONG , EXPANDED COLOR PINK	PCS.	0	0	300	300	6,600.00	0	0	0	0	0.00	100	0	0	100	2,200.00	0	0	0	0	0.00	400.00	22.00	8,800.00

22	4Ps/SLP	FOLDER, LONG , COLOR WHITE	PCS.	5000	0	500	5500	49,500.00	0	500	0	500	4,500.00	500	0	0	500	4,500.00	0	0	0	0	0.00	6,500.00	9.00	58,500.00	
23	4Ps	FOLDER, SHORT , COLOR WHITE	PCS.	0	0	150	150	900.00	0	150	0	150	900.00	100	0	0	100	600.00	0	0	0	0	0.00	400.00	6.00	2,400.00	
24	SLP	FOLDER, SHORT , COLOR WHITE A4	PCK.	50	0		50	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	1,000.00	50,000.00	
25	HRMDD	RUBBER STAMP	PC.	10			10	3,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	350.00	3,500.00	
26							0	0.00				0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00		0.00	
Common Janitorial Supplies																											
1		TRASHBAG, PLASTIC, 11"X11"X24" , BLACK COLOR	pcs			600	600	1,080.00			600	600	1,080.00			600	600	1,080.00			600	600	1,080.00	2,400.00	1.80	4,320.00	
2		TRASHBAG, PLASTIC, XXL, 37"X40" , BLACK COLOR	pcs	10000	200	10	10210	84,232.50	10000	210		10210	84,232.50	10000	210		10210	84,232.50	10000	210		10210	84,232.50	40,840.00	8.25	336,930.00	
3		TRASHBAG, PLASTIC, LARGE , BLACK COLOR	pcs		300		300	1,800.00		300		300	1,800.00		300		300	1,800.00		300		300	1,800.00	1,200.00	6.00	7,200.00	
4		TOILET PUMP RIBBERIZED	pcs			7	7	350.00				0	0.00			0	0.00	7			7	350.00	14.00		50.00	700.00	
5		TOILET PAIL, PLASTIC 27 LITERS WITH COMFORT GRIP HANDLE	pcs	100	28	50	178	55,536.00	100			100	31,200.00	104	50	24	178	55,536.00	100			100	31,200.00	556.00	312.00	173,472.00	
6		TOILET PAIL, PLASTIC 27 LITERS WITH COMFORT GRIP HANDLE RED COLOR	pcs		18		18	2,700.00				0	0.00	18			18	2,700.00				0	0.00	36.00	150.00	5,400.00	
7	SWADT-PAG.	CLEANER TOILET BOWL	TUBE	3			3	300.00	3			3	300.00	3			3	300.00	3			3	300.00	12.00	100.00	1,200.00	
8	SWADT-PAG.	DETERGENT BAR	KL.	2			2	60.00	2			2	60.00	2			2	60.00	2			2	60.00	8.00	30.00	240.00	
9		RUBBER DOORMAT	pcs		10	2	12	1,125.00	5		2	7	656.25	10		2	12	1,125.00	7			7	656.25	38.00	93.75	3,562.50	
10	ALL CENTER	BATH SOAP, BIG	pcs		2000		2000	100,000.00		2000		2000	100,000.00		2000		2000	100,000.00	2000			2000	100,000.00	8,000.00	50.00	400,000.00	
11		AIR PFESHENER 300 ml. ORANGE/LEMON SCENTED	bot				0	0.00	7			7	1,050.00		7		7	1,050.00				0	0.00	14.00	150.00	2,100.00	
12		ALBATROS	pcs				0	0.00	30			30	2,100.00		30		30	2,100.00				0	0.00	60.00	70.00	4,200.00	
13		BRASH PLASTIC	pcs				0	0.00	5			5	625.00				0	0.00				0	0.00	5.00	125.00	625.00	
14		DEODORIZED TOILET	pcs		13		13	1,690.00		13		13	1,690.00		13		13	1,690.00	13			13	1,690.00	52.00	130.00	6,760.00	
15		DIPPER TABO BIG SIZE	pcs	100	58		158	4,740.00	100	3		103	3,090.00	105	53		158	4,740.00	103			103	3,090.00	522.00	30.00	15,660.00	
16		Empty botfel w/ built-in sprayer big size	pcs				0	0.00				0	0.00	8			8	480.00				0	0.00	8.00	60.00	480.00	
17		Fabric conditioner 500 ml	pcs				0	0.00	7			7	1,750.00		3		3	750.00				0	0.00	10.00	250.00	2,500.00	
18		Rubberized Hand gloves large size	pcs		8		8	1,120.00		8		8	1,120.00		8		8	1,120.00	8			8	1,120.00	32.00	140.00	4,480.00	
19		PLASTIC CONTAINER	pcs	200			200	30,000.00	200			200	30,000.00	200			200	30,000.00	200			200	30,000.00	800.00	150.00	120,000.00	
20		LIQUID BLEACH, BIG SIZE	gallon	200	5		205	92,250.00	205			205	92,250.00	55	200		255	114,750.00	205			205	92,250.00	870.00	450.00	391,500.00	
21		DISHWASHING, LIQUID	btl.		16		16	1,440.00	5	6		11	990.00	5	6		11	990.00	5	6		11	990.00	49.00	90.00	4,410.00	
22		DISHWASHING, LIQUID	pack		25		25	3,750.00		20		20	3,000.00		20		20	3,000.00		20		20	3,000.00	85.00	150.00	12,750.00	
23		MORICAC ACID, 4 LITERS	gallon		25		25	6,000.00	5	20		25	6,000.00	5	20		25	6,000.00	5	20		25	6,000.00	100.00	240.00	24,000.00	
24		Plastic toilet bowl/brush with handle	pcs		38		38	2,802.50		4		4	295.00	30		4	34	2,507.50				0	0.00	76.00	73.75	5,605.00	
25		Push Cart waste container plastic big size	unit		3		3	6,000.00				0	0.00				0	0.00				0	0.00	3.00	2,000.00	6,000.00	
26	RSCC	BATHROOM SOAP 60g AS PACKED	case		12		12	35,340.00				0	0.00	12			12	35,340.00				0	0.00	24.00	2,945.00	70,680.00	
27	RSCC	BLEACHING LIQUID 11	Bot.		30		30	4,500.00				0	0.00	30			30	4,500.00				0	0.00	60.00	150.00	9,000.00	
28	RSCC	DETERGENT BAR (LAUNDRY SOAP	case		12		12	20,400.00				0	0.00	12			12	20,400.00				0	0.00	24.00	1,700.00	40,800.00	
29	RSCC	DISHWASHING SOAP, LIQUID,500ml	bot.		300		300	60,000.00				0	0.00	300			300	60,000.00				0	0.00	600.00	200.00	120,000.00	
30	RSCC	Fabric conditioner (big) 500ml	bots		150		150	37,500.00				0	0.00	150			150	37,500.00				0	0.00	300.00	250.00	75,000.00	
31	RSCC	Laundry boots	pcs		6		6	1,500.00				0	0.00	6			6	1,500.00				0	0.00	12.00	250.00	3,000.00	
32	RSCC	Laundry gloves	pcs.		50		50	4,500.00				0	0.00	50			50	4,500.00				0	0.00	100.00	90.00	9,000.00	
33	RSCC	Laundry basket (big)	pcs.		36		36	10,800.00				0	0.00	36			36	10,800.00				0	0.00	72.00	300.00	21,600.00	
34	RSCC	Scouring pads (nylon) made of synthetic	packs		24		24	3,212.40				0	0.00	24			24	3,212.40				0	0.00	48.00	133.85	6,424.80	
35		FLOOR FOUR RUG ANF FLOOR MAT	pcs		50		50	12,500.00				0	0.00	50			50	12,500.00				0	0.00	100.00	250.00	25,000.00	
							0	0.00				0	0.00				0	0.00				0	0.00	0.00		0.00	
							0	0.00				0	0.00				0	0.00				0	0.00	0.00		0.00	

							0	0.00				0	0.00				0	0.00	0.00			0.00
							0	0.00				0	0.00				0	0.00	0.00			0.00
26							0	0.00				0	0.00				0	0.00	0.00			0.00

Office Equipment and Accessories

1	ELECTRONIC TIME RECORD/BUNDY CLOCK	UNIT		1		1	4,826.80				0	0.00				0	0.00	1.00		4,826.80	4,826.80	
2	WALL CLOCK	pcs			20	20	3,400.00	2			2	340.00			2		2	340.00	24.00		170.00	4,080.00
3						0	0.00				0	0.00				0	0.00	0.00				0.00

Office Supplies

1	SWADT	STORAGE BOX	pcs		12		12	11,400.00				0	0.00	12		12	11,400.00			0	0.00	24.00	950.00	22,800.00		
2	SWADT	AIR FRESHENER	CAN		6	6	600.00			6	6	600.00		12	12	1,200.00			0	0.00	24.00	100.00	2,400.00			
3	SWADT	ALCOHOL	BLI		6	6	540.00			6	6	540.00		6	6	540.00		6	6	540.00	24.00	90.00	2,160.00			
4	SWADT	BROOM	pc.		3	3	300.00			3	3	300.00		3	3	300.00		3	3	300.00	12.00	100.00	1,200.00			
5	SWADT	CALCULATOR	unif		3	3	1,920.00					0	0.00			0	0.00			0	0.00	3.00	640.00	1,920.00		
6	SWADT	CARBON FILM	box		3	3	1,341.00			3	3	1,341.00		3	3	1,341.00		3	3	1,341.00	12.00	447.00	5,364.00			
7	SWADT	CHAIR, MONOBLOCK	pc.			0	0.00			24	24	16,320.00				0	0.00			0	0.00	24.00	680.00	16,320.00		
8	SWADT	CORRECTION TAPE	pc.		24	24	1,248.00		BON	24	24	1,248.00		24	24	1,248.00		24	24	1,248.00	96.00	52.00	4,992.00			
9	SWADT	CUTTER KNIFE	pc.			0	0.00			4	4	280.00				0	0.00			0	0.00	4.00	70.00	280.00		
10	SWADT	DATING AND STAMPING MACHINE	pc.		5		5	2,600.00		5	1	6	3,120.00		5		5	2,600.00		6	6	3,120.00	22.00	520.00	11,440.00	
11	SWADT	DETERGENT BAR	pc.		6	6	216.00			6	6	216.00		12	12	432.00				0	0.00	24.00	36.00	864.00		
12	SWADT	DETERGENT POWDER, ALL PURPOSE	pouch		3	3	435.00			3	3	435.00		6	6	870.00				0	0.00	12.00	145.00	1,740.00		
13	SWADT	DISINFECTANT SPRAY	CAN		6	6	2,460.00			6	6	2,460.00		12	12	4,920.00				0	0.00	24.00	410.00	9,840.00		
14	SWADT	DUST PAN, NON REGID	pc.			0	0.00			2	2	360.00				0	0.00			2	2	360.00	4.00	180.00	720.00	
15	SWADT	ENVELOP, EXPANDING, KRAFTBOARD	BOX		1	1	1,700.00			1	1	1,700.00				0	0.00		2	2	3,400.00	4.00	1,700.00	6,800.00		
16	SWADT	ENVELOP MAILING	BOX		1	1	720.00			1	1	720.00		2	2	1,440.00				0	0.00	4.00	720.00	2,880.00		
17	SWADT	ERASER, FELT FOR BLACKBOARD	pc.		3	3	225.00					0	0.00		3	3	225.00				0	0.00	6.00	75.00	450.00	
18	SWADT	FASTENER METAL	BOX		3	3	630.00			3	3	630.00		6	6	1,260.00				0	0.00	12.00	210.00	2,520.00		
19	SWADT	FOLDER, FANCY, LEGAL	bndl.		1	1	750.00			1	1	750.00		2	2	1,500.00				0	0.00	4.00	750.00	3,000.00		
20	SWADT	FURNITURE CLEANER, EAROSOL	CAN		3	3	1,080.00			3	3	1,080.00		6	6	2,160.00				0	0.00	12.00	360.00	4,320.00		
21	SWADT	GLUE	jar		6	6	990.00			6	6	990.00		6	6	990.00		6	6	990.00	24.00	165.00	3,960.00			
22	SWADT	MARKING PEN	Pc.	12	6	18	1,170.00	12		6	18	1,170.00	12	6	18	1,170.00	12	6	18	1,170.00	72.00	65.00	4,680.00			
23	SWADT	NOTEBOOK, STENO	Pc.		12	12	264.00			12	12	264.00		12	12	264.00		12	12	264.00	48.00	22.00	1,056.00			
24	SWADT	PAPER CLIP	box		6	6	330.00			6	6	330.00		6	6	330.00		6	6	330.00	24.00	55.00	1,320.00			
25	SWADT	PAPER, MULTIPURPOSE, COPY SHORT	REAM	60	30	70	160	30,400.00	30	30	20	80	15,200.00	60	80	20	160	30,400.00	30	30	20	80	15,200.00	480.00	190.00	91,200.00
26	SWADT	PAPER, MULTIPURPOSE, COPY A4 S20	REAM	15		12	27	6,480.00	15		15	3,600.00	15		12	27	6,480.00	15	12		27	6,480.00	96.00	240.00	23,040.00	
27	SWADT	PAPER, MULTIPURPOSE, COPY LEGAL S20	REAM	50	65	12	127	38,100.00	50		12	62	18,600.00	115		12	127	38,100.00	50	12		62	18,600.00	378.00	300.00	113,400.00
28	SWADT	PENCIL, SHARPENER, 1 PC. IN PLASTIC CASE	EACH		6	6	2,355.60			6	6	2,355.60		6	6	2,355.60		6	6	2,355.60	24.00	392.60	9,422.40			
29	SWADT	PENCIL, LEAD WUTH ERASER 12 PCS./BOX	BOX		3	3	135.00			3	3	135.00		3	3	135.00		3	3	135.00	12.00	45.00	540.00			
30	SWADT	PHILIPPINE NATIONAL FLAG	PC.			0	0.00			2	2	1,390.00				0	0.00			0	0.00	2.00	695.00	1,390.00		
31	SWADT	PUNCHER	PC.		1	1	365.00					0	0.00			0	0.00			0	0.00	1.00	365.00	365.00		
32	SWADT	RAGS	BUNDLE		3	3	480.00			3	3	480.00		3	3	480.00		3	3	480.00	12.00	160.00	1,920.00			
33	SWADT	RECORDS BOOK 300 PCS.	BOOK		3	3	225.00			3	3	225.00		3	3	225.00		3	3	225.00	12.00	75.00	900.00			
34	SWADT	RULER PLASTIC	pc.		3	3	135.00					0	0.00		3	3	135.00				0	0.00	6.00	45.00	270.00	
35	SWADT	SCISSORS 65MM MI	PAIR			0	0.00			3	3	1,497.00				0	0.00			0	0.00	3.00	499.00	1,497.00		
36	SWADT	SCOURING PAD, MADE IN SYNTHETIC NYLON	PACK		3	3	647.46			3	3	647.46		3	3	647.46		3	3	647.46	12.00	215.82	2,589.84			

37	SWADT	SIGN PEN	EACH			12	12	900.00			12	12	900.00			12	12	900.00		12	12	900.00	48.00	75.00	3,600.00		
38	SWADT	STAMP PAD INK, PURPLE /VIOLET 50ml.	BTL.			3	3	225.00			3	3	225.00			3	3	225.00		3	3	225.00	12.00	75.00	900.00		
39	SWADT	STAPLE REMOVER	pc.				0	0.00			6	6	750.00				0	0.00			0	0.00	6.00	125.00	750.00		
40	SWADT	STAPLE WIRE HD 23/13	BOX			3	3	144.00			3	3	144.00				0	0.00			6	6	288.00	12.00	48.00	576.00	
41	SWADT	STAPLE WIRE, 26/6 500 WIRE/BOX	BOX			8	8	336.32			8	86	94	3,951.76			14	14	588.56		8	8	336.32	124.00	42.04	5,212.96	
42	SWADT	TAPE, MASKING 48mm 12"	ROLL	25		25		3,125.00			6	6	750.00			6	6	750.00			0	0.00	37.00	125.00	4,625.00		
43	SWADT	TAPE, TRANSPARENT, WIDTH: 24mm 4"	ROLL				0	0.00			6	6	570.00			6	6	570.00			0	0.00	12.00	95.00	1,140.00		
44	SWADT	TRASHBAG, BLACK 940mm X 1016mm,100PCS. PER ROLL/PACK	ROLL			3	3	720.00			3	3	720.00			3	3	720.00			3	3	720.00	12.00	240.00	2,880.00	
45	SWADT	WASTE BASKET	PCS.				0	0.00			3	3	5,250.00			3	3	5,250.00				0	0.00	6.00	1,750.00	10,500.00	
46	SWADT	TISSUE PAPER 2 PLY	PACK			6	6	9,000.00			6	6	9,000.00			12	12	18,000.00				0	0.00	24.00	1,500.00	36,000.00	
47	SWADT	TWINE PLASTIC	ROLL			3	3	735.00			6	6	1,470.00				0	0.00				0	0.00	9.00	245.00	2,205.00	
48	SWADT	WRAPPING PAPER	PACK			3	3	1,350.00				0	0.00			6	6	2,700.00				0	0.00	9.00	450.00	4,050.00	
49	SWADT	PAPER PPC SHORT 500s 8 1/2X11"	REAMS			6	6	1,440.00			6	6	1,440.00			6	6	1,440.00			6	6	1,440.00	24.00	240.00	5,760.00	
50	SWADT	BALLPEN 0.5MM BLUE/BLACK, 12's	PCS.	8		2	10	1,200.00	8		2	10	1,200.00	8		24	32	3,840.00	8		2	10	1,200.00	62.00	120.00	7,440.00	
51	SWADT	ENVELOP EXPANDING BROWN, LEGAL, 100s	BOX			2	1	3	5,250.00			3	3	5,250.00			2	2	3,500.00			2	2	3,500.00	10.00	1,750.00	17,500.00
52	SWADT	FOLDER EXPANDING LEGAL GREEN	BOX			1	1	1,750.00			1	1	1,750.00				0	0.00				0	0.00	2.00	1,750.00	3,500.00	
53	SWADT	ZONROX, 500mlbot	btl.				0	0.00				0	0.00			6	6	270.00				0	0.00	6.00	45.00	270.00	
54	SWADT	BATTERY AA" 4 PCS./PACK	PACK			4	4	920.00				0	0.00				0	0.00				0	0.00	4.00	230.00	920.00	
55	SWADT	STICKY NOTE	PAD				0	0.00				0	0.00			6	6	768.00				0	0.00	6.00	128.00	768.00	
56	SWADT	STAMP PAD	PCS.				0	0.00				0	0.00			6	6	564.00				0	0.00	6.00	94.00	564.00	
57	SWADT	STAPLER WITH REMOVER	PCS.			12	12	5,100.00			10	6	16	6,800.00			10	10	4,250.00			6	6	2,550.00	44.00	425.00	18,700.00
58	SWADT	OFFICE CURTAIN	PCS.			20	20	14,000.00				0	0.00				0	0.00				0	0.00	20.00	700.00	14,000.00	
59	SWADT	GOVERNMENT FOLDER	BOX				0	0.00			1	1	600.00				0	0.00				0	0.00	1.00	600.00	600.00	
60	SWADT	SELF INKING STAMP	PCS.			1	1	1,000.00				0	0.00				0	0.00			1	1	1,000.00	2.00	1,000.00	2,000.00	
61	SWADT	GLUE GUN	PC				0	0.00			3	3	300.00	1			1	100.00				0	0.00	4.00	100.00	400.00	
62	SWADT	MANILA PAPER	PC.			2000	2000	16,000.00	2000			2000	16,000.00	2000			2000	16,000.00				0	0.00	6,000.00	8.00	48,000.00	
63	SWADT	MANILA PAPER	PC.				0	0.00	1322			1322	1,983.00				0	0.00				0	0.00	1,322.00	1.50	1,983.00	
64	SWADT	METACARDS	PACK			100	100	5,000.00				0	0.00	100			100	5,000.00				0	0.00	200.00	50.00	10,000.00	
65	SWADT	STICKY NOTE 3"X3"	PAD			231	231	13,860.00				0	0.00	77			77	4,620.00				0	0.00	308.00	60.00	18,480.00	
66	SWADT	STAPLE WITH REMOVER	PCS.			231	231	13,860.00				0	0.00	77			77	4,620.00				0	0.00	308.00	60.00	18,480.00	
67	SWADT	STAMPING PAD BIG VIOLET	PCS.				0	0.00	399			399	79,800.00	133			133	26,600.00				0	0.00	532.00	200.00	106,400.00	
68	SWADT	WHITE BOARD ERASER	PCS.				0	0.00	6			6	72.00	2			2	24.00				0	0.00	8.00	12.00	96.00	
69	SWADT	BALLPEN ,BLACK	BOX	7	254	100	361	95,304.00	243	642	350	1235	326,040.00	220	217	70	507	133,848.00	310	235	545	143,880.00	2,648.00	264.00	699,072.00		
70	SWADT	HIGHLIGHTER PEN	BOX			10	10	900.00				0	0.00	10			10	900.00				0	0.00	20.00	90.00	1,800.00	
71	SWADT	EL BAGO SINGLE	PCS.			60	60	5,700.00				0	0.00	20			20	1,900.00				0	0.00	80.00	95.00	7,600.00	
72	SWADT	CALCULATOR SCIENTIFIC 12 DIGITS	UNIT			42	42	24,780.00				0	0.00	14			14	8,260.00				0	0.00	56.00	590.00	33,040.00	
73	SWADT	CARTOLINA	PCS.				0	0.00	1323			1323	3,969.00				0	0.00				0	0.00	1,323.00	3.00	3,969.00	
74	SWADT	ID JACKET WITH SLING	PCS.	420		420		6,300.00	44	594		638	9,570.00	510		108	618	9,270.00	172	172	344	5,160.00	2,020.00	15.00	30,300.00		
75	SWADT	ORDINARY PAPER CLAMP	PCS.				0	0.00	734			734	11,010.00				0	0.00				0	0.00	734.00	15.00	11,010.00	
76	SWADT	DOUBLE SIDED TAPE INCH					0	0.00	50			50	4,250.00	40			40	3,400.00				0	0.00	90.00	85.00	7,650.00	
77	SWADT	CANNON LAID, SHORT	BOX				0	0.00			3	3	405.00				0	0.00				0	0.00	3.00	135.00	405.00	
78	SWADT	CANNON LAID ,LEGAL	BOX				0	0.00			4	4	544.00				0	0.00				0	0.00	4.00	136.00	544.00	
							0	0.00				0	0.00				0	0.00				0	0.00	0.00		0.00	

Audio and visual presentation and composing equipment

1	52161505-TV-S01	SMART Television				0	0.00			0	0.00			0	0.00			3	3	150,000.00	3.00	50,000.00	150,000.00
2	52161520-MC-M01	Microphone				0	0.00			0	0.00			0	0.00			0	0	0.00	0.00		0.00
3	52161512-SP-K01	Speakers				0	0.00			0	0.00			0	0.00			0	0	0.00	0.00		0.00
4	32101514-AM-P01	Amplifier				0	0.00			0	0.00			0	0.00			0	0	0.00	0.00		0.00
5	52161517-EQ-E01	Equalizer				0	0.00			0	0.00			0	0.00			0	0	0.00	0.00		0.00
6		SOUND SYSTEM REGIONAL SEARCH FOR HUWARANG PANTAWID	UNIT			0	0.00		1	1	35,000.00			0	0.00			0	0	0.00	1.00	35,000.00	35,000.00
7		BLUETOOTH CLICKER WITH LASER	UNIT	1		1	1,800.00			0	0.00			0	0.00			0	0	0.00	1.00	1,800.00	1,800.00
8	RSCC	SOUND SYSTEM GOOD QUALITY	UNIT		1	1	70,000.00			0	0.00			0	0.00			0	0	0.00	1.00	70,000.00	70,000.00
9						0	0.00			0	0.00			0	0.00			0	0	0.00	0.00		0.00

Photographic or filming or video equipment

1	46171615-HD-C01	HD Camera				0	0.00			0	0.00			0	0.00			0	0	0.00	0.00		0.00	
2	45121504-DS-C01	DSLR Camera		1		1	100,000.00			1	1	100,000.00			0	0.00			0	0	0.00	2.00	100,000.00	200,000.00
3	45121516-VH-C01	HD Video Camera				0	0.00			0	0.00			0	0.00			0	0	0.00	0.00		0.00	
4						0	0.00			0	0.00			0	0.00			0	0	0.00	0.00		0.00	
5						0	0.00			0	0.00			0	0.00			0	0	0.00	0.00		0.00	
6						0	0.00			0	0.00			0	0.00			0	0	0.00	0.00		0.00	
7						0	0.00			0	0.00			0	0.00			0	0	0.00	0.00		0.00	

Cleaning Equipment and Supplies

1		Cleaning of Aircon at 5,000.00/quarter x 2 units	service			2	2	10,000.00			2	2	10,000.00			2	2	10,000.00			2	2	10,000.00	8.00	5,000.00	40,000.00
2		Replacement of Unserviceable Equipment (aircon) at 10,000/semestral	service			1	1	10,000.00			0	0.00			1	1	10,000.00			0	0.00	2.00	10,000.00	20,000.00		
3		Elevator Maintenance Services Fee at 12,600/quarter x 4	service			1	1	12,600.00			1	1	12,600.00			1	1	12,600.00			1	1	12,600.00	4.00	12,600.00	50,400.00
4		Washing of Vehicle(PCPD - Vehicle - L-300 , Mini Bus , Ambulance)	Unit	9		9	9,000.00	9		9	9,000.00	9		9	9,000.00	9		9	9,000.00	9		9	9,000.00	36.00	1,000.00	36,000.00
5						0	0.00			0	0.00			0	0.00			0	0	0.00	0.00		0.00	0.00		
6						0	0.00			0	0.00			0	0.00			0	0	0.00	0.00		0.00	0.00		
7						0	0.00			0	0.00			0	0.00			0	0	0.00	0.00		0.00	0.00		
8						0	0.00			0	0.00			0	0.00			0	0	0.00	0.00		0.00	0.00		

Paper Materials and Products

1	RSCC	CONSTRUCTION PAPER	PACK		15	15	900.00			0	0.00	15		15	900.00			0	0.00	30.00		60.00	1,800.00	
2		PHOTO PAPER, GLOSSY,A4	PACK	10	55	5	70	14,000.00	20	20	40	8,000.00	40	30	70	14,000.00	25		25	5,000.00	205.00	200.00	41,000.00	
3		SPECIAL PAPER FOR CERTIFICATES	box		5	20	25	17,500.00	9		1	10	7,000.00	19		19	13,300.00	1		1	700.00	55.00	700.00	38,500.00
4		SPECIAL PAPER FOR 120 x 297mm	pack	20			20	1,060.00	20		20	1,060.00	10		10	530.00	20		20	1,060.00	70.00	53.00	3,710.00	
5		STICKER PAPER A4 SIZE	pack	5			5	1,400.00	5		5	1,400.00	5		5	1,400.00	5		5	1,400.00	20.00	280.00	5,600.00	
6		TRACING PAPER (CRCF)	pcs		1000		1000	18,000.00			0	0.00	500		500	9,000.00			0	0.00	1,500.00	18.00	27,000.00	
7		BLUE PRINT	pcs		2000		2000	320,000.00			0	0.00	1000		1000	160,000.00			0	0.00	3,000.00	160.00	480,000.00	
8		PAPER BAG/100 PCS/PACK	pack	2000			2000	500,000.00	2000		2000	500,000.00	2000		2000	500,000.00	2000		2000	500,000.00	8,000.00	250.00	2,000,000.00	
9							0	0.00			0	0.00			0	0.00			0	0.00	0.00		0.00	
10							0	0.00			0	0.00			0	0.00			0	0.00	0.00		0.00	
11							0	0.00			0	0.00			0	0.00			0	0.00	0.00		0.00	
12							0	0.00			0	0.00			0	0.00			0	0.00	0.00		0.00	
13							0	0.00			0	0.00			0	0.00			0	0.00	0.00		0.00	
14							0	0.00			0	0.00			0	0.00			0	0.00	0.00		0.00	
15							0	0.00			0	0.00			0	0.00			0	0.00	0.00		0.00	

Lighting and fixtures and accessories

1	39112102-LB-B01	LED bulb					0	0.00				0	0.00				0	0.00			0	0.00	0.00		0.00	
		T8 LED TUBE DAYLIGHT 220 V AC. 16-18w	pcs		30	30	13,500.00				30	30	13,500.00				30	30	13,500.00		30	30	13,500.00	120.00	450.00	54,000.00
2	PSD	CHRISTMAS LIGHTS				0	0.00				0	0.00	25				25	3,750.00			0	0.00	25.00	150.00	3,750.00	
3		Emergency Light(Emergency Light Heavy Duty) LED	Piece	4		4	12,000.00	4			4	12,000.00	24				24	72,000.00	4		4	12,000.00	36.00	3,000.00	108,000.00	
4		FLASHLIGHT; RECHARGEABLE BULB	UNIT			0	0.00				0	0.00	20				20	10,000.00			0	0.00	20.00	500.00	10,000.00	
5		RECHARGEABLE LAMP/LIGHT	UNIT			0	0.00				0	0.00	20				20	20,000.00			0	0.00	20.00	1,000.00	20,000.00	
6						0	0.00				0	0.00					0	0.00			0	0.00	0.00		0.00	
7						0	0.00				0	0.00					0	0.00			0	0.00	0.00		0.00	
8						0	0.00				0	0.00					0	0.00			0	0.00	0.00		0.00	
9						0	0.00				0	0.00					0	0.00			0	0.00	0.00		0.00	
10						0	0.00				0	0.00					0	0.00			0	0.00	0.00		0.00	
11						0	0.00				0	0.00					0	0.00			0	0.00	0.00		0.00	
12						0	0.00				0	0.00					0	0.00			0	0.00	0.00		0.00	
13						0	0.00				0	0.00					0	0.00			0	0.00	0.00		0.00	

Electrical equipment and components and supplies

Computer Supplies

1		CARD READER HEAVY DUTY	pcs		10	10	4,500.00				0	0.00	10				10	4,500.00			0	0.00	20.00	450.00	9,000.00
2						0	0.00				0	0.00					0	0.00			0	0.00	0.00		0.00
3						0	0.00				0	0.00					0	0.00			0	0.00	0.00		0.00
4						0	0.00				0	0.00					0	0.00			0	0.00	0.00		0.00
5						0	0.00				0	0.00					0	0.00			0	0.00	0.00		0.00

Common ICT Equipment

1	43212105-LC-P01	PRINTER, LASER, Color		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
2	43212104-PI-M01	PRINTER, Inkjet, Monochrome		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
3	43212104-PI-C01	PRINTER, Inkjet, Color		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
4	43212105-PP-001	Portable Printer		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
5	43211509-AT-001	Android Tablet		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
6	43222610-HS-001	Hub/Switches		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
7	43222609-NR-001	Network Routers		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
8	43222640-WA-P01	Wireless Access Point		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
9	43211711-SF-001	Scanner, Flatbed		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
10	45111601-WP-P01	Wireless Pointing Device / Laser Pointer	unit	0	2	0	2	4,000.00	0	0	0	0	0.00	2	0	0	2	4,000.00	0	0	0	0	0.00	4.00	2,000.00	8,000.00
11	81112306-MF-P01	Multi Function PRINTER	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00	0.00	0.00
12	39121011-UP-S01	UNINTERRUPTIBLE POWER SUPPLY (UPS)	unit	0	7	4	11	55,000.00	2	5	2	9	45,000.00	5	2	2	9	45,000.00	2	1	1	4	20,000.00	33.00	5,000.00	165,000.00
13	43191501-MP-001	Mobile Phone	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	2		2	29,998.00	0	0	0	0	0.00	2.00	14,999.00	29,998.00
14	43211711-SC-D01	Scanner, Colored, Double sided, feeder type	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00		0.00
16	SFP/RECORDS	EXTERNAL HARD DRIVE, 1TB 2.5" HDD, USB 3.0-SFP	UNIT	0	2	12	14	70,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	14.00	5,000.00	70,000.00
17	SWADT-ISABELA	EXTERNAL HARD DRIVE, 1TB 2.5" HDD, REQUIREMENT:USB 3.0 WINDOWS	UNIT	0	0	0	0	0.00	0	0	1	1	4,699.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	4,699.00	4,699.00
18		AIR COOLER	UNIT	0	5	5	50,000.00	0	0	0	0	0.00	0	0	0	0	0	0.00	0	0	0	0	0.00	5.00	10,000.00	50,000.00
21	SWADT-ISABELA & RECORDS	FLASH DRIVE 16 GB CAPACITY	PC.	0	6	3	9	7,380.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	9.00	820.00	7,380.00
22	KC-NCDDP/JARDO	POWER BANK 20000 mah LIGHT WEIGHT	PC.	0	28	28	140,000.00	0	0	0	0	0.00	0	0	0	0	0	0.00	0	0	0	0	0.00	28.00	5,000.00	140,000.00
23	REORDS	COMPUTER PRINTER	UNIT	0	1	1	10,000.00	0	0	0	0	0.00	0	0	0	0	0	0.00	0	0	0	0	0.00	1.00	10,000.00	10,000.00
24	REORDS	DESKTOP COMPUTER	UNIT	0	1	1	30,000.00	0	0	0	0	0.00	0	0	0	0	0	0.00	0	0	0	0	0.00	1.00	30,000.00	30,000.00

25	4PS	PRINTER WITH SCANNER	UNIT	0			0	0.00	0	10	0	10	75,550.00	10	0	0	10	75,550.00	0	0	0	0	0.00	20.00	7,555.00	151,100.00
26	4PS	PRINTER IMPACT DOT MATRIX, 9 PINS, 86COL, MODEL LX	UNIT	0			0	0.00	0	9	0	9	54,558.00	3	0	0	3	18,186.00	0	0	0	0	0.00	12.00	6,062.00	72,744.00
27	4PS	POWER BANK 10mah	UNIT	0	5	5	3,000.00	0	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	600.00	3,000.00
28	4PS	OTG FLASHDRIVE 64gb FOR IOS AND ANDROID	UNIT	0			0	0.00	0	20	0	20	40,000.00	0	0	0	0	0.00	0	0	0	0	0.00	20.00	2,000.00	40,000.00
30	4PS/PCDP	PRINTER COLRED	UNIT	10		20	300,000.00	0	0	0	0	0	0.00	10	0	0	10	100,000.00	0	0	0	0	0.00	40.00	10,000.00	400,000.00
32	4PS/PPD	USB 32 GIG	UNIT	0	7	7	5,600.00	15	0	0	15	12,000.00	15	0	0	15	12,000.00	0	0	0	0	0.00	37.00	800.00	29,600.00	
33	PPD	EXTERNAL DRIVE 4TB	UNIT	0	8	8	56,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	8.00	7,000.00	56,000.00	
34	HRMDD	PRINTER	UNIT	0	1	0	1	20,500.00			0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	20,500.00	20,500.00
35	HRMDD	RISO DX 2430	UNIT	0	1	0	1	83,000.00			0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	83,000.00	83,000.00
37	SWADT-PAG	CELLPHONE	UNIT	0	0	0	0.00	1	0	0	1	14,999.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	14,999.00	14,999.00	
38		STANDARD KEYBOARD(GOOD QUALITY)	UNITS	0	0	0	0.00	5	5	0	10	3,500.00	0	4	0	4	1,400.00	0	0	0	0	0.00	14.00	350.00	4,900.00	
40	ADMIN	Computer printer Epson LX-300	UNIT	0	2	0	2	20,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2.00	10,000.00	20,000.00
43	ADMIN	scanner	UNIT	0	1	0	1	15,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	15,000.00	15,000.00
44	ADMIN	Dual Band Router	UNIT	0	0	0	0	0.00			1	1	5,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	5,000.00	5,000.00
45	HFW/PCDP	PRINTER 3 IN 1 PRINT SCAN , COPY	UNIT	0	0	3	3	30,000.00		5	4	9	90,000.00	0	0	0	0	0.00	0	0	0	0	0.00	12.00	10,000.00	120,000.00
46	RSCC	CELLPHONE	unit	0	2		2	29,998.00				0	0.00	2	0	0	2	29,998.00	0	0	0	0	0.00	4.00	14,999.00	59,996.00
47	RSCC/HFW/pcdp	MEGAPHONE	unit	0	2	0	2	10,000.00		2		2	10,000.00		2	0	2	10,000.00	0	0	0	0	0.00	6.00	5,000.00	30,000.00
48	RSCC	TELEPHONE	unit	0	1	0	1	3,000.00	0	0	0	0	0.00	1	0	0	1	3,000.00	0	0	0	0	0.00	2.00	3,000.00	6,000.00
49	RSCC	COMPUTER SPEAKER	unit	0	4	0	4	12,000.00	0	0	0	0	0.00	4	0	0	4	12,000.00	0	0	0	0	0.00	8.00	3,000.00	24,000.00
50	RSCC	PRINTER 4 IN 1 CONT INK	unit	0	2	0	2	20,000.00	0	0	0	0	0.00	2	0	0	2	20,000.00	0	0	0	0	0.00	4.00	10,000.00	40,000.00
51		FLASHDRIVE 32gb GQ	UNIT	0	10	0	10	15,000.00	0	0	0	0	0.00	10	0	0	10	15,000.00	0	0	0	0	0.00	20.00	1,500.00	30,000.00
52		NETBOOK FOR RSPTU STAFF	UNIT	0	8	0	8	116,000.00	0	0	0	0	0.00		0	0	0	0.00	0	0	0	0	0.00	8.00	14,500.00	116,000.00
53		PRINTER FOR RSPTU STAFF	UNIT	0	6	0	6	60,000.00	0	0	0	0	0.00		0	0	0	0.00	0	0	0	0	0.00	6.00	10,000.00	60,000.00
54		AVR 1000w	UNIT	0	0	0	0	0.00	3	0	0	3	6,000.00		0	0	0	0.00	0	0	0	0	0.00	3.00	2,000.00	6,000.00
55	HFW	DOCUMENT CAMERA	UNIT	0	0	0	0	0.00	1	0	0	1	80,000.00		0	0	0	0.00	0	0	0	0	0.00	1.00	80,000.00	80,000.00
56							0	0.00		0		0	0.00		0	0	0	0.00	0	0	0	0	0.00	0.00		0.00

Printer or Facsimile or Photocopier Supplies

1	CRCF	LC563 BROTHER INK CARTRIDGE (MAGENTA)	PCS.		5		5	3,500.00			0	0.00	5		5	3,500.00				0	0.00	10.00	700.00	7,000.00		
2	CRCF	LC563 BROTHER INK CARTRIDGE (YELLOW)	PCS.		5		5	3,500.00			0	0.00	5		5	3,500.00				0	0.00	10.00	700.00	7,000.00		
3	CRCF	LC563 BROTHER INK CARTRIDGE (CYAN)	PCS.		5		5	35,000.00			0	0.00	5		5	35,000.00				0	0.00	10.00	7,000.00	70,000.00		
4	SWADT-ISABELA	INK CARTRIDGE EPSON CART NO. C13T664100 (T6641), BLACK	CA		3		3	1,602.30		3		3	1,602.30		3		3	1,602.30		3		3	1,602.30	12.00	534.10	6,409.20
5	SWADT-ISABELA	INK CARTRIDGE EPSON CART NO. C13T664100 (T6641), CYAN	CA		3		3	1,602.30		3		3	1,602.30		3		3	1,602.30		3		3	1,602.30	12.00	534.10	6,409.20
6	SWADT-ISABELA	INK CARTRIDGE EPSON CART NO. C13T664100 (T6641), MAGENTA	CA		3		3	1,602.30		3		3	1,602.30		3		3	1,602.30		3		3	1,602.30	12.00	534.10	6,409.20
7	SWADT-ISABELA	INK CARTRIDGE EPSON CART NO. C13T664100 (T6641), YELLOW	CA		3		3	1,602.30		3		3	1,602.30		3		3	1,602.30		3		3	1,602.30	12.00	534.10	6,409.20
8	KC-NCDDP	UNIVERSAL INK BLACK REFILL 1000ml.	CA		15		15	9,000.00			0	0.00	15		15	9,000.00				0	0.00	30.00	600.00	18,000.00		
9	KC-NCDDP	UNIVERSAL INK YELLOWREFILL 1000ml.	CA		15		15	9,000.00			0	0.00	15		15	9,000.00				0	0.00	30.00	600.00	18,000.00		
10	KC-NCDDP	UNIVERSAL INK CYAN REFILL 1000ml.	CA		15		15	9,000.00			0	0.00	15		15	9,000.00				0	0.00	30.00	600.00	18,000.00		
11	KC-NCDDP	UNIVERSAL INK MAGENTA REFILL 1000ml.	CA		15		15	9,000.00			0	0.00	15		15	9,000.00				0	0.00	30.00	600.00	18,000.00		
12	CRCF	LC563 BROTHER INK CARTRIDGE (BLACK)	PCS.		5		5	35,000.00			0	0.00	5		5	35,000.00				0	0.00	10.00	7,000.00	70,000.00		
13	BAC	TONER FOR KYOCERA	CART				0	0.00		3		3	21,000.00		0		0	0.00		0		0	0.00	3.00	7,000.00	21,000.00
14	RECORDS/ADMIN	TONER FOR KYOCERA PHOTOCOPIER	CART		2		2	12,000.00			0	0.00			1		1	6,000.00		1		1	6,000.00	4.00	6,000.00	24,000.00

15	HRMDD	TONER CART. FOR KYOCERA PART NO.TK 120	CART				0	0.00			2	2	13,536.84			2	2	13,536.84			0	0.00	4.00	6,768.42	27,073.68	
16		TONER PHOTOCOPIER	CART			8	8	56,000.00					0	0.00			0	0.00			0	0.00	8.00	7,000.00	56,000.00	
17	4Ps	INK FOR HP 678, BLACK	CART				0	0.00		93		93	39,990.00	31			31	13,330.00			0	0.00	124.00	430.00	53,320.00	
18	4Ps	INK FOR OFFICE JET 100 MOBILE PRINTER BLACK NO. 94	CA				0	0.00		9		9	9,000.00	3			3	3,000.00			0	0.00	12.00	1,000.00	12,000.00	
19	4Ps	INK FOR OFFICE JET 100 MOBILE PRINTER COLORED NO. 95	CA				0	0.00		9		9	9,000.00	3			3	3,000.00			0	0.00	12.00	1,000.00	12,000.00	
20	4Ps	UNIVERSAL INK BLACK	CA				0	0.00		24		24	10,320.00	8			8	3,440.00			0	0.00	32.00	430.00	13,760.00	
21		INK BROTHER INK BT 5000M	CA		30	30	60	19,800.00	30	30	30	90	29,700.00	30	30	30	90	29,700.00	30	30	30	90	29,700.00	330.00	330.00	108,900.00
22		INK BROTHER INK BT 5000Y	CA		30	30	60	19,800.00	30	30	30	90	29,700.00	30	30	30	90	29,700.00	30	30	30	90	29,700.00	330.00	330.00	108,900.00
23		INK BROTHER INK BT D60 BK	CA		30	30	60	19,800.00	30	30	30	90	29,700.00	30	30	30	90	29,700.00	30	30	30	90	29,700.00	330.00	330.00	108,900.00
24		INK BROTHER INK BT d60 c	CA		30	30	60	19,800.00	30	30	30	90	29,700.00	30	30	30	90	29,700.00	30	30	30	90	29,700.00	330.00	330.00	108,900.00
25	SOCPEN	TONER CARTRIDGE, Kyocera Part No. TK-899 (Black) @ Php 8,600.00 per piece	CA			4	4	34,400.00					0	0.00			4	4	34,400.00			0	0.00	8.00	8,600.00	68,800.00
26	SOCPEN	TONER CARTRIDGE, Kyocera Part No. TK-899 (Yellow) @ Php 8,600.00/piece	CA			4	4	34,400.00					0	0.00			4	4	34,400.00			0	0.00	8.00	8,600.00	68,800.00
27	SOCPEN	TONER CARTRIDGE, Kyocera Part No. TK-899 (Magenta) @ Php 8,600.00/piece	CA			3	3	25,800.00					0	0.00			3	3	25,800.00			0	0.00	6.00	8,600.00	51,600.00
28	SOCPEN	TONER CARTRIDGE, Kyocera Part No. TK-899 (Cyan) @ Php 8,600.00/piece	CA			3	3	25,800.00					0	0.00			3	3	25,800.00			0	0.00	6.00	8,600.00	51,600.00
29							0	0.00					0	0.00			0	0.00				0	0.00	0.00	0.00	0.00
30							0	0.00					0	0.00			0	0.00				0	0.00	0.00	0.00	0.00

OTHER SOFTWARE

OTHER SOFTWARE																										
COMMUNICATION ALLOWANCE																										
Cons																										
1		COMMUNICATION ALLOWANCE (SFP 20 STAFF X 500)	PESOS	20	20	20	60	30,000.00	20	20	20	60	30,000.00	20	20	20	60	30,000.00	20	20	20	60	30,000.00	240.00	500.00	120,000.00
2	CRCF	E-LOADING (TEL. EXPENSES-MOBILE-CRCF)		4	4	4	12	8,100.00	4	4	4	12	8,100.00	4	4	4	12	8,100.00	4	4	4	12	8,100.00	48.00	675.00	32,400.00
3	SWADT-ISABELA	E-LOADING COMMUNICATION EXPENSES	MO	1	1	1	3	2,700.00	1	1	1	3	2,700.00	1	1	1	3	2,700.00	1	1	1	3	2,700.00	12.00	900.00	10,800.00
4	KC-NCDDP	E-LOADING-GLOBE	LOT	1			1	400,000.00				0	0.00				0	0.00				0	0.00	1.00	400,000.00	400,000.00
5	KC-NCDDP	E-LOADING SMART	LOT	1			1	100,000.00				0	0.00				0	0.00				0	0.00	1.00	100,000.00	100,000.00
6	KC-NCDDP	GLOBE RETAILER SIM	PC	1			1	50.00				0	0.00				0	0.00				0	0.00	1.00	50.00	50.00
7	KC-NCDDP	SMART RETAILER SIM	PC	1			1	50.00				0	0.00				0	0.00				0	0.00	1.00	50.00	50.00
8	RECORDS	MOBILE LOAD		1	1	1	3	2,700.00	1	1	1	3	2,700.00	1	1	1	3	2,700.00	1	1	1	3	2,700.00	12.00	900.00	10,800.00
9	4PS	CELLCARDS FOR INTERNET REGISTRATION/MONTHLY	PCS	3100			3100	1,085,000.00	3100			3100	1,085,000.00	3100			3100	1,085,000.00	3100			3100	1,085,000.00	12,400.00	350.00	4,340,000.00
10	4PS	INTERNET CONNECTION		4	4	4	12	30,000.00	4	4	4	12	30,000.00	4	4	4	12	30,000.00	4	4	4	12	30,000.00	8.00	2,500.00	110,000.00
11		MONTHLY COMMUNICATION ALLOWANCE	LOT	1	1	1	3	16,200.00	1	1	1	3	16,200.00	1	1	1	3	16,200.00	1	1	1	3	16,200.00	12.00	5,400.00	64,800.00
12	SLP	MOBILE EXPENSES-AUTOLOADING-	PCS	270			270	162,000.00	270			270	162,000.00	270			270	162,000.00	270			270	162,000.00	1,080.00	600.00	648,000.00
13	SLP	MOBILE EXPENSES-AUTOLOADING-	PCS	21			21	18,900.00	21			21	18,900.00	21			21	18,900.00	21			21	18,900.00	84.00	900.00	75,600.00
14	SLP	MOBILE EXPENSES-AUTOLOADING-	PCS	3			3	900.00	3			3	900.00	3			3	900.00	3			3	900.00	12.00	300.00	3,600.00
15	SLP	POST PAID PLAN FOR GLOBE, SMART, TM,TNT		7	7	7	21	12,600.00	7	7	7	21	12,600.00	7	7	7	21	12,600.00	7	7	7	21	12,600.00	84.00	600.00	50,400.00
16	SLP	INTERNET SUBSCRIPTION-SLP		7	7	7	21	37,800.00	7	7	7	21	37,800.00	7	7	7	21	37,800.00	7	7	7	21	37,800.00	84.00	1,800.00	151,200.00
17	PDS	COMMUNICATION ALLOWANCE-ELOADING/POSTPAID- FOR RCC	MONTH	1	1	1	3	2,700.00	1	1	1	3	2,700.00	1	1	1	3	2,700.00	1	1	1	3	2,700.00	12.00	900.00	10,800.00
18	PDS	COMMUNICATION ALLOWANCE-ELOADING/POSTPAID- AA	MONTH	1	1	1	3	900.00	1	1	1	3	900.00	1	1	1	3	900.00	1	1	1	3	900.00	12.00	300.00	3,600.00
19	ARDO	MOBILE EXPENSES-ARDO	PCS	1	1	1	3	9,000.00	1	1	1	3	9,000.00	1	1	1	3	9,000.00	1	1	1	3	9,000.00	12.00	3,000.00	36,000.00
20	ARDO	MOBILE EXPENSES-ARDOs 2 ADMIN STAFF	PCS	2	2	2	6	1,800.00	2	2	2	6	1,800.00	2	2	2	6	1,800.00	2	2	2	6	1,800.00	24.00	300.00	7,200.00
21	BAC	2 ADMIN STAFF OF BAC OFFICE-E-LOADING		2	2	2	6	1,800.00	2	2	2	6	1,800.00	2	2	2	6	1,800.00	2	2	2	6	1,800.00	24.00	300.00	7,200.00
22																										
23																										
24																										

8		SPOON	PCS				0	0.00				0.00	12			12	360.00			0	0.00	12.00	30.00	360.00
9		RICE COOKER	PCS				0	0.00				0.00	1			1	1,500.00			0	0.00	1.00	1,500.00	1,500.00
10		DRINKING GLASS	PCS				0	0.00				0.00	12			12	276.00			0	0.00	12.00	23.00	276.00
11		LADDLE	PCS				0	0.00				0.00	1			1	70.00			0	0.00	1.00	70.00	70.00
12		DISPOSABLE SPOON(12's; GOOD QUALITY)	DOZEN	2000			2000	120,000.00	2000			2000	120,000.00	2000		2000	120,000.00	2000		2000	120,000.00	8,000.00	60.00	480,000.00
13		DISPOSABLE FORK(12's; GOOD QUALITY)	DOZEN	2000			2000	120,000.00	2000			2000	120,000.00	2000		2000	120,000.00	2000		2000	120,000.00	8,000.00	60.00	480,000.00
14		Pressure Cooker(Pressure Cooker, 12 quart electric pressure cooker)	Piece	2			2	20,000.00				0.00	2			2	20,000.00			0	0.00	4.00	10,000.00	40,000.00
15		Duty heater silver caddy(Sterilizer for spoon and fork electric heater silver caddy)	Pcs				0	0.00				0.00	4			4	40,000.00			0	0.00	4.00	10,000.00	40,000.00
16		Electric Airpot 3 liters(Electric Airpot 3 liters)	unit	2			2	12,000.00				0.00	2			2	12,000.00			0	0.00	4.00	6,000.00	24,000.00
17		LIGHTER(UTILITY LIGHTER FOR THE USE IN THE KITCHEN)	PCS	30			30	1,500.00				0.00	30			30	1,500.00			0	0.00	60.00	50.00	3,000.00
19		COFFEE MAKER MACHINE(MAINTENANCE / REPAIR)	PCS	10			10	4,000.00	10		10	4,000.00	10			10	4,000.00	10		10	4,000.00	40.00	400.00	16,000.00
20		knife Switch (DOUBLE THROW SWITCH (60AP))	PCS	10			10	4,000.00	10		10	4,000.00	10			10	4,000.00	10		10	4,000.00	40.00	400.00	16,000.00
21	HFW	AND Tumbler for juice FOR HOME FOR WOMEN	PCS				0	0.00				0.00	150	150	150	450	90,000.00	150	100	250	50,000.00	700.00	200.00	140,000.00
22	RSCC	KITCHEN UTENSILS FOR RSCC			0.5		0.5	510,550.00				0.00	0.5			0.5	510,550.00			0	0.00	1.00	1,021,100.00	1,021,100.00
23	RSCC	Table cloth 100% polyester high quality (rec)	pcs				0	0.00				0.00	50			50	40,000.00			0	0.00	50.00	800.00	40,000.00
24	RSCC	Table cloth 100% polyester high quality (rou)	pcs				0	0.00				0.00	50			50	40,000.00			0	0.00	50.00	800.00	40,000.00
25	RSCC	Fabric curtains 100% polyester textile	pcs				0	0.00				0.00	50			50	40,000.00			0	0.00	50.00	800.00	40,000.00
							0	0.00				0.00	0			0	0.00			0	0.00	0.00		0.00

Other Categories (Transportation and Delivery Expenses)

1	BANGUN	FRIEGH AND HAULING FOR THE FOOD SRUFF OF BangUN	DELIVERY				0	0.00		280		280	700,000.00			0	0.00			0	0.00	280.00	2,500.00	700,000.00
2	RECORDS	HAULING OF VALUELESS DOCS. FROM PROVINCIAL OFFICES					0	0.00				0.00	5	5	5	15	30,000.00	5		5	10,000.00	20.00	2,000.00	40,000.00
3	4Ps	PROCURE FOR FREIGHT					0	0.00	4		4	180,000.00	3	3		6	270,000.00		2	2	90,000.00	12.00	45,000.00	540,000.00
4	SLP	VEHICLE RENTAL-SLP	MONTH				0	0.00	1		1	5,000.00		1		1	5,000.00			0	0.00	2.00	5,000.00	10,000.00
5	PCDP	HIRED JEEF(Public Transportation in ferry client)	TRIP	250			250	87,500.00	250		250	87,500.00	250			250	87,500.00	250		250	L	1,000.00	350.00	350,000.00
							0	0.00				0.00	0			0	0.00			0	0.00	0.00		0.00

Other Categories (fuel , oil and lubricant)

1		FUEL				250	250	15,000.00			250	250	15,000.00			200	200	12,000.00			0	0.00	700.00	60.00	42,000.00	
2		OIL				20	20	4,000.00			20	20	4,000.00			20	20	4,000.00			0	0.00	60.00	200.00	12,000.00	
3		LUBRICANT				20	20	6,000.00			20	20	6,000.00			20	20	6,000.00			0	0.00	60.00	300.00	18,000.00	
4	pcdp/direct contracting	Gasul LPG/Gasul LPG(50kg/tank)	Tank /lbs	2000		21	2021	6,628,880.00	2000		21	2021	6,628,880.00	2000		21	2021	6,628,880.00	2000		2000	6,560,000.00	8,063.00	3,280.00	26,446,640.00	
5	AICS	Fuel and Lubricant Expense	Litre	1	1	1	3	12,000.00	1	1	1	3	12,000.00	1	1	1	3	12,000.00	1	1	1	3	12,000.00	12.00	4,000.00	48,000.00
6	AICS	Fuel for Genset	Litre	1	1	1	3	3,000.00	1	1	1	3	3,000.00	1	1	1	3	3,000.00	1	1	1	3	3,000.00	12.00	1,000.00	12,000.00
7		COOKING GAS(REFILL)	Tank /lbs	12			12	12,000.00	12			12	12,000.00	12			12	12,000.00	12		12	12,000.00	48.00	1,000.00	48,000.00	

8	OIL & LUBRICANTS(OIL & LUBRICANTS)	quarterly	1	1	2	10,000.00			0	0.00	2			2	10,000.00	2		2	10,000.00	6.00	5,000.00	30,000.00
9	Gasoline(Gasoline)	quarterly	4		4	60,000.00	5		5	75,000.00	5			5	75,000.00	4		4	60,000.00	18.00	15,000.00	270,000.00
10	Gas for generator(Gas for generator)	liter			0	0.00			0	0.00	2			2	6,666.66	2		2	6,666.66	4.00	3,333.33	13,333.32
					0	0.00			0	0.00				0	0.00			0	0.00	0.00		0.00

Other Categories (Consultation Expenses)

1	Consultancy Services-BangUN		1	1	1	3	15,000.00	1	1	1	3	15,000.00	1	1	1	3	15,000.00	1	1	1	3	15,000.00	12.00	5,000.00	60,000.00
						0	0.00				0	0.00				0	0.00				0	0.00	0.00		0.00
						0	0.00				0	0.00				0	0.00				0	0.00	0.00		0.00
						0	0.00				0	0.00				0	0.00				0	0.00	0.00		0.00

Other Categories FOOD STUFF

1	SFP	DRIED DILIS, SMALL, FLAT-SFP	KLS.			0	0.00	13404			13404	4,691,400.00				0	0.00				0	0.00	13,404.00	350.00	4,691,400.00
2	SFP	IODIZED SALT WITH SANGKAP PINOY SEAL-SFP	KLS.			0	0.00	21446			21446	428,920.00				0	0.00				0	0.00	21,446.00	20.00	428,920.00
4	SFP	White Sugar, refined	250grams/pack			0	0.00	24,663			24663	616,575.00				0	0.00				0	0.00	24,663.00	25.00	616,575.00
5	SFP	Cornstarch	100grams/pack			0	0.00	24,127			24127	482,540.00				0	0.00				0	0.00	24,127.00	20.00	482,540.00
6	SFP	All Purpose Flour	250grams/pack			0	0.00	107,232			107232	2,680,800.00				0	0.00				0	0.00	107,232.00	25.00	2,680,800.00
7	SFP	Vinegar	200ml/pouch			0	0.00	8,042			8042	160,840.00				0	0.00				0	0.00	8,042.00	20.00	160,840.00
8	SFP	Soysauce	200ml/pouch			0	0.00	83,775			83775	1,675,500.00				0	0.00				0	0.00	83,775.00	20.00	1,675,500.00
9	SFP	Patis	350ml/plastic bottle			0	0.00	21,446			21446	536,150.00				0	0.00				0	0.00	21,446.00	25.00	536,150.00
10	SFP	Cooking Oil	475ml/plastic bottle			0	0.00	152,382			152382	#####				0	0.00				0	0.00	152,382.00	70.00	10,666,740.00
11	SFP	Green Peas	225grams / can			0	0.00	29,786			29786	1,191,440.00				0	0.00				0	0.00	29,786.00	40.00	1,191,440.00
12	SFP	Pineapple tidbits	115grams/can			0	0.00	160,848			160848	3,216,960.00				0	0.00				0	0.00	160,848.00	20.00	3,216,960.00
13	SFP	Ketchup	200grams/pouch			0	0.00	20,776			20776	519,400.00				0	0.00				0	0.00	20,776.00	25.00	519,400.00
14	SFP	Tomato Sauce	250ml/pouch			0	0.00	58,441			58441	2,045,435.00				0	0.00				0	0.00	58,441.00	35.00	2,045,435.00
15	SFP	Spaghetti Sauce	560grams/pouch			0	0.00	47,871			47871	3,111,615.00				0	0.00				0	0.00	47,871.00	65.00	3,111,615.00
16	SFP	Oyster Sauce	30grams/pack			0	0.00	160,848			160848	1,286,784.00				0	0.00				0	0.00	160,848.00	8.00	1,286,784.00
17	SFP	Misua	25grams/pack			0	0.00	160,848			160848	1,125,936.00				0	0.00				0	0.00	160,848.00	7.00	1,125,936.00
18	SFP	Sotanghon first class	500grams/pack			0	0.00	13,404			13404	3,351,000.00				0	0.00				0	0.00	13,404.00	250.00	3,351,000.00
19	SFP	Spaghetti Noodles	400grams/pack			0	0.00	67,020			67020	4,021,200.00				0	0.00				0	0.00	67,020.00	60.00	4,021,200.00
20	SFP	Corn Kernel	410grams/pack			0	0.00	16,346			16346	653,840.00				0	0.00				0	0.00	16,346.00	40.00	653,840.00
21	SFP	Cheese	65 grams/pack			0	0.00	129,090			129090	7,745,400.00				0	0.00				0	0.00	129,090.00	60.00	7,745,400.00
22	SFP	Breadcrumbs	80grams/pack			0	0.00	55,291			55291	1,382,275.00				0	0.00				0	0.00	55,291.00	25.00	1,382,275.00
23	SFP	Chicken, whole dressed	Kilo			0	0.00	206,593			206593	#####				0	0.00				0	0.00	206,593.00	200.00	41,318,600.00
24	SFP	Beef	Kilo			0	0.00	66,850			66850	#####				0	0.00				0	0.00	66,850.00	270.00	18,049,500.00
25	SFP	Ground Beef	Kilo			0	0.00	109,200			109200	#####				0	0.00				0	0.00	109,200.00	270.00	29,484,000.00
26	SFP	Egg,large	30pcs/tray			0	0.00	69,700			69700	#####				0	0.00				0	0.00	69,700.00	200.00	13,940,000.00
27	SFP	Red Onion, medium	Kilo			0	0.00	41,820			41820	4,600,200.00				0	0.00				0	0.00	41,820.00	110.00	4,600,200.00
28	SFP	Garlic,medium	Kilo			0	0.00	13,404			13404	1,474,440.00				0	0.00				0	0.00	13,404.00	110.00	1,474,440.00

29	SFP	Monggo Grains	Kilo				0	0.00	40,212			40212	4,423,320.00				0	0.00			0	0.00	40,212.00	110.00	4,423,320.00	
30	SFP	Carrots,medium	Kilo				0	0.00	69,700			69700	6,273,000.00				0	0.00			0	0.00	69,700.00	90.00	6,273,000.00	
31	SFP	Kamote, orange	Kilo				0	0.00	40,212			40212	2,412,720.00				0	0.00			0	0.00	40,212.00	60.00	2,412,720.00	
32	SFP	Cabbage,medium	Kilo				0	0.00	26,808			26808	2,412,720.00				0	0.00			0	0.00	26,808.00	90.00	2,412,720.00	
33	SFP	String beans	Kilo				0	0.00	53,616			53616	4,825,440.00				0	0.00			0	0.00	53,616.00	90.00	4,825,440.00	
34	SFP	Banana Saba	Kilo				0	0.00	6,702			6702	167,550.00				0	0.00			0	0.00	6,702.00	25.00	167,550.00	
35	SFP	Savote	Kilo				0	0.00	26,808			26808	1,340,400.00				0	0.00			0	0.00	26,808.00	50.00	1,340,400.00	
36	SFP	Baguio Beans	Kilo				0	0.00	26,808			26808	2,412,720.00				0	0.00			0	0.00	26,808.00	90.00	2,412,720.00	
37	SFP	Red Squash, medium(at least 1 kg.)	Kilo				0	0.00	53,616			53616	2,680,800.00				0	0.00			0	0.00	53,616.00	50.00	2,680,800.00	
38	SFP	Eggplant, medium	Kilo				0	0.00	53,616			53616	4,289,280.00				0	0.00			0	0.00	53,616.00	80.00	4,289,280.00	
39	SFP	Potato, medium	Kilo				0	0.00	20,106			20106	2,010,600.00				0	0.00			0	0.00	20,106.00	100.00	2,010,600.00	
40	SFP	Okra, any	Kilo				0	0.00	6,702			6702	469,140.00				0	0.00			0	0.00	6,702.00	70.00	469,140.00	
41	SFP	AMAPALAYA	Kilo				0	0.00	6,702			6702	670,200.00				0	0.00			0	0.00	6,702.00	100.00	670,200.00	
42	SFP	RICE SFP	25kgs./sack				0	0.00	35,751			35751	#####				0	0.00			0	0.00	35,751.00	1,300.00	46,476,300.00	
43	SFP	MILK	pack				0	0.00	#####			4022040	#####				0	0.00			0	0.00	#####	19.00	76,418,760.00	
44	PCDP-PUBLIC BIDDING	Commercial Rice 50kls(Commercial Rice 50kls)	Sack	500	0	0	500	1,250,000.00	500	0	0	500	1,250,000.00	500	0	0	500	1,250,000.00	500	0	0	500	1,250,000.00	2,000.00	2,500.00	5,000,000.00
45	BangUN	NFA-well mild Rice 50kgs. BangUN	sack	0	0	0	0	0.00	0	3500	0	3500	6,475,000.00	0	0	0	0	0.00	0	0	0	0	0.00	3,500.00	1,850.00	6,475,000.00
46	BangUN	NFA-well mild Rice 50kgs. BangUN	sack	0	0	0	0	0.00	0	2500	0	2500	4,625,000.00	0	0	0	0	0.00	0	0	0	0	0.00	2,500.00	1,850.00	4,625,000.00
47	BangUN	NFA-well mild Rice 50kgs. BangUN	sack	0	0	0	0	0.00	0	2500	0	2500	4,625,000.00	0	0	0	0	0.00	0	0	0	0	0.00	2,500.00	1,850.00	4,625,000.00
48	BangUN	SOY SAUCE sangkap pinoy seal - BANGUN	kilo	0	0	0	0	0.00	0	2550	0	2550	204,000.00	0	0	0	0	0.00	0	0	0	0	0.00	2,550.00	80.00	204,000.00
49	BangUN	CATSUP-BANGUN	liter	0	0	0	0	0.00	0	2040	0	2040	163,200.00	0	0	0	0	0.00	0	0	0	0	0.00	2,040.00	80.00	163,200.00
50	BangUN	MONGGO GREEN-BANGUN	kilo	0	0	0	0	0.00	0	23800	0	23800	2,380,000.00	0	0	0	0	0.00	0	0	0	0	0.00	23,800.00	100.00	2,380,000.00
51	BangUN	VENIGAR-BANGUN	liter	0	0	0	0	0.00	0	204	0	204	14,280.00	0	0	0	0	0.00	0	0	0	0	0.00	204.00	70.00	14,280.00
52	BangUN	SALT IODIZED, FORTIFIED, 1 KL./PACK BangUN	kilo	0	0	0	0	0.00	0	1462	0	1462	102,340.00	0	0	0	0	0.00	0	0	0	0	0.00	1,462.00	70.00	102,340.00
53	BangUN	TOMATO SAUCE 1 KG/PACK	kilo	0	0	0	0	0.00	0	13600	0	13600	1,224,000.00	0	0	0	0	0.00	0	0	0	0	0.00	13,600.00	90.00	1,224,000.00
54	BangUN	SUGAR BROWN 1 KL/ PACK	kilo	0	0	0	0	0.00	0	21060	0	21060	1,684,800.00	0	0	0	0	0.00	0	0	0	0	0.00	21,060.00	80.00	1,684,800.00
55	BangUN	VEGETABLE OIL	liter	0	0	0	0	0.00	0	18000	0	18000	1,620,000.00	0	0	0	0	0.00	0	0	0	0	0.00	18,000.00	90.00	1,620,000.00
56	BangUN	CONDENCE MILK	can	0	0	0	0	0.00	0	11000	0	11000	660,000.00	0	0	0	0	0.00	0	0	0	0	0.00	11,000.00	60.00	660,000.00
57	BangUN	EVAPORATED	can	0	0	0	0	0.00	0	36000	0	36000	2,160,000.00	0	0	0	0	0.00	0	0	0	0	0.00	36,000.00	60.00	2,160,000.00
58	BangUN	TUNA FLAKES	can	0	0	0	0	0.00	0	44400	0	44400	2,664,000.00	0	0	0	0	0.00	0	0	0	0	0.00	44,400.00	60.00	2,664,000.00
59	BangUN	SARDINES 155g NOT CHILLI	can	0	0	0	0	0.00	0	29300	0	29300	1,318,500.00	0	0	0	0	0.00	0	0	0	0	0.00	29,300.00	45.00	1,318,500.00
60	BangUN	TABLEA PURE CHOCOLATE/COCOA	kilo	0	0	0	0	0.00	0	136	0	136	24,480.00	0	0	0	0	0.00	0	0	0	0	0.00	136.00	180.00	24,480.00
61	BangUN	SUGAR REFINE, WHITE 1 KL./PACK	kilo	0	0	0	0	0.00	0	4500	0	4500	405,000.00	0	0	0	0	0.00	0	0	0	0	0.00	4,500.00	90.00	405,000.00
62	BangUN	KERNEL CORN	can	0	0	0	0	0.00	0	12100	0	12100	847,000.00	0	0	0	0	0.00	0	0	0	0	0.00	12,100.00	70.00	847,000.00
63	BangUN	DRIED CANTON	pack	0	0	0	0	0.00	0	8700	0	8700	1,740,000.00	0	0	0	0	0.00	0	0	0	0	0.00	8,700.00	200.00	1,740,000.00
64	BangUN	MISUA	pack	0	0	0	0	0.00	0	2500	0	2500	175,000.00	0	0	0	0	0.00	0	0	0	0	0.00	2,500.00	70.00	175,000.00
65	BangUN	ALL PUSPORE FLOUR	kilo	0	0	0	0	0.00	0	22152	0	22152	1,772,160.00	0	0	0	0	0.00	0	0	0	0	0.00	22,152.00	80.00	1,772,160.00

66	BangUN	BAKING POWDER	pack	0	0	0	0	0.00	0	400	0	400	100,000.00	0	0	0	0	0.00	0	0	0	0	0.00	400.00	250.00	100,000.00
67	BangUN	MALAGKIT RICE	kilo	0	0	0	0	0.00	0	1700	0	1700	255,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1,700.00	150.00	255,000.00
68	BangUN	MACARONI NOODLES	kilo	0	0	0	0	0.00	0	1360	0	1360	204,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1,360.00	150.00	204,000.00
69	BangUN	SOTANGHON	pack	0	0	0	0	0.00	0	3900	0	3900	741,000.00	0	0	0	0	0.00	0	0	0	0	0.00	3,900.00	190.00	741,000.00
70	BangUN	CORNSTARCH	pack	0	0	0	0	0.00	0	1500	0	1500	180,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1,500.00	120.00	180,000.00
71	BangUN	MALAGKIT FLOUR	kilo	0	0	0	0	0.00	0	3400	0	3400	748,000.00	0	0	0	0	0.00	0	0	0	0	0.00	3,400.00	220.00	748,000.00
72	BangUN	CHICKEN WHOLE, FRESH	kilo	0	0	0	0	0.00	0	4500	0	4500	9,900,000.00	0	0	0	0	0.00	0	0	0	0	0.00	4,500.00	2,200.00	9,900,000.00
73	BangUN	GARLIC	kilo	0	0	0	0	0.00	0	2000	0	2000	300,000.00	0	0	0	0	0.00	0	0	0	0	0.00	2,000.00	150.00	300,000.00
74	BangUN	SWEET POTATO	kilo	0	0	0	0	0.00	0	36100	0	36100	2,527,000.00	0	0	0	0	0.00	0	0	0	0	0.00	36,100.00	70.00	2,527,000.00
75	BangUN	POTATA	kilo	0	0	0	0	0.00	0	2600	0	2600	338,000.00	0	0	0	0	0.00	0	0	0	0	0.00	2,600.00	130.00	338,000.00
76	BangUN	RIBBED GOURD/ PATOLA 10-15 KLS. /SACK	kilo	0	0	0	0	0.00	0	5100	0	5100	357,000.00	0	0	0	0	0.00	0	0	0	0	0.00	5,100.00	70.00	357,000.00
77	BangUN	CABBAGE	kilo	0	0	0	0	0.00	0	5400	0	5400	648,000.00	0	0	0	0	0.00	0	0	0	0	0.00	5,400.00	120.00	648,000.00
78	BangUN	CARROTS	kilo	0	0	0	0	0.00	0	9480	0	9480	1,232,400.00	0	0	0	0	0.00	0	0	0	0	0.00	9,480.00	130.00	1,232,400.00
79	BangUN	RED SQUASH	kilo	0	0	0	0	0.00	0	2870	0	2870	229,600.00	0	0	0	0	0.00	0	0	0	0	0.00	2,870.00	80.00	229,600.00
80	BangUN	GINGER	kilo	0	0	0	0	0.00	0	540	0	540	54,000.00	0	0	0	0	0.00	0	0	0	0	0.00	540.00	100.00	54,000.00
81	BangUN	CHAYOTE (SAYOTE)	kilo	0	0	0	0	0.00	0	10380	0	10380	726,600.00	0	0	0	0	0.00	0	0	0	0	0.00	10,380.00	70.00	726,600.00
82	BangUN	RED ONIONS	kilo	0	0	0	0	0.00	0	5780	0	5780	751,400.00	0	0	0	0	0.00	0	0	0	0	0.00	5,780.00	130.00	751,400.00
83	BangUN	BOTTLE GUARD /UPO	kilo	0	0	0	0	0.00	0	4500	0	4500	315,000.00	0	0	0	0	0.00	0	0	0	0	0.00	4,500.00	70.00	315,000.00
84	SWADT-ISABELA	INSTANT COFFEE	TIE	0	0	6	6	510.00	0	0	6	6	510.00	0	0	6	6	510.00	0	6	0	6	510.00	24.00	85.00	2,040.00
85	SWADT-ISABELA	BISCUIT	PACK	0	0	12	12	720.00	0	0	24	24	1,440.00	0	0	24	24	1,440.00	0	24	0	24	1,440.00	84.00	60.00	5,040.00
86	SWADT-ISABELA	CANDY	pack	0	0	12	12	720.00	0	0	24	24	1,440.00	0	0	24	24	1,440.00	0	24	0	24	1,440.00	84.00	60.00	5,040.00
87	PCDP-PUBLIC BIDDNIG	Fruit Cocktail 1kg(Fruit Cocktail 1kg)	Can	30	0	0	30	8,580.00	30	0	0	30	8,580.00	30	0	0	30	8,580.00	30	0	0	30	8,580.00	120.00	286.00	34,320.00
88	PCDP-PUBLIC BIDDNIG	Grapes(Grapes)	kilo	100	0	0	100	50,000.00	100	0	100	200	100,000.00	0	0	100	100	50,000.00	0	0	0	0	0.00	400.00	500.00	200,000.00
89	PCDP-PUBLIC BIDDNIG	Lemon(Lemon)	kilo	20	0	0	20	8,000.00	20	0	0	20	8,000.00	20	0	0	20	8,000.00	20	0	0	20	8,000.00	80.00	400.00	32,000.00
90	PCDP-PUBLIC BIDDNIG	Banana Lacatan(Banana Lacatan)	kilo	100	0	0	100	10,000.00	100	0	0	100	10,000.00	100	0	0	100	10,000.00	100	0	0	100	10,000.00	400.00	100.00	40,000.00
91	PCDP-PUBLIC BIDDNIG	APPLE(FUJI (FRESH AND SWEET))	CASES	100	0	0	100	320,000.00	100	0	0	100	320,000.00	100	0	0	100	320,000.00	100	0	0	100	320,000.00	400.00	3,200.00	1,280,000.00
92	PCDP-PUBLIC BIDDNIG	ORANGE(FRESH AND SWEET)	CASES	100	0	0	100	280,000.00	100	0	0	100	280,000.00	100	0	0	100	280,000.00	100	0	0	100	280,000.00	400.00	2,800.00	1,120,000.00
93	PCDP-PUBLIC BIDDNIG	RIPE MANGO(CARABAO (fresh))	kilos	100	0	0	100	30,000.00	100	0	0	100	30,000.00	100	0	0	100	30,000.00	100	0	0	100	30,000.00	400.00	300.00	120,000.00
94	PCDP-PUBLIC BIDDNIG	Water Melon(fresh)	kilos	100	0	0	100	8,000.00	100	0	0	100	8,000.00	100	0	0	100	8,000.00	100	0	0	100	8,000.00	400.00	80.00	32,000.00
95	PCDP-PUBLIC BIDDNIG	fruit juice(fruit juice in a box)	BOX	50	0	0	50	12,500.00	50	0	0	50	12,500.00	50	0	0	50	12,500.00	50	0	0	50	12,500.00	200.00	250.00	50,000.00
96	PCDP-PUBLIC BIDDNIG	PAPAYA(PAPAYA)	KILOS	100	0	0	100	14,000.00	100	0	0	100	14,000.00	100	0	0	100	14,000.00	100	0	0	100	14,000.00	400.00	140.00	56,000.00
97	PCDP-PUBLIC BIDDNIG	PINEAPPLE(FRESH AND SWEET)	KILO	150	0	0	150	30,000.00	150	0	0	150	30,000.00	150	0	0	150	30,000.00	150	0	0	150	30,000.00	600.00	200.00	120,000.00
98	PCDP-PUBLIC BIDDNIG	PEARS(FRESH)	Cases / Box	200	0	0	200	640,000.00	200	0	0	200	640,000.00	200	0	0	200	640,000.00	200	0	0	200	640,000.00	800.00	3,200.00	2,560,000.00
99	PCDP-PUBLIC BIDDNIG	Bell Pepper(Bell Pepper)	Kilo	50	0	0	50	9,000.00	0	0	50	50	9,000.00	50	0	0	50	9,000.00	50	0	0	50	9,000.00	200.00	180.00	36,000.00
100	PCDP-PUBLIC BIDDNIG	Cauliflower(Cauliflower)	Kilo	100	0	0	100	25,000.00	0	0	100	100	25,000.00	100	0	0	100	25,000.00	100	0	0	100	25,000.00	400.00	250.00	100,000.00
101	PCDP-PUBLIC BIDDNIG	Okra(Okra)	Bundle	100	0	0	100	1,500.00	0	0	100	100	1,500.00	100	0	0	100	1,500.00	100	0	0	100	1,500.00	400.00	15.00	6,000.00
102	PCDP-PUBLIC BIDDNIG	Tomatoes(Tomatoes)	Kilo	100	0	0	100	10,000.00	0	0	100	100	10,000.00	100	0	0	100	10,000.00	100	0	0	100	10,000.00	400.00	100.00	40,000.00

103	PCDP-PUBLIC BIDDING	Cucumber (Green, Yellow)(Cucumber (Green, Yellow))	Kilo	100	0	0	100	4,000.00	0	0	100	100	4,000.00	100	0	0	100	4,000.00	100	0	0	100	4,000.00	400.00	40.00	16,000.00
104	PCDP-PUBLIC BIDDING	Patola(Patola)	Kilo	100	0	0	100	10,000.00	0	0	100	100	10,000.00	100	0	0	100	10,000.00	100	0	0	100	10,000.00	400.00	100.00	40,000.00
105	PCDP-PUBLIC BIDDING	Potatoes(Potatoes)	kilo	100	0	0	100	15,000.00	0	0	100	100	15,000.00	100	0	0	100	15,000.00	100	0	0	100	15,000.00	400.00	150.00	60,000.00
106	PCDP-PUBLIC BIDDING	SPROUTED MONGGO/ TOGUE(SPROUTED MONGGO/ TOGUE)	2600 KLS	200	0	0	200	10,000.00	0	0	200	200	10,000.00	200	0	200	400	20,000.00	0	0	0	0	0.00	800.00	50.00	40,000.00
107	PCDP-PUBLIC BIDDING	Broccoli(Broccoli)	kilo	100	0	0	100	30,000.00	0	0	100	100	30,000.00	100	0	0	100	30,000.00	100	0	0	100	30,000.00	400.00	300.00	120,000.00
108	PCDP-PUBLIC BIDDING	Cabbage(Cabbage)	kilo	500	0	0	500	92,500.00	0	0	500	500	92,500.00	500	0	500	1000	185,000.00	0	0	0	0	0.00	2,000.00	185.00	370,000.00
109	PCDP-PUBLIC BIDDING	Onion Leeks(fresh and greeny)	Bundle	500	0	0	500	15,000.00	0	0	500	500	15,000.00	500	0	0	500	15,000.00	500	0	0	500	15,000.00	2,000.00	30.00	60,000.00
110	PCDP-PUBLIC BIDDING	UPO(WHITE SQUASH)	PCS	100	0	0	100	10,000.00	0	0	100	100	10,000.00	100	0	0	100	10,000.00	100	0	0	100	10,000.00	400.00	100.00	40,000.00
111	PCDP-PUBLIC BIDDING	AMPLAYA (BITTER GOURD)	KLS	100	0	0	100	15,000.00	0	0	100	100	15,000.00	100	0	0	100	15,000.00	100	0	0	100	15,000.00	400.00	150.00	60,000.00
112	PCDP-PUBLIC BIDDING	Mustasa(fresh and greeny)	Bundle	100	0	0	100	8,000.00	0	0	100	100	8,000.00	100	0	0	100	8,000.00	100	0	0	100	8,000.00	400.00	80.00	32,000.00
113	PCDP-PUBLIC BIDDING	Pechay / Petsay(fresh and greeny)	Bundle	100	0	0	100	10,000.00	0	0	100	100	10,000.00	100	0	0	100	10,000.00	100	0	0	100	10,000.00	400.00	100.00	40,000.00
114	PCDP-PUBLIC BIDDING	Beef Loaf 250g 48's(Beef Loaf 250g 48's)	Boxes	100	0	0	100	325,000.00	100	0	0	100	325,000.00	100	0	0	100	325,000.00	100	0	0	100	325,000.00	400.00	3,250.00	1,300,000.00
115	PCDP-PUBLIC BIDDING	Corned Beef 1.8kg 6/box(Corned Beef 1.8kg 6/box)	Cases	30	0	0	30	72,000.00	30	0	0	30	72,000.00	30	0	0	30	72,000.00	30	0	0	30	72,000.00	120.00	2,400.00	288,000.00
116	PCDP-PUBLIC BIDDING	Tulingan(Tulingan)	Kilo	500	0	0	500	50,000.00	500	0	0	500	50,000.00	500	0	0	500	50,000.00	500	0	0	500	50,000.00	2,000.00	100.00	200,000.00
117	PCDP-PUBLIC BIDDING	Powder Milk(99 gram x 120)	Cases / Box	20	0	0	20	100,000.00	20	0	0	20	100,000.00	20	0	0	20	100,000.00	20	0	0	20	100,000.00	80.00	5,000.00	400,000.00
118	PCDP-PUBLIC BIDDING	Pineapple Chunks(Pineapple Chunks)	can	50	0	0	50	3,750.00	50	0	0	50	3,750.00	50	0	0	50	3,750.00	50	0	0	50	3,750.00	200.00	75.00	15,000.00
119	PCDP-PUBLIC BIDDING	BEEF BONES(BEEF BONES)	KILO	1000	0	0	1000	230,000.00	1000	0	0	1000	230,000.00	1000	0	0	1000	230,000.00	1000	0	0	1000	230,000.00	4,000.00	230.00	920,000.00
120	PCDP-PUBLIC BIDDING	BLACK PEPPER(BLACK PEPPER)	KILO	10	0	0	10	3,100.00	10	0	0	10	3,100.00	10	0	0	10	3,100.00	10	0	0	10	3,100.00	40.00	310.00	12,400.00
121	PCDP-PUBLIC BIDDING	BISCUITS, HAPPY TIME(BISCUITS, HAPPY TIME)	PAILS	100	0	0	100	23,000.00	100	0	0	100	23,000.00	100	0	0	100	23,000.00	100	0	0	100	23,000.00	400.00	230.00	92,000.00
122	PCDP-PUBLIC BIDDING	COAT & FRY(COAT & FRY)	PACK	200	0	0	200	7,200.00	200	0	0	200	7,200.00	200	0	200	400	14,400.00	0	0	0	0	0.00	800.00	36.00	28,800.00
123	PCDP-PUBLIC BIDDING	CORN STARCH 500G(CORN STARCH 500G)	PACK	50	0	0	50	3,000.00	50	0	0	50	3,000.00	50	0	0	50	3,000.00	50	0	0	50	3,000.00	200.00	60.00	12,000.00
124	PCDP-PUBLIC BIDDING	NESTOGEN 1-900G(NESTOGEN 1-900G)	CASE	10	0	0	10	50,000.00	10	0	0	10	50,000.00	10	0	0	10	50,000.00	10	0	0	10	50,000.00	40.00	5,000.00	200,000.00
125	PCDP-PUBLIC BIDDING	CHOCOLATE POWDER 1KG(CHOCOLATE POWDER 1KG)	CASE	20	0	0	20	8,600.00	20	0	0	20	8,600.00	30	0	0	30	12,900.00	30	0	0	30	12,900.00	100.00	430.00	43,000.00
126	PCDP-PUBLIC BIDDING	BAKING POWDER 1KG(BAKING POWDER 1KG)	BAG	10	0	0	10	960.00	10	0	0	10	960.00	10	0	0	10	960.00	10	0	0	10	960.00	40.00	96.00	3,840.00
127	PCDP-PUBLIC BIDDING	ODONG 290 GRAMS(ODONG 290 GRAMS)	PACK	150	0	0	150	1,575.00	150	0	0	150	1,575.00	150	0	0	150	1,575.00	150	0	0	150	1,575.00	600.00	10.50	6,300.00
128	PCDP-PUBLIC BIDDING	MILK CONDENSE 390 GRAMS(MILK CONDENSE 390 GRAMS)	TIN	60	0	0	60	1,950.00	60	0	0	60	1,950.00	60	0	0	60	1,950.00	60	0	0	60	1,950.00	240.00	32.50	7,800.00
129	PCDP-PUBLIC BIDDING	MILK EVAPORATED 370 ML(MILK EVAPORATED 370 ML)	TIN	60	0	0	60	2,160.00	60	0	0	60	2,160.00	60	0	0	60	2,160.00	60	0	0	60	2,160.00	240.00	36.00	8,640.00
130	PCDP-PUBLIC BIDDING	COFFEE 3 IN 1(COFFEE 3 IN 1)	BOX	150	0	0	150	549,000.00	150	0	0	150	549,000.00	150	0	0	150	549,000.00	150	0	0	150	549,000.00	600.00	3,660.00	2,196,000.00
131	PCDP-PUBLIC BIDDING	AJINOMOTO(AJINOMOTO)	DOZEN	30	0	0	30	1,350.00	30	0	0	30	1,350.00	30	0	0	30	1,350.00	30	0	0	30	1,350.00	120.00	45.00	5,400.00
132	PCDP-PUBLIC BIDDING	IODIZED SALT(IODIZED SALT)	SACK	1	0	0	1	396.00	1	0	0	1	396.00	1	0	0	1	396.00	1	0	0	1	396.00	4.00	396.00	1,584.00
133	PCDP-PUBLIC BIDDING	TURMERIC POWDER(TURMERIC POWDER)	KILO	30	0	0	30	1,950.00	30	0	0	30	1,950.00	30	0	0	30	1,950.00	30	0	0	30	1,950.00	120.00	65.00	7,800.00
134	PCDP-PUBLIC BIDDING	Q2O	KILO	100	0	0	100	4,000.00	100	0	0	100	4,000.00	100	0	0	100	4,000.00	100	0	0	100	4,000.00	400.00	40.00	16,000.00
135	PCDP-PUBLIC BIDDING	TUMON(TUMON)	KILO	100	0	0	100	6,000.00	100	0	0	100	6,000.00	100	0	0	100	6,000.00	100	0	0	100	6,000.00	400.00	60.00	24,000.00
136	PCDP-PUBLIC BIDDING	CARROTS(CARROTS)	KILO	500	0	0	500	40,000.00	500	0	0	500	40,000.00	500	0	0	500	40,000.00	500	0	0	500	40,000.00	2,000.00	80.00	160,000.00
137	PCDP-PUBLIC BIDDING	EGGS(EGGS)	TRAY	50	0	0	50	9,500.00	50	0	0	50	9,500.00	50	0	0	50	9,500.00	50	0	0	50	9,500.00	200.00	190.00	38,000.00
138	PCDP-PUBLIC BIDDING	Crispy fry(Crispy fry)	pack	50	0	0	50	2,750.00	50	0	0	50	2,750.00	50	0	0	50	2,750.00	50	0	0	50	2,750.00	200.00	55.00	11,000.00
139	PCDP-PUBLIC BIDDING	Mango(Mango)	kl.	500	0	0	500	40,000.00	500	0	0	500	40,000.00	500	0	0	500	40,000.00	500	0	0	500	40,000.00	2,000.00	80.00	160,000.00
140	PCDP-PUBLIC BIDDING	Bihon 1kg.(Bihon 1kg.)	Packs	30	0	0	30	3,000.00	30	0	0	30	3,000.00	30	0	0	30	3,000.00	30	0	0	30	3,000.00	120.00	100.00	12,000.00
141	PCDP-PUBLIC BIDDING	White Sugar 50kls.(White Sugar 50kls.)	Sacks	5	0	0	5	16,000.00	5	0	0	5	16,000.00	5	0	0	5	16,000.00	5	0	0	5	16,000.00	20.00	3,200.00	64,000.00

142	PCDP-PUBLIC BIDDING	Brown Sugar 50 kls(Brown Sugar 50 kls)	Sacks	10	0	0	10	25,000.00	10	0	0	10	25,000.00	10	0	0	10	25,000.00	10	0	0	10	25,000.00	40.00	2,500.00	100,000.00
143	PCDP-PUBLIC BIDDING	Broth Cubes Chicken(Broth Cubes Chicken)	Pieces	30	0	0	30	300.00	30	0	0	30	300.00	30	0	0	30	300.00	30	0	0	30	300.00	120.00	10.00	1,200.00
144	PCDP-PUBLIC BIDDING	Glutinous Rice 50kls.(Glutinous Rice 50kls.)	Sacks	25	0	0	25	75,000.00	25	0	0	25	75,000.00	25	0	0	25	75,000.00	25	0	0	25	75,000.00	100.00	3,000.00	300,000.00
145	PCDP-PUBLIC BIDDING	Ice Tea Powder 1kg.(Ice Tea Powder 1kg.)	Packs	40	0	0	40	4,000.00	40	0	0	40	4,000.00	40	0	0	40	4,000.00	40	0	0	40	4,000.00	160.00	100.00	16,000.00
146	PCDP-PUBLIC BIDDING	Ice Tea Powder 1kg.(Ice Tea Powder 1kg.)	Packs	30	0	0	30	3,000.00	30	0	0	30	3,000.00	30	0	0	30	3,000.00	30	0	0	30	3,000.00	120.00	100.00	12,000.00
147	PCDP-PUBLIC BIDDING	Tuna(Flakes in oil) 1.8kg 6/box(Tuna(Flakes in oil) 1.8kg 6/box)	Boxes	100	0	0	100	230,000.00	100	0	0	100	230,000.00	100	0	0	100	230,000.00	100	0	0	100	230,000.00	400.00	2,300.00	920,000.00
148	PCDP-PUBLIC BIDDING	Chicken Tocino Good Quality(Chicken Tocino Good Quality)	Kilos	150	0	0	150	45,000.00	150	0	0	150	45,000.00	150	0	0	150	45,000.00	150	0	0	150	45,000.00	600.00	300.00	180,000.00
149	PCDP-PUBLIC BIDDING	Mongo Beans(Mongo Beans)	Kilos	50	0	0	50	5,000.00	50	0	0	50	5,000.00	50	0	0	50	5,000.00	50	0	0	50	5,000.00	200.00	100.00	20,000.00
150	PCDP-PUBLIC BIDDING	Chunky Corned Beef (190g)(Chunky Corned Beef (190g))	cases	150	0	0	150	489,000.00	150	0	0	150	489,000.00	150	0	0	150	489,000.00	150	0	0	150	489,000.00	300.00	3,260.00	978,000.00
151	PCDP-PUBLIC BIDDING	Chunky Corned Beef (190g)(Chunky Corned Beef (190g))	cases	100	0	0	100	326,000.00	100	0	0	100	326,000.00	100	0	0	100	326,000.00	100	0	0	100	326,000.00	400.00	3,260.00	1,304,000.00
152	PCDP-PUBLIC BIDDING	cans(case)(Tuna Flakes in Oil 175g (48 cans/case))	cases	250	0	0	250	745,000.00	250	0	0	250	745,000.00	250	0	0	250	745,000.00	250	0	0	250	745,000.00	1,000.00	2,980.00	2,980,000.00
153	PCDP-PUBLIC BIDDING	Soy Sauce 1 Liter(Soy Sauce 1 Liter)	gals	80	0	0	80	10,400.00	80	0	0	80	10,400.00	80	0	0	80	10,400.00	80	0	0	80	10,400.00	320.00	130.00	41,600.00
154	PCDP-PUBLIC BIDDING	Cup Noodles 35g (Assorted Flavor)(Cup Noodles 35g (Assorted Flavor))	cases	100	0	0	100	195,000.00	100	0	0	100	195,000.00	100	0	0	100	195,000.00	100	0	0	100	195,000.00	400.00	1,950.00	780,000.00
155	PCDP-PUBLIC BIDDING	Spaghetti Pasta 1 kg(Spaghetti Pasta 1 kg)	packs	60	0	0	60	7,200.00	60	0	0	60	7,200.00	60	0	0	60	7,200.00	60	0	0	60	7,200.00	240.00	120.00	28,800.00
156	PCDP-PUBLIC BIDDING	Tomato Sauce 1 kg(Tomato Sauce 1 kg)	pks	100	0	0	100	22,000.00	100	0	0	100	22,000.00	100	0	0	100	22,000.00	100	0	0	100	22,000.00	400.00	220.00	88,000.00
157	PCDP-PUBLIC BIDDING	Raddish(Raddish)	klg	100	0	0	100	7,000.00	100	0	0	100	7,000.00	100	0	0	100	7,000.00	100	0	0	100	7,000.00	400.00	70.00	28,000.00
158	PCDP-PUBLIC BIDDING	Banana (Lakatan)(Banana (Lakatan))	klg	100	0	0	100	7,500.00	100	0	0	100	7,500.00	200	0	0	200	15,000.00	200	0	0	200	15,000.00	600.00	75.00	45,000.00
159	PCDP-PUBLIC BIDDING	Noodles Pack (Halal)(Noodles Pack (Halal))	case	150	0	0	150	71,700.00	150	0	0	150	71,700.00	150	0	0	150	71,700.00	150	0	0	150	71,700.00	600.00	478.00	286,800.00
160	PCDP-PUBLIC BIDDING	Pancit Canton (Halal)(Pancit Canton (Halal))	case	150	0	0	150	96,000.00	150	0	0	150	96,000.00	150	0	0	150	96,000.00	150	0	0	150	96,000.00	600.00	640.00	384,000.00
161	PCDP-PUBLIC BIDDING	Macaroni Elbow 1kg(Macaroni Elbow 1kg)	pack	50	0	0	50	4,415.00	50	0	0	50	4,415.00	50	0	0	50	4,415.00	50	0	0	50	4,415.00	200.00	88.30	17,660.00
162	PCDP-PUBLIC BIDDING	Pineapple Slice 432 grams(Pineapple Slice 432 grams)	tin	100	0	0	100	5,020.00	100	0	0	100	5,020.00	100	0	100	200	10,040.00	0	0	0	0	0.00	400.00	50.20	20,080.00
163	PCDP-PUBLIC BIDDING	Fish (Yellow Pin)(Fish (Yellow Pin))	Kilo	500	0	0	500	70,000.00	500	0	0	500	70,000.00	500	0	0	500	70,000.00	500	0	0	500	70,000.00	2,000.00	140.00	280,000.00
164	PCDP-PUBLIC BIDDING	Fish (Matam Baka)(Fish (Matam Baka))	Kilo	500	0	0	500	50,000.00	500	0	0	500	50,000.00	500	0	0	500	50,000.00	500	0	0	500	50,000.00	2,000.00	100.00	200,000.00
165	PCDP-PUBLIC BIDDING	Fish (Galunggong)(Fish (Galunggong))	Kilo	500	0	0	500	50,000.00	500	0	0	500	50,000.00	500	0	0	500	50,000.00	500	0	0	500	50,000.00	2,000.00	100.00	200,000.00
166	PCDP-PUBLIC BIDDING	Fish (Lauso)(Fish (Lauso))	Kilo	500	0	0	500	75,000.00	500	0	0	500	75,000.00	500	0	0	500	75,000.00	500	0	0	500	75,000.00	2,000.00	150.00	300,000.00
167	PCDP-PUBLIC BIDDING	Bell Pepper (Red & Green)(Bell Pepper (Red & Green))	kilo	500	0	0	500	40,000.00	500	0	0	500	40,000.00	500	0	0	500	40,000.00	500	0	0	500	40,000.00	2,000.00	80.00	160,000.00
168	PCDP-PUBLIC BIDDING	Smoke Fish (Tamban)(Smoke Fish (Tamban))	kilo	75	0	0	75	13,500.00	75	0	0	75	13,500.00	75	0	0	75	13,500.00	75	0	0	75	13,500.00	300.00	180.00	54,000.00
169	PCDP-PUBLIC BIDDING	Dried Fish (Dilis)(Dried Fish (Dilis))	kilo	100	0	0	100	15,000.00	100	0	0	100	15,000.00	100	0	0	100	15,000.00	100	0	0	100	15,000.00	400.00	150.00	60,000.00
170	PCDP-PUBLIC BIDDING	Dried Fish (Tamban)(Dried Fish (Tamban))	kilo	100	0	0	100	16,000.00	100	0	0	100	16,000.00	100	0	0	100	16,000.00	100	0	0	100	16,000.00	400.00	160.00	64,000.00
171	PCDP-PUBLIC BIDDING	Dried Fish (Sulig)(Dried Fish (Sulig))	kilo	100	0	0	100	17,000.00	100	0	0	100	17,000.00	100	0	0	100	17,000.00	100	0	0	100	17,000.00	400.00	170.00	68,000.00
172	PCDP-PUBLIC BIDDING	Dried Fish (Matam Baka)(Dried Fish (Matam Baka))	kilo	100	0	0	100	16,000.00	100	0	0	100	16,000.00	100	0	0	100	16,000.00	100	0	0	100	16,000.00	400.00	160.00	64,000.00
173	PCDP-PUBLIC BIDDING	pineapple chunks(pineapple chunks)	can	100	0	0	100	6,575.00	100	0	0	100	6,575.00	100	0	100	200	13,150.00	0	0	0	0	0.00	400.00	65.75	26,300.00
174	PCDP-PUBLIC BIDDING	Carrots(Carrots)	klg.	100	0	0	100	12,000.00	100	0	0	100	12,000.00	100	0	0	100	12,000.00	100	0	0	100	12,000.00	400.00	120.00	48,000.00
175	PCDP-PUBLIC BIDDING	Ginger(Ginger)	klg.	100	0	0	100	15,000.00	100	0	0	100	15,000.00	100	0	0	100	15,000.00	100	0	0	100	15,000.00	400.00	150.00	60,000.00
176	PCDP-PUBLIC BIDDING	Cooking Oil(Cooking Oil)	gallons	80	0	0	80	144,000.00	80	0	0	80	144,000.00	80	0	0	80	144,000.00	80	0	0	80	144,000.00	320.00	1,800.00	576,000.00
177	PCDP-PUBLIC BIDDING	Garlic(Garlic)	kilos	100	0	0	100	18,000.00	100	0	0	100	18,000.00	100	0	0	100	18,000.00	100	0	0	100	18,000.00	400.00	180.00	72,000.00
178	PCDP-PUBLIC BIDDING	Nestogen 2-900g(Nestogen 2-900g)	cases	10	0	0	10	52,000.00	10	0	0	10	52,000.00	10	0	0	10	52,000.00	10	0	0	10	52,000.00	40.00	5,200.00	208,000.00
179	PCDP-PUBLIC BIDDING	sotanghon 1kg(sotanghon 1kg)	kilos	50	0	0	50	20,000.00	30	0	0	30	12,000.00	30	0	0	30	12,000.00	20	0	0	20	8,000.00	130.00	400.00	52,000.00
180	PCDP-PUBLIC BIDDING	Orange juice powder(Orange juice powder)	case	20	0	0	20	34,495.00	20	0	0	20	34,495.00	20	0	0	40	68,990.00	0	0	0	0	0.00	80.00	1,724.75	137,980.00

181	PCDP-PUBLIC BIDDING	Beef meat(Beef meat)	kl.	1000	0	0	1000	350,000.00	1000	0	0	1000	350,000.00	1000	0	0	1000	350,000.00	1000	0	0	1000	350,000.00	4,000.00	350.00	1,400,000.00
182	PCDP-PUBLIC BIDDING	Sayote(Sayote)	pc	100	0	0	100	3,000.00	100	0	0	100	3,000.00	100	0	0	100	3,000.00	100	0	0	100	3,000.00	400.00	30.00	12,000.00
183	PCDP-PUBLIC BIDDING	Lettuce(Lettuce)	kl.	100	0	0	100	20,000.00	100	0	0	100	20,000.00	100	0	0	100	20,000.00	100	0	0	100	20,000.00	400.00	200.00	80,000.00
184	PCDP-PUBLIC BIDDING	Lettuce(Lettuce)	kl.	100	0	0	100	20,000.00	100	0	0	100	20,000.00	100	0	0	100	20,000.00	100	0	0	100	20,000.00	400.00	200.00	80,000.00
185	PCDP-PUBLIC BIDDING	coloured skin; moderately well developed seeds; free from foreign	KLS	100	0	0	100	8,000.00	100	0	0	100	8,000.00	100	0	0	100	8,000.00	100	0	0	100	8,000.00	400.00	80.00	32,000.00
186	PCDP-PUBLIC BIDDING	CHICKEN CUBE(100% CHICKEN AND HALAL)	PCS	40	0	0	40	200.00	40	0	0	40	200.00	40	0	0	40	200.00	40	0	0	40	200.00	160.00	5.00	800.00
187	PCDP-PUBLIC BIDDING	CHEESE(440 GRAMS)	PACK	30	0	0	30	5,190.00	30	0	0	30	5,190.00	30	0	0	30	5,190.00	30	0	0	30	5,190.00	120.00	173.00	20,760.00
188	PCDP-PUBLIC BIDDING	PINEAPPLE SLICE(432 GRAMS)	TIN	50	0	0	50	2,510.00	50	0	0	50	2,510.00	50	0	0	50	2,510.00	50	0	0	50	2,510.00	200.00	50.20	10,040.00
189	PCDP-PUBLIC BIDDING	SARDINES ((155gX100's) , tomato sauce)	BOX	200	0	0	200	300,000.00	200	0	0	200	300,000.00	200	0	0	200	300,000.00	200	0	0	200	300,000.00	800.00	1,500.00	1,200,000.00
190	PCDP-PUBLIC BIDDING	Calamansi(Calamansi)	kilos	100	0	0	100	6,000.00	100	0	0	100	6,000.00	100	0	100	200	12,000.00	0	0	0	0	0.00	400.00	60.00	24,000.00
191	PCDP-PUBLIC BIDDING	Squid Balls(squid balla 500 g)	kilos	150	0	0	150	25,500.00	150	0	0	150	25,500.00	150	0	0	150	25,500.00	150	0	0	150	25,500.00	600.00	170.00	102,000.00
192	PCDP-PUBLIC BIDDING	Chicken Nuggets(Chicken Nuggets 500g)	packs	100	0	0	100	28,500.00	100	0	0	100	28,500.00	100	0	0	100	28,500.00	100	0	0	100	28,500.00	400.00	285.00	114,000.00
193	PCDP-PUBLIC BIDDING	TEMPURA(100% SQUI)	KILO	150	0	0	150	44,040.00	150	0	0	150	44,040.00	150	0	0	150	44,040.00	150	0	0	150	44,040.00	600.00	293.60	176,160.00
194	PCDP-PUBLIC BIDDING	CHICKEN HOTDOG(100% CHICKEN)	KG	200	0	0	200	44,000.00	200	0	0	200	44,000.00	200	0	0	200	44,000.00	200	0	0	200	44,000.00	800.00	220.00	176,000.00
195	PCDP-PUBLIC BIDDING	PEAS(GREEN)	25 GRAMS/CA	30	0	0	30	900.00	30	0	0	30	900.00	30	0	0	30	900.00	30	0	0	30	900.00	120.00	30.00	3,600.00
196	PCDP-PUBLIC BIDDING	eggplant(good quality)	kilo	100	0	0	100	12,000.00	100	0	0	100	12,000.00	100	0	0	100	12,000.00	100	0	0	100	12,000.00	400.00	120.00	48,000.00
197	PCDP-PUBLIC BIDDING	Flour All purpose ((FIRST CLASS - 25 KLS))	SACK	25	0	0	25	25,000.00	25	0	0	25	25,000.00	25	0	0	25	25,000.00	25	0	0	25	25,000.00	100.00	1,000.00	100,000.00
198	PCDP-PUBLIC BIDDING	PYUTO(MUSLIM DELICACIES)	PCD	0	0	0	0	0.00	300	0	0	300	2,100.00	300	0	300	600	4,200.00	0	0	0	0	0.00	900.00	7.00	6,300.00
199	PCDP-PUBLIC BIDDING	HOPIA BREAD(100% MONGO)	PCS	1000	0	0	1000	8,000.00	1000	0	0	1000	8,000.00	1000	0	0	1000	8,000.00	1000	0	0	1000	8,000.00	4,000.00	8.00	32,000.00
200	PCDP-PUBLIC BIDDING	MONGO BREAD(100% MONGO BREAD)	PCS	1000	0	0	1000	10,000.00	1000	0	0	1000	10,000.00	1000	0	0	1000	10,000.00	1000	0	0	1000	10,000.00	4,000.00	10.00	40,000.00
201	PCDP-PUBLIC BIDDING	CHEESE BREAD(100% CHEESE)	PCS	1000	0	0	1000	10,000.00	1000	0	0	1000	10,000.00	1000	0	0	1000	10,000.00	1000	0	0	1000	10,000.00	4,000.00	10.00	40,000.00
202	PCDP-PUBLIC BIDDING	SYANGLAK(ROOT CROF)	PACK	0	0	300	300	3,000.00	300	0	0	300	3,000.00	300	0	300	600	6,000.00	0	0	0	0	0.00	1,200.00	10.00	12,000.00
203	PCDP-PUBLIC BIDDING	AGAR-AGAR(SEAWEEDES)	SACK	300	0	0	300	90,000.00	300	0	0	300	90,000.00	300	0	300	600	180,000.00	0	0	0	0	0.00	1,200.00	300.00	360,000.00
204	PCDP-PUBLIC BIDDING	White Pilit(Pilit)	KLS	5	0	0	5	500.00	5	0	0	5	500.00	5	0	0	5	500.00	5	0	0	5	500.00	20.00	100.00	2,000.00
205	PCDP-PUBLIC BIDDING	Coffee (Black /Classic) - (30 x 100 gram)	Cases / Box	50	0	0	50	200,000.00	50	0	0	50	200,000.00	50	0	0	50	200,000.00	50	0	0	50	200,000.00	200.00	4,000.00	800,000.00
206	PCDP-PUBLIC BIDDING	Fish (Matambaka) (Large size and fresh)	KLS	1000	0	0	1000	250,000.00	1000	0	0	1000	250,000.00	1000	0	0	1000	250,000.00	1000	0	0	1000	250,000.00	4,000.00	250.00	1,000,000.00
207	PCDP-PUBLIC BIDDING	Fish (Lauso)(Large size and fresh)	KLS	1000	0	0	1000	400,000.00	1000	0	0	1000	400,000.00	1000	0	0	1000	400,000.00	1000	0	0	1000	400,000.00	4,000.00	400.00	1,600,000.00
208	PCDP-PUBLIC BIDDING	Fish (Galunggong) (Small and fresh)	KLS	1000	0	0	1000	200,000.00	1000	0	0	1000	200,000.00	1000	0	0	1000	200,000.00	1000	0	0	1000	200,000.00	4,000.00	200.00	800,000.00
209	PCDP-PUBLIC BIDDING	Fish (Tulungan)(Large size and fresh)	KLS	1000	0	0	1000	300,000.00	1000	0	0	1000	300,000.00	1000	0	0	1000	300,000.00	1000	0	0	1000	300,000.00	4,000.00	300.00	1,200,000.00
210	PCDP-PUBLIC BIDDING	Fresh Whole Dressed Chicken	KLS	0	0	0	0	0.00	0	0	4000	4000	800,000.00	0	0	0	0	0.00	0	0	4000	4000	800,000.00	8,000.00	200.00	1,600,000.00
211	PCDP	BOTTLE JUICE ; BOTTLED JUICE ANY FLAVOR	Cases	10	0	0	10	550.00	0	10	0	10	550.00	0	10	0	10	550.00	0	10	0	10	550.00	40.00	55.00	2,200.00
211	HFE-PUBLIC BIDDING	PINEAPPLE JUICE(PINEAPPLE JUICE)	CAN	200	0	0	200	18,000.00	200	0	0	200	18,000.00	200	0	0	200	18,000.00	200	0	0	200	18,000.00	800.00	90.00	72,000.00
212	HFE-PUBLIC BIDDING	APPLE(APPLE)	BOX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10	0	0	10	25,000.00	10.00	2,500.00	25,000.00
213	HFE-PUBLIC BIDDING	COOKING OIL(COOKING OIL)	CONTAINER	6	0	0	6	9,000.00	6	0	0	6	9,000.00	6	0	0	6	9,000.00	6	0	0	6	9,000.00	24.00	1,500.00	36,000.00
214	HFE-PUBLIC BIDDING	GROUND BEEF(GROUND BEEF)	KILO	50	0	0	50	15,000.00	50	0	0	50	15,000.00	50	0	0	50	15,000.00	50	0	0	50	15,000.00	200.00	300.00	60,000.00
215	HFE-PUBLIC BIDDING	SAYOTE(SAYOTE)	PIECE	50	0	0	50	500.00	50	0	0	50	500.00	50	0	0	50	500.00	50	0	0	50	500.00	200.00	10.00	2,000.00
216	HFE-PUBLIC BIDDING	FRUIT COCKTAIL 1 KG.(FRUIT COCKTAIL 1 KG.)	CAN	20	0	0	20	4,000.00	20	0	0	20	4,000.00	20	0	0	20	4,000.00	20	0	0	20	4,000.00	80.00	200.00	16,000.00
217	HFE-PUBLIC BIDDING	NATA DE COCO 340G(NATA DE COCO 340G)	BOTTLE	35	0	0	35	3,500.00	35	0	0	35	3,500.00	35	0	0	35	3,500.00	35	0	0	35	3,500.00	140.00	100.00	14,000.00

218	HFE-PUBLIC BIDDING	OYSTER SAUCE 750ML(OYSTER SAUCE 750ML)	BOTTLE	16	0	0	16	1,920.00	16	0	0	16	1,920.00	16	0	0	16	1,920.00	16	0	0	16	1,920.00	64.00	120.00	7,680.00
219	HFE-PUBLIC BIDDING	SOTANGHON 1KG.(SOTANGHON 1KG.)	KILO	40	0	0	40	8,000.00	40	0	0	40	8,000.00	40	0	0	40	8,000.00	40	0	0	40	8,000.00	160.00	200.00	32,000.00
220	HFE-PUBLIC BIDDING	RED SQUASH(RED SQUASH)	KILO	30	0	0	30	600.00	30	0	0	30	600.00	30	0	0	30	600.00	30	0	0	30	600.00	120.00	20.00	2,400.00
221	HFE-PUBLIC BIDDING	WHITE SQUASH(WHITE SQUASH)	PIECE	50	0	0	50	1,750.00	50	0	0	50	1,750.00	50	0	0	50	1,750.00	50	0	0	50	1,750.00	200.00	35.00	7,000.00
222	HFE-PUBLIC BIDDING	TOMATOES(TOMATOES)	KILO	10	0	0	10	500.00	10	0	0	10	500.00	10	0	0	10	500.00	10	0	0	10	500.00	40.00	50.00	2,000.00
223	HFE-PUBLIC BIDDING	3-in-1 Coffee Blanca 30s(3-in-1 Coffee Blanca 30s)	Packs	90	0	0	90	21,600.00	90	0	0	90	21,600.00	90	0	0	90	21,600.00	90	0	0	90	21,600.00	360.00	240.00	86,400.00
224	HFE-PUBLIC BIDDING	All-purpose Cream 250ml(All-purpose Cream 250ml)	Pouch	70	0	0	70	3,500.00	70	0	0	70	3,500.00	70	0	0	70	3,500.00	70	0	0	70	3,500.00	280.00	50.00	14,000.00
225	HFE-PUBLIC BIDDING	Biscuits in pail 2.5kg(Biscuits in pail 2.5kg)	Pails	80	0	0	80	28,000.00	80	0	0	80	28,000.00	80	0	0	80	28,000.00	80	0	0	80	28,000.00	320.00	350.00	112,000.00
226	HFE-PUBLIC BIDDING	White Sugar 50kls.(White Sugar 50kls.)	Sacks	5	0	0	5	16,000.00	5	0	0	5	16,000.00	5	0	0	5	16,000.00	5	0	0	5	16,000.00	20.00	3,200.00	64,000.00
227	HFE-PUBLIC BIDDING	Brown Sugar 50 kls(Brown Sugar 50 kls)	Sacks	6	0	0	6	15,000.00	6	0	0	6	15,000.00	6	0	0	6	15,000.00	6	0	0	6	15,000.00	24.00	2,500.00	60,000.00
228	HFE-PUBLIC BIDDING	CHOCOLATE DRINK(1KG.9/BOX/GOOD QUALITY)	BOXES	20	0	0	20	42,000.00	20	0	0	20	42,000.00	20	0	0	20	42,000.00	20	0	0	20	42,000.00	80.00	2,100.00	168,000.00
229	HFE-PUBLIC BIDDING	CREAM STYLE SWEETCORN (425MG/GOOD QUALITY)	CANS	15	0	0	15	525.00	15	0	0	15	525.00	15	0	0	15	525.00	15	0	0	15	525.00	60.00	35.00	2,100.00
230	HFE-PUBLIC BIDDING	Catsup 1L(Catsup 1L)	Bottle	30	0	0	30	1,650.00	30	0	0	30	1,650.00	30	0	0	30	1,650.00	30	0	0	30	1,650.00	120.00	55.00	6,600.00
231	HFE-PUBLIC BIDDING	Curry Powder 200g(Curry Powder 200g)	Packs	30	0	0	30	4,500.00	30	0	0	30	4,500.00	30	0	0	30	4,500.00	30	0	0	30	4,500.00	120.00	150.00	18,000.00
232	HFE-PUBLIC BIDDING	Cocoa Powder 500g(Cocoa Powder 500g)	Packs	20	0	0	20	5,000.00	20	0	0	20	5,000.00	20	0	0	20	5,000.00	20	0	0	20	5,000.00	80.00	250.00	20,000.00
233	HFE-PUBLIC BIDDING	Corned Beef 1.8g 6/boxes(Corned Beef 1.8g 6/boxes)	Boxes	20	0	0	20	48,000.00	20	0	0	20	48,000.00	20	0	0	20	48,000.00	20	0	0	20	48,000.00	80.00	2,400.00	192,000.00
234	HFE-PUBLIC BIDDING	Evaporated Milk 370ml(Evaporated Milk 370ml)	Cans	30	0	0	30	1,050.00	30	0	0	30	1,050.00	30	0	0	30	1,050.00	30	0	0	30	1,050.00	120.00	35.00	4,200.00
235	HFE-PUBLIC BIDDING	Green Peas 450g(Green Peas 450g)	Cans	20	0	0	20	700.00	20	0	0	20	700.00	20	0	0	20	700.00	20	0	0	20	700.00	80.00	35.00	2,800.00
236	HFE-PUBLIC BIDDING	Ground Pepper 200g(Ground Pepper 200g)	Packs	10	0	0	10	2,500.00	10	0	0	10	2,500.00	10	0	0	10	2,500.00	10	0	0	10	2,500.00	40.00	250.00	10,000.00
237	HFE-PUBLIC BIDDING	Macaroni 1kg.(Macaroni 1kg.)	Kilos	25	0	0	25	2,500.00	25	0	0	25	2,500.00	25	0	0	25	2,500.00	25	0	0	25	2,500.00	100.00	100.00	10,000.00
238	HFE-PUBLIC BIDDING	Pork & Beans 48/box(Pork & Beans 48/box)	Boxes	5	0	0	5	6,500.00	5	0	0	5	6,500.00	5	0	0	5	6,500.00	5	0	0	5	6,500.00	20.00	1,300.00	26,000.00
239	HFE-PUBLIC BIDDING	Powdered Milk 1 kg.(Powdered Milk 1 kg.)	Packs	70	0	0	70	28,000.00	70	0	0	70	28,000.00	70	0	0	70	28,000.00	70	0	0	70	28,000.00	280.00	400.00	112,000.00
240	HFE-PUBLIC BIDDING	Rice 50kls.(Rice 50kls.)	Sacks	50	0	0	50	125,000.00	50	0	0	50	125,000.00	50	0	0	50	125,000.00	50	0	0	50	125,000.00	200.00	2,500.00	500,000.00
241	HFE-PUBLIC BIDDING	Salt 1kg. (Fine/Iodized)(Salt 1kg. (Fine/Iodized))	Packs	10	0	0	10	550.00	10	0	0	10	550.00	10	0	0	10	550.00	10	0	0	10	550.00	40.00	55.00	2,200.00
242	HFE-PUBLIC BIDDING	Sardines 155g 100s(Sardines 155g 100s)	Boxes	3	0	0	3	7,500.00	3	0	0	3	7,500.00	3	0	0	3	7,500.00	3	0	0	3	7,500.00	12.00	2,500.00	30,000.00
243	HFE-PUBLIC BIDDING	Sausage 175g 48s(Sausage 175g 48s)	Boxes	6	0	0	6	8,400.00	6	0	0	6	8,400.00	6	0	0	6	8,400.00	6	0	0	6	8,400.00	24.00	1,400.00	33,600.00
244	HFE-PUBLIC BIDDING	Seasoning Powder 250g(Seasoning Powder 250g)	Packs	10	0	0	10	750.00	10	0	0	10	750.00	10	0	0	10	750.00	10	0	0	10	750.00	40.00	75.00	3,000.00
245	HFE-PUBLIC BIDDING	Soy Sauce 1 gal.(Soy Sauce 1 gal.)	Gallon	10	0	0	10	1,200.00	10	0	0	10	1,200.00	10	0	0	10	1,200.00	10	0	0	10	1,200.00	40.00	120.00	4,800.00
246	HFE-PUBLIC BIDDING	Spaghetti Pasta 1kg.(Spaghetti Pasta 1kg.)	Kilos	40	0	0	40	4,000.00	40	0	0	40	4,000.00	40	0	0	40	4,000.00	40	0	0	40	4,000.00	160.00	100.00	16,000.00
247	HFE-PUBLIC BIDDING	Spaghetti Sauce 1kg.(Spaghetti Sauce 1kg.)	Packs	40	0	0	40	4,000.00	40	0	0	40	4,000.00	40	0	0	40	4,000.00	40	0	0	40	4,000.00	160.00	100.00	16,000.00
248	HFE-PUBLIC BIDDING	Tomato Sauce 1kg.(Tomato Sauce 1kg.)	Pack	10	0	0	10	800.00	10	0	0	10	800.00	10	0	0	10	800.00	10	0	0	10	800.00	40.00	80.00	3,200.00
249	HFE-PUBLIC BIDDING	Tuna(Flakes in oil) 1.8kg 6/box(Tuna(Flakes in oil) 1.8kg 6/box)	Boxes	15	0	0	15	34,500.00	15	0	0	15	34,500.00	15	0	0	15	34,500.00	15	0	0	15	34,500.00	60.00	2,300.00	138,000.00
250	HFE-PUBLIC BIDDING	Chicken Tocino Good Quality(Chicken Tocino Good Quality)	Kilos	100	0	0	100	30,000.00	150	0	0	150	45,000.00	150	0	0	150	45,000.00	150	0	0	150	45,000.00	550.00	300.00	165,000.00
251	HFE-PUBLIC BIDDING	Hot Dog Good Quality 1kg.(Hot Dog Good Quality 1kg.)	Packs	150	0	0	150	37,500.00	150	0	0	150	37,500.00	150	0	0	150	37,500.00	150	0	0	150	37,500.00	600.00	250.00	150,000.00
252	HFE-PUBLIC BIDDING	Beef Tapa(Beef Tapa)	Kilos	100	0	0	100	37,500.00	150	0	0	150	56,250.00	150	0	0	150	56,250.00	150	0	0	150	56,250.00	550.00	375.00	206,250.00
253	HFE-PUBLIC BIDDING	Chicken Ham(Chicken Ham)	Kilos	100	0	0	100	35,000.00	150	0	0	150	52,500.00	150	0	0	150	52,500.00	150	0	0	150	52,500.00	550.00	350.00	192,500.00
254	HFE-PUBLIC BIDDING	Kikiam(Kikiam)	Kilos	100	0	0	100	30,000.00	150	0	0	150	45,000.00	150	0	0	150	45,000.00	150	0	0	150	45,000.00	550.00	300.00	165,000.00
255	HFE-PUBLIC BIDDING	Fish Balls(Fish Balls)	Kilos	100	0	0	100	30,000.00	150	0	0	150	45,000.00	150	0	0	150	45,000.00	150	0	0	150	45,000.00	550.00	300.00	165,000.00
256	HFE-PUBLIC BIDDING	Lumpia Shanghai(Lumpia Shanghai)	Kilos	100	0	0	100	35,000.00	150	0	0	150	52,500.00	150	0	0	150	52,500.00	150	0	0	150	52,500.00	550.00	350.00	192,500.00

257	HFE-PUBLIC BIDDING	Beef Lean Meat(Beef Lean Meat)	Kilos	200	0	0	200	50,000.00	200	0	0	200	50,000.00	200	0	0	200	50,000.00	200	0	0	200	50,000.00	800.00	250.00	200,000.00
258	HFE-PUBLIC BIDDING	Beef Kanchi(Beef Kanchi)	Kilos	150	0	0	150	34,500.00	150	0	0	150	34,500.00	150	0	0	150	34,500.00	150	0	0	150	34,500.00	600.00	230.00	138,000.00
259	HFE-PUBLIC BIDDING	Pork Lean Meat(Pork Lean Meat)	Kilos	200	0	0	200	48,000.00	200	0	0	200	48,000.00	200	0	0	200	48,000.00	200	0	0	200	48,000.00	800.00	240.00	192,000.00
260	HFE-PUBLIC BIDDING	Pork Pata(Pork Pata)	Kilos	100	0	0	100	18,000.00	100	0	0	100	18,000.00	100	0	0	100	18,000.00	100	0	0	100	18,000.00	400.00	180.00	72,000.00
261	HFE-PUBLIC BIDDING	Chicken Liver(Chicken Liver)	kilos	50	0	0	50	10,000.00	50	0	0	50	10,000.00	50	0	0	50	10,000.00	50	0	0	50	10,000.00	200.00	200.00	40,000.00
262	HFE-PUBLIC BIDDING	Ampalaya(Ampalaya)	Kilos	40	0	0	40	4,000.00	40	0	0	40	4,000.00	40	0	0	40	4,000.00	40	0	0	40	4,000.00	160.00	100.00	16,000.00
263	HFE-PUBLIC BIDDING	Carrots(Carrots)	Kilos	15	0	0	15	2,250.00	15	0	0	15	2,250.00	15	0	0	15	2,250.00	15	0	0	15	2,250.00	60.00	150.00	9,000.00
264	HFE-PUBLIC BIDDING	Cauliflower(Cauliflower)	Kilos	10	0	0	10	2,500.00	10	0	0	10	2,500.00	10	0	0	10	2,500.00	10	0	0	10	2,500.00	40.00	250.00	10,000.00
265	HFE-PUBLIC BIDDING	Eggplant(Eggplant)	Kilos	20	0	0	20	1,000.00	20	0	0	20	1,000.00	20	0	0	20	1,000.00	20	0	0	20	1,000.00	80.00	50.00	4,000.00
266	HFE-PUBLIC BIDDING	Garlic(Garlic)	Kilos	20	0	0	20	2,800.00	20	0	0	20	2,800.00	20	0	0	20	2,800.00	20	0	0	20	2,800.00	80.00	140.00	11,200.00
267	HFE-PUBLIC BIDDING	Ginger(Ginger)	Kilos	15	0	0	15	750.00	15	0	0	15	750.00	15	0	0	15	750.00	15	0	0	15	750.00	60.00	50.00	3,000.00
268	HFE-PUBLIC BIDDING	Mongo Beans(Mongo Beans)	Kilos	5	0	0	5	500.00	5	0	0	5	500.00	5	0	0	5	500.00	5	0	0	5	500.00	20.00	100.00	2,000.00
269	HFE-PUBLIC BIDDING	Okra(Okra)	Bundles	30	0	0	30	450.00	30	0	0	30	450.00	30	0	0	30	450.00	30	0	0	30	450.00	120.00	15.00	1,800.00
270	HFE-PUBLIC BIDDING	Potatoes(Potatoes)	Kilos	30	0	0	30	4,500.00	30	0	0	30	4,500.00	30	0	0	30	4,500.00	30	0	0	30	4,500.00	120.00	150.00	18,000.00
271	HFE-PUBLIC BIDDING	Radish(Radish)	Kilos	15	0	0	15	900.00	15	0	0	15	900.00	15	0	0	15	900.00	15	0	0	15	900.00	60.00	60.00	3,600.00
272	HFE-PUBLIC BIDDING	Red Onions(Red Onions)	Kilos	30	0	0	30	3,600.00	30	0	0	30	3,600.00	30	0	0	30	3,600.00	30	0	0	30	3,600.00	120.00	120.00	14,400.00
273	HFE-PUBLIC BIDDING	Sweet Potatoes(Sweet Potatoes)	Kilos	200	0	0	200	10,000.00	200	0	0	200	10,000.00	200	0	0	200	10,000.00	200	0	0	200	10,000.00	800.00	50.00	40,000.00
274	HFE-PUBLIC BIDDING	Cheese 200g(Cheese 200g)	Bars	35	0	0	35	2,100.00	35	0	0	35	2,100.00	35	0	0	35	2,100.00	35	0	0	35	2,100.00	140.00	60.00	8,400.00
275	HFE-PUBLIC BIDDING	Salt 1kg (Rock/Iodized)(Salt 1kg (Rock/Iodized))	Pack	10	0	0	10	300.00	10	0	0	10	300.00	10	0	0	10	300.00	10	0	0	10	300.00	40.00	30.00	1,200.00
276	HFE-PUBLIC BIDDING	Tumon(Tumon)	Kilos	50	0	0	50	1,750.00	50	0	0	50	1,750.00	50	0	0	50	1,750.00	50	0	0	50	1,750.00	200.00	35.00	7,000.00
277	HFE-PUBLIC BIDDING	Lapu-lapu(Lapu-lapu)	Kilos	100	0	0	100	30,000.00	100	0	0	100	30,000.00	100	0	0	100	30,000.00	100	0	0	100	30,000.00	400.00	300.00	120,000.00
278	HFE-PUBLIC BIDDING	Tuna(Tuna)	kilos	200	0	0	200	60,000.00	200	0	0	200	60,000.00	200	0	0	200	60,000.00	200	0	0	200	60,000.00	800.00	300.00	240,000.00
279	HFE-PUBLIC BIDDING	Palit(Palit)	Kilo	150	0	0	150	45,000.00	150	0	0	150	45,000.00	150	0	0	150	45,000.00	150	0	0	150	45,000.00	600.00	300.00	180,000.00
280	HFE-PUBLIC BIDDING	Prawns(Prawns)	Kilos	0	0	0	0	0.00	0	0	0	0	0.00	150	0	0	150	90,000.00	150	0	0	150	90,000.00	300.00	600.00	180,000.00
281	HFE-PUBLIC BIDDING	Squids(Squids)	Kilos	100	0	0	100	30,000.00	100	0	0	100	30,000.00	100	0	0	100	30,000.00	100	0	0	100	30,000.00	400.00	300.00	120,000.00
282	HFE-PUBLIC BIDDING	Banana (Lakatan)(Banana (Lakatan))	Kilos	100	0	0	100	5,000.00	100	0	0	100	5,000.00	100	0	0	100	5,000.00	100	0	0	100	5,000.00	400.00	50.00	20,000.00
283	HFE-PUBLIC BIDDING	Sunkist(Sunkist)	Boxes	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10	0	0	10	10,000.00	10.00	1,000.00	10,000.00
284	HFE-PUBLIC BIDDING	Watermelon(Watermelon)	Kilos	100	0	0	100	6,000.00	100	0	0	100	6,000.00	100	0	0	100	6,000.00	100	0	0	100	6,000.00	400.00	60.00	24,000.00
285	HFE-PUBLIC BIDDING	Grapes(Grapes)	kilos	0	0	0	0	0.00	0	0	0	0	0.00	50	0	0	50	20,000.00	50	0	0	50	20,000.00	100.00	400.00	40,000.00
286	HFE-PUBLIC BIDDING	Sweet Corn Kernel In Can 280g(Sweet Corn Kernel In Can 280g)	Can	0	0	0	0	0.00	15	0	0	15	525.00	30	0	0	30	1,050.00	30	0	0	30	1,050.00	75.00	35.00	2,625.00
287	HFE-PUBLIC BIDDING	Banana Sabal(Banana Sabal)	bunches	150	0	0	150	10,500.00	150	0	0	150	10,500.00	150	0	0	150	10,500.00	150	0	0	150	10,500.00	600.00	70.00	42,000.00
288	HFE-PUBLIC BIDDING	Ponkan(Ponkan)	Boxes	4	0	0	4	2,000.00	4	0	0	4	2,000.00	4	0	0	4	2,000.00	4	0	0	4	2,000.00	16.00	500.00	8,000.00
289	HFE-PUBLIC BIDDING	Lanzones(Lanzones)	Boxes	0	0	0	0	0.00	0	0	0	0	0.00	2	0	0	2	2,000.00	2	0	0	2	2,000.00	4.00	1,000.00	4,000.00
290	HFE-PUBLIC BIDDING	PINEAPPLE JUICE(1 L SWEETENED/GOOD QUALITY)	CAN	45	0	0	45	4,950.00	45	0	0	45	4,950.00	45	0	0	45	4,950.00	45	0	0	45	4,950.00	180.00	110.00	19,800.00
291	HFE-PUBLIC BIDDING	Mangosteen(Mangosteen)	Kilos	0	0	0	0	0.00	0	0	0	0	0.00	50	0	0	50	7,500.00	50	0	0	50	7,500.00	100.00	150.00	15,000.00
292	HFE-PUBLIC BIDDING	Crabs (Kuracha)(Crabs (Kuracha))	Kilo	0	0	0	0	0.00	0	0	0	0	0.00	200	0	0	200	76,000.00	200	0	0	200	76,000.00	400.00	380.00	152,000.00
293	HFE-PUBLIC BIDDING	Cabbage(Cabbage)	Kilos	10	0	0	10	1,000.00	10	0	0	10	1,000.00	10	0	0	10	1,000.00	10	0	0	10	1,000.00	40.00	100.00	4,000.00
294	HFE-PUBLIC BIDDING	Vinegar(Vinegar)	Gallon	10	0	0	10	1,200.00	10	0	0	10	1,200.00	10	0	0	10	1,200.00	10	0	0	10	1,200.00	40.00	120.00	4,800.00
295	HFE-PUBLIC BIDDING	Shrimps (Ikon)(Shrimps (Ikon))	kilos	150	0	0	150	75,000.00	150	0	0	150	75,000.00	150	0	0	150	75,000.00	150	0	0	150	75,000.00	600.00	500.00	300,000.00

296	HFE-PUBLIC BIDDING	Papaya(Papaya)	kl.	100	0	0	100	5,000.00	100	0	0	100	5,000.00	100	0	0	100	5,000.00	100	0	0	100	5,000.00	400.00	50.00	20,000.00
297	HFE-PUBLIC BIDDING	PINEAPPLE CHUNKS (450G/GOOD QUALITY)	CANS	50	0	0	50	2,500.00	50	0	0	50	2,500.00	50	0	0	50	2,500.00	50	0	0	50	2,500.00	200.00	50.00	10,000.00
298	HFE-PUBLIC BIDDING	ICE TEA (POWDERED;1KG/GOOD QUALITY)	PACKS	24	0	0	24	2,400.00	24	0	0	24	2,400.00	24	0	0	24	2,400.00	24	0	0	24	2,400.00	96.00	100.00	9,600.00
299	HFE-PUBLIC BIDDING	KAONG(COLORED 12S/GOOD QUALITY)	BOTTLE	25	0	0	25	2,500.00	25	0	0	25	2,500.00	25	0	0	25	2,500.00	25	0	0	25	2,500.00	100.00	100.00	10,000.00
300	HFE-PUBLIC BIDDING	LIPTON TEA(50S/GOOD QUALITY)	BOXES	15	0	0	15	3,000.00	15	0	0	15	3,000.00	15	0	0	15	3,000.00	15	0	0	15	3,000.00	60.00	200.00	12,000.00
301	HFE-PUBLIC BIDDING	LAUREL LEAF(GOOD QUALITY)	KILOS	3	0	0	3	1,500.00	3	0	0	3	1,500.00	3	0	0	3	1,500.00	3	0	0	3	1,500.00	12.00	500.00	6,000.00
302	HFE-PUBLIC BIDDING	LUNCHEON MEAT (24/BOX/GOOD QUALITY)	BOXES	20	0	0	20	60,000.00	20	0	0	20	60,000.00	20	0	0	20	60,000.00	20	0	0	20	60,000.00	80.00	3,000.00	240,000.00
303	HFE-PUBLIC BIDDING	LOW-FAT MILK POWDER(1KG./GOOD QUALITY)	PACKS	60	0	0	60	33,000.00	60	0	0	60	33,000.00	60	0	0	60	33,000.00	60	0	0	60	33,000.00	240.00	550.00	132,000.00
304	HFE-PUBLIC BIDDING	MUSHROOMS(PIECES&STEMS 425g./GOOD QUALITY)	CANS	20	0	0	20	1,000.00	20	0	0	20	1,000.00	20	0	0	20	1,000.00	20	0	0	20	1,000.00	80.00	50.00	4,000.00
305	HFE-PUBLIC BIDDING	OATMEAL (1K.FLAVOURED/GOOD QUALITY)	PACKS	70	0	0	70	10,500.00	70	0	0	70	10,500.00	70	0	0	70	10,500.00	70	0	0	70	10,500.00	280.00	150.00	42,000.00
306	HFE-PUBLIC BIDDING	REAL MAYONNAISE(3LITER/GOOD QUALITY)	JAR	8	0	0	8	6,400.00	8	0	0	8	6,400.00	8	0	0	8	6,400.00	8	0	0	8	6,400.00	32.00	800.00	25,600.00
307	HFE-PUBLIC BIDDING	DRESSED CHICKEN(GOOD QUALITY)	KILOS	400	0	0	400	68,000.00	400	0	0	400	68,000.00	400	0	0	400	68,000.00	400	0	0	400	68,000.00	1,600.00	170.00	272,000.00
308	HFE-PUBLIC BIDDING	MATAMBAKA(GOOD QUALITY)	KILOS	200	0	0	200	36,000.00	200	0	0	200	36,000.00	200	0	0	200	36,000.00	200	0	0	200	36,000.00	800.00	180.00	144,000.00
309	HFE-PUBLIC BIDDING	YELLOW FIN(GOOD QUALITY)	KILOS	150	0	0	150	37,500.00	150	0	0	150	37,500.00	150	0	0	150	37,500.00	150	0	0	150	37,500.00	600.00	250.00	150,000.00
310	HFE-PUBLIC BIDDING	TARAQUITO(GOOD QUALITY)	KILOS	200	0	0	200	50,000.00	200	0	0	200	50,000.00	200	0	0	200	50,000.00	200	0	0	200	50,000.00	800.00	250.00	200,000.00
311	HFE-PUBLIC BIDDING	SAMARAL(GOOD QUALITY)	KILOS	200	0	0	200	50,000.00	200	0	0	200	50,000.00	200	0	0	200	50,000.00	200	0	0	200	50,000.00	800.00	250.00	200,000.00
312	HFE-PUBLIC BIDDING	BANANA SULAY BAGUI(GOOD QUALITY)	KILOS	60	0	0	60	3,000.00	60	0	0	60	3,000.00	60	0	0	60	3,000.00	60	0	0	60	3,000.00	240.00	50.00	12,000.00
313	HFE-PUBLIC BIDDING	RIPE MANGOES(GOOD QUALITY)	KILOS	150	0	0	150	22,500.00	150	0	0	150	22,500.00	150	0	0	150	22,500.00	150	0	0	150	22,500.00	600.00	150.00	90,000.00
314	HFE-PUBLIC BIDDING	GELATIN BAR(3'S/GOOD QUALITY)	PACKS	22	0	0	22	880.00	22	0	0	22	880.00	22	0	0	22	880.00	22	0	0	22	880.00	88.00	40.00	3,520.00
315	HFE-PUBLIC BIDDING	GLUTINOUS RICE(GOOD QUALITY)	BOXES	7	0	0	7	21,000.00	7	0	0	7	21,000.00	7	0	0	7	21,000.00	7	0	0	7	21,000.00	28.00	3,000.00	84,000.00
316	HFE-PUBLIC BIDDING	ENSURE MILK CHOCOLATE(VANILLA 850mg./GOOD QUALITY)	CANS	25	0	0	25	46,250.00	25	0	0	25	46,250.00	25	0	0	25	46,250.00	25	0	0	25	46,250.00	100.00	1,850.00	185,000.00
317	HFE-PUBLIC BIDDING	FLOUR FIRST CLASS(25KLS./GOOD QUALITY)	SACKS	6	0	0	6	7,200.00	6	0	0	6	7,200.00	6	0	0	6	7,200.00	6	0	0	6	7,200.00	24.00	1,200.00	28,800.00
318	HFE-PUBLIC BIDDING	FRESH EGG(30'S;LARGE/GOOD QUALITY)	TRAY	90	0	0	90	18,000.00	90	0	0	90	18,000.00	90	0	0	90	18,000.00	90	0	0	90	18,000.00	360.00	200.00	72,000.00
319	HFE-PUBLIC BIDDING	BIHON(1kg.)	PACKS	30	0	0	30	3,000.00	30	0	0	30	3,000.00	30	0	0	30	3,000.00	30	0	0	30	3,000.00	120.00	100.00	12,000.00
320	HFE-PUBLIC BIDDING	BLACK COFFEE(200g./24/BOX)	CASES	15	0	0	15	33,750.00	15	0	0	15	33,750.00	15	0	0	15	33,750.00	15	0	0	15	33,750.00	60.00	2,250.00	135,000.00
321	HFE-PUBLIC BIDDING	BROTH CUBES(10g./CHICKEN)	PIECES	60	0	0	60	600.00	60	0	0	60	600.00	60	0	0	60	600.00	60	0	0	60	600.00	240.00	10.00	2,400.00
322	HFE-PUBLIC BIDDING	COFFEE CREAMER(450g.)	PACKS	30	0	0	30	5,250.00	30	0	0	30	5,250.00	30	0	0	30	5,250.00	30	0	0	30	5,250.00	120.00	175.00	21,000.00
323	HFE-PUBLIC BIDDING	CONDENSED MILK(300ML)	CANS	70	0	0	70	3,850.00	70	0	0	70	3,850.00	70	0	0	70	3,850.00	70	0	0	70	3,850.00	280.00	55.00	15,400.00
324	HFE-PUBLIC BIDDING	CORN STARCH(450g.)	PACKS	15	0	0	15	900.00	15	0	0	15	900.00	15	0	0	15	900.00	15	0	0	15	900.00	60.00	60.00	3,600.00
325	HFV-PUBLIC BIDDING	RED SQUASH	KILO	0	30	0	30	600.00	0	30	0	30	600.00	0	30	0	30	600.00	30	0	0	30	600.00	120.00	20.00	2,400.00
326	HFV-PUBLIC BIDDING	Red Onions	Kilos	0	40	0	40	4,800.00	0	40	0	40	4,800.00	0	40	0	40	4,800.00	40	0	0	40	4,800.00	160.00	120.00	19,200.00
327	HFV-PUBLIC BIDDING	Raisin 360g	pack	0	10	0	10	900.00	0	10	0	10	900.00	0	10	0	10	900.00	10	0	0	10	900.00	40.00	90.00	3,600.00
328	HFV-PUBLIC BIDDING	Raddish	kls	0	20	0	20	1,400.00	0	20	0	20	1,400.00	0	20	0	20	1,400.00	20	0	0	20	1,400.00	80.00	70.00	5,600.00
329	HFV-PUBLIC BIDDING	Powdered Milk Sachet 180g (Swak Pack)	cases	0	20	0	20	42,000.00	0	20	0	20	42,000.00	0	20	0	20	42,000.00	20	0	0	20	42,000.00	80.00	2,100.00	168,000.00
330	HFV-PUBLIC BIDDING	Powdered Juice (Litro Pack-Ass. Flavors)	cases	0	10	0	10	19,800.00	0	10	0	10	19,800.00	0	10	0	10	19,800.00	10	0	0	10	19,800.00	40.00	1,980.00	79,200.00
331	HFV-PUBLIC BIDDING	Potato	kls.	0	40	0	40	4,800.00	0	40	0	40	4,800.00	0	40	0	40	4,800.00	40	0	0	40	4,800.00	160.00	120.00	19,200.00
332	HFV-PUBLIC BIDDING	Ponkans	boxes	0	10	0	10	18,500.00	0	10	0	10	18,500.00	0	10	0	10	18,500.00	10	0	0	10	18,500.00	40.00	1,850.00	74,000.00
333	HFV-PUBLIC BIDDING	Pineapple	Pieces	0	30	0	30	1,500.00	0	30	0	30	1,500.00	0	30	0	30	1,500.00	30	0	0	30	1,500.00	120.00	50.00	6,000.00

334	HFW-PUBLIC BIDDING	PINEAPPLE SLICE	TIN	0	30	0	30	1,506.00	0	30	0	30	1,506.00	0	30	0	30	1,506.00	30	0	0	30	1,506.00	120.00	50.20	6,024.00
335	HFW-PUBLIC BIDDING	Pineapple Juice 1.5kg	cans	0	30	0	30	7,050.00	0	30	0	30	7,050.00	0	30	0	30	7,050.00	30	0	0	30	7,050.00	120.00	235.00	28,200.00
336	HFW-PUBLIC BIDDING	pineapple chunks	can	0	30	0	30	1,972.50	0	30	0	30	1,972.50	0	30	0	30	1,972.50	30	0	0	30	1,972.50	120.00	65.75	7,890.00
337	HFW-PUBLIC BIDDING	PEANUT BUTTER 340G	BOTS	0	20	0	20	1,960.00	20	0	0	20	1,960.00	20	0	20	40	3,920.00	0	0	0	0	0.00	80.00	98.00	7,840.00
338	HFW-PUBLIC BIDDING	Patola	kls	0	20	0	20	1,500.00	0	0	20	20	1,500.00		20		20	1,500.00	0	20	0	20	1,500.00	80.00	75.00	6,000.00
339	HFW-PUBLIC BIDDING	papaya	kls	0	40	0	40	3,200.00	0	40		40	3,200.00	0	40	0	40	3,200.00	0	40	0	40	3,200.00	160.00	80.00	12,800.00
340	HFW-PUBLIC BIDDING	Pancit Canton 55g (Original/Sweet & Spicy)	cases	0	12	0	12	35,760.00	0	12		12	35,760.00	0	12	0	12	35,760.00	0	12	0	12	35,760.00	48.00	2,980.00	143,040.00
341	HFW-PUBLIC BIDDING	OYSTER SAUCE	LITER	0	2	0	2	364.00	0	0	2	2	364.00	0	2	0	2	364.00	0	2	0	2	364.00	8.00	182.00	1,456.00
342	HFW-PUBLIC BIDDING	Ordinary Flour 1kg (1st class)	packs	0	50	0	50	4,750.00	0	50	0	50	4,750.00	0	50	0	50	4,750.00	0	50	0	50	4,750.00	200.00	95.00	19,000.00
343	HFW-PUBLIC BIDDING	Oddong (12 pks/30 grams)	packs	0	50	0	50	6,750.00	0	50	0	50	6,750.00	0	50	0	50	6,750.00	0	50	0	50	6,750.00	200.00	135.00	27,000.00
344	HFW-PUBLIC BIDDING	OATMEAL	PACK	0	0	0	0	0.00	10	0	0	10	1,150.00	0	0	0	0	0.00	10	0	0	10	1,150.00	20.00	115.00	2,300.00
345	HFW-PUBLIC BIDDING	Noodles 55g (Beef/Chicken)	cases	0	0	0	0	0.00	20	0	0	20	44,000.00	0	0	20	20	44,000.00	0	0	0	0	0.00	40.00	2,200.00	88,000.00
346	HFW-PUBLIC BIDDING	Nata De Coco 500ml	bottls	0	50	0	50	7,500.00	50	0	50	100	15,000.00	0	50	0	50	7,500.00	50	0	50	100	15,000.00	300.00	150.00	45,000.00
347	HFW-PUBLIC BIDDING	Monggo Beans	kls	0	20	0	20	1,300.00	0	20	0	20	1,300.00	0	20	0	20	1,300.00	0	20	0	20	1,300.00	80.00	65.00	5,200.00
348	HFW-PUBLIC BIDDING	Margarine 100g	bottls	0	30		30	2,550.00	0	30	0	30	2,550.00	0	30	0	30	2,550.00	0	30	0	30	2,550.00	120.00	85.00	10,200.00
349	HFW-PUBLIC BIDDING	Macaroni (1kg)	packs	20	20	20	60	7,800.00	20	20	0	40	5,200.00	20	20	20	60	7,800.00	20	20		40	5,200.00	200.00	130.00	26,000.00
350	HFW-PUBLIC BIDDING	Luncheon Meat (Chicken/Beef)	cases	0	10	0	10	24,500.00	0	10	0	10	24,500.00	0	10	0	10	24,500.00	0	10	0	10	24,500.00	40.00	2,450.00	98,000.00
351	HFW-PUBLIC BIDDING	Kaong 500ml (Green/Yellow/Red)	bottls	0	50	0	50	7,500.00	50	0	50	100	15,000.00	0	50	0	50	7,500.00	50	0	50	100	15,000.00	300.00	150.00	45,000.00
352	HFW-PUBLIC BIDDING	IODIZED SALT	KILO	0	0	0	0	0.00	20	0	0	20	700.00	0	0	0	0	0.00	20	0	0	20	700.00	40.00	35.00	1,400.00
353	HFW-PUBLIC BIDDING	Hotdog	kl	0	30	0	30	6,000.00	30	0	30	60	12,000.00	0	0	30	30	6,000.00		30		30	6,000.00	150.00	200.00	30,000.00
354	HFW-PUBLIC BIDDING	Gulaman/Gelatine 10's (Asst. Flavors)	bxs	0	20	0	20	2,400.00	0	20	0	20	2,400.00	20	0		20	2,400.00	20			20	2,400.00	80.00	120.00	9,600.00
355	HFW-PUBLIC BIDDING	Ginger	kl.	0	0	20	20	2,000.00	0	0	20	20	2,000.00	0	0	0	0	0.00	0	20	0	20	2,000.00	60.00	100.00	6,000.00
356	HFW-PUBLIC BIDDING	Garlic	kls.	0	0	20	20	4,000.00	0	0		0	0.00	0	0	0	0	0.00	20		0	20	4,000.00	40.00	200.00	8,000.00
357	HFW-PUBLIC BIDDING	Fresh Squid	kilo	0	100		100	35,000.00	0	100		100	35,000.00	0	100		100	35,000.00	0	100	0	100	35,000.00	400.00	350.00	140,000.00
358	HFW-PUBLIC BIDDING	Evaporated Milk 370ml	cases	0	0	12	12	25,200.00	0	0	0	0	0.00	0	0	12	12	25,200.00	0	0	0	0	0.00	24.00	2,100.00	50,400.00
359	HFW-PUBLIC BIDDING	Eggs	tray	0	0	50	50	10,500.00	0	0	50	50	10,500.00	0	0	50	50	10,500.00	0	0	50	50	10,500.00	200.00	210.00	42,000.00
360	HFW-PUBLIC BIDDING	eggplant	kls	0	50		50	6,000.00	0	50		50	6,000.00	50	0		50	6,000.00	50	0	0	50	6,000.00	200.00	120.00	24,000.00
361	HFW-PUBLIC BIDDING	dilis	1 kilo/pack	50		50	100	15,000.00	0	50	0	50	7,500.00	50	0	50	100	15,000.00	0	50	0	50	7,500.00	300.00	150.00	45,000.00
362	HFW-PUBLIC BIDDING	Cup Noodles 35g (Assorted Flavor)	cases	0	0	20	20	39,000.00	0	0	20	20	39,000.00	0	0	20	20	39,000.00	0		20	20	39,000.00	80.00	1,950.00	156,000.00
363	HFW-PUBLIC BIDDING	Cucumber	kls.	0	20		20	1,000.00	0	20		20	1,000.00	0	20		20	1,000.00	0	20		20	1,000.00	80.00	50.00	4,000.00
364	HFW-PUBLIC BIDDING	Cornstarch 200grams	pks	0	0	100	100	12,500.00	0	0	100	100	12,500.00	0	0	100	100	12,500.00	0		100	100	12,500.00	400.00	125.00	50,000.00
365	HFW-PUBLIC BIDDING	CORNED BEEF, 1.8 GRAMS	CAN	0	100	0	100	47,000.00	0	100	0	100	47,000.00	0	100	0	100	47,000.00		100		100	47,000.00	400.00	470.00	188,000.00
366	HFW-PUBLIC BIDDING	Cooking Oil	gals	0	100	0	100	28,000.00	0	100	0	100	28,000.00	0	100	0	100	28,000.00		100		100	28,000.00	400.00	280.00	112,000.00
367	HFW-PUBLIC BIDDING	Condensed Milk 320 ml(48cans/case)	cases	0	0	0	0	0.00	20	0		20	51,200.00	0	0	0	0	0.00	20			20	51,200.00	40.00	2,560.00	102,400.00
368	HFW-PUBLIC BIDDING	Coffee 3 in 1	box	0	20	0	20	73,200.00			0	0	0.00	0	0	0	0	0.00	20			20	73,200.00	40.00	3,660.00	146,400.00
369	HFW-PUBLIC BIDDING	Clams / Shells	kilos	25	25	25	75	18,750.00	25	25	25	75	18,750.00	25	25	25	75	18,750.00	25	25	25	75	18,750.00	300.00	250.00	75,000.00
370	HFW-PUBLIC BIDDING	Chorizo	kls.	50		50	100	26,000.00		50	0	50	13,000.00	50	0	50	100	26,000.00	0	50	0	50	13,000.00	300.00	260.00	78,000.00
371	HFW-PUBLIC BIDDING	Chocolate Milk Drink Sachet 20g(42pks/case)	cases	50	0	0	50	140,000.00		50	0	50	140,000.00	0	50	0	50	140,000.00	0	50		50	140,000.00	200.00	2,800.00	560,000.00
372	HFW-PUBLIC BIDDING	Chicken Liver	kilos	25	0	25	50	10,000.00	25	0	25	50	10,000.00	0	25	0	25	5,000.00	25	0	25	50	10,000.00	175.00	200.00	35,000.00

373	HFW-PUBLIC BIDDING	Chicken Breast	kilos	25	0	25	50	7,750.00	0	25	0	25	3,875.00	25	0	25	50	7,750.00	0	25	0	25	3,875.00	150.00	155.00	23,250.00
374	HFW-PUBLIC BIDDING	Chicken Thighs	kls.	0	25		25	4,750.00	25	0	25	50	9,500.00	0	25	0	25	4,750.00	25	0	25	50	9,500.00	150.00	190.00	28,500.00
375	HFW-PUBLIC BIDDING	Chicken Ham	Kilos	50	0	50	100	35,000.00	0	50	0	50	17,500.00	50	0	50	100	35,000.00	0	50	0	50	17,500.00	300.00	350.00	105,000.00
376	HFW-PUBLIC BIDDING	Cheese 180g	bar	0	0	100	100	8,500.00	0		100	100	8,500.00	0	0	100	100	8,500.00	0	0	100	100	8,500.00	400.00	85.00	34,000.00
377	HFW-PUBLIC BIDDING	Carrots	kls.	25	25	25	75	9,000.00	25	25	25	75	9,000.00	25	25	25	75	9,000.00	25	25	25	75	9,000.00	300.00	120.00	36,000.00
378	HFW-PUBLIC BIDDING	Candies-Asst. Flavors (50pcs/pks)	packs	25	25	25	75	5,625.00	25	25	25	75	5,625.00	25	25	25	75	5,625.00	25	25	25	75	5,625.00	300.00	75.00	22,500.00
379	HFW-PUBLIC BIDDING	Cabbage	Kilos		25	25	50	5,000.00	25	25	25	75	7,500.00		25	25	50	5,000.00	25	0	0	25	2,500.00	200.00	100.00	20,000.00
380	HFW-PUBLIC BIDDING	BREADING MIX	PACKS		20		20	4,800.00		20		20	4,800.00		20		20	4,800.00	0	20	0	20	4,800.00	80.00	240.00	19,200.00
381	HFW-PUBLIC BIDDING	Biscuits Cookies (Assorted Flavors)	cans	25	25	25	75	4,500.00	25	25	25	75	4,500.00	25	25	25	75	4,500.00	25	25	25	75	4,500.00	300.00	60.00	18,000.00
382	HFW-PUBLIC BIDDING	Biscuits (Asst Flavors) - Happy Time	cans	0	50		50	14,000.00	0	50	0	50	14,000.00		50	0	50	14,000.00	0	50	0	50	14,000.00	200.00	280.00	56,000.00
383	HFW-PUBLIC BIDDING	BIHON 500G	PACK	0	30		30	3,000.00	0	30	0	30	3,000.00		30		30	3,000.00	0	30	0	30	3,000.00	120.00	100.00	12,000.00
384	HFW-PUBLIC BIDDING	BELL PEPPER	KILO	0		25	25	3,000.00	0	0	0	0	0.00		25		25	3,000.00	0	0	0	0	0.00	50.00	120.00	6,000.00
385	HFW-PUBLIC BIDDING	Beef Meat	Kilo	0	50		50	14,750.00	0	50	0	50	14,750.00		50		50	14,750.00	0	50	0	50	14,750.00	200.00	295.00	59,000.00
386	HFW-PUBLIC BIDDING	Beef Loaf 250g	cases	0		25	25	49,500.00	0		0	0	0.00		0	25	25	49,500.00	0	0	0	0	0.00	50.00	1,980.00	99,000.00
387	HFW-PUBLIC BIDDING	BEEF BONES	KILO	0	50		50	11,500.00	0	50	0	50	11,500.00	50	0		50	11,500.00	50	0	0	50	11,500.00	200.00	230.00	46,000.00
388	HFW-PUBLIC BIDDING	Baking Powder 100g	pks	0	25		25	3,000.00	0	25	0	25	3,000.00	25	0		25	3,000.00	25	0	0	25	3,000.00	100.00	120.00	12,000.00
389	HFW-PUBLIC BIDDING	Avocado	kl.	0	25		25	1,750.00	0	25	0	25	1,750.00	25	0		25	1,750.00	25	0	0	25	1,750.00	100.00	70.00	7,000.00
390	HFW-PUBLIC BIDDING	Apple	pc.	0		25	25	250.00	0	0	25	25	250.00	0	0	25	25	250.00	0	0	25	25	250.00	100.00	10.00	1,000.00
391	HFW-PUBLIC BIDDING	Ampalaya	Kilos	0		30	30	3,000.00	0	0	30	30	3,000.00	0	0	30	30	3,000.00	0	0	30	30	3,000.00	120.00	100.00	12,000.00
392	HFW-PUBLIC BIDDING	All Purpose Cream 250ml	packs	0	50		50	4,000.00	50	0	0	50	4,000.00	50	0		50	4,000.00	50	0		50	4,000.00	200.00	80.00	16,000.00
393	HFW-PUBLIC BIDDING	Misua (12packs/30g)	packs	10	10	10	30	2,400.00	10	10	10	30	2,400.00	10	10	10	30	2,400.00	10	10	10	30	2,400.00	120.00	80.00	9,600.00
394	HFW-PUBLIC BIDDING	Glutinous Powder 500g	pack	0	50	0	50	5,750.00	0	50		50	5,750.00	50	0	0	50	5,750.00	50	0		50	5,750.00	200.00	115.00	23,000.00
395	HFW-PUBLIC BIDDING	Commercial Rice 50kls	Sack	0	100	0	100	250,000.00	100	0	100	200	500,000.00	0	100	0	100	250,000.00	100	0	100	200	500,000.00	600.00	2,500.00	1,500,000.00
396	HFW-PUBLIC BIDDING	Bread Crumbs 500g	Packs	0	20	0	20	3,620.00	20	0	0	20	3,620.00	20	0	20	40	7,240.00	0	0		0	0.00	80.00	181.00	14,480.00
397	HFW-PUBLIC BIDDING	Catsup Banana 1L / Tomato 1L	Gallon	0	25	0	25	3,250.00	25	0	25	50	6,500.00	0	25	0	25	3,250.00	25	0	25	50	6,500.00	150.00	130.00	19,500.00
398	HFW-PUBLIC BIDDING	Butter 500g	Pack	0	50	0	50	12,500.00	0	50		50	12,500.00	0	50	0	50	12,500.00		50		50	12,500.00	200.00	250.00	50,000.00
399	HFW-PUBLIC BIDDING	Brown Sugar 1kl (Light)	Pack	0	50	50	100	9,800.00	50	50	50	150	14,700.00	50	50	50	150	14,700.00	50	50	50	150	14,700.00	550.00	98.00	53,900.00
400	HFW-PUBLIC BIDDING	Pechay	Bundle	0	30	0	30	2,250.00	0	30		30	2,250.00	0	30	0	30	2,250.00	0	30	0	30	2,250.00	120.00	75.00	9,000.00
401	HFW-PUBLIC BIDDING	Peanut	kilo	0	100	0	100	24,000.00	0	100		100	24,000.00	0	100	0	100	24,000.00	0	100	0	100	24,000.00	400.00	240.00	96,000.00
402	HFW-PUBLIC BIDDING	Banana Cardaba	kilo	0	25	0	25	2,000.00	0	25		25	2,000.00	25	0	0	25	2,000.00	25	0	0	25	2,000.00	100.00	80.00	8,000.00
403	HFW-PUBLIC BIDDING	Banana Blossom	Pieces	0	20	0	20	1,000.00	0	20		20	1,000.00	0	20	0	20	1,000.00	0	20		20	1,000.00	80.00	50.00	4,000.00
404	RRCY/BDSK/PCDP	AMPALAYA	KLS.	20	30	20	70	4,200.00	20	30	20	70	4,200.00	20	30	20	70	4,200.00	20	30	20	70	4,200.00	280.00	60.00	16,800.00
405	RRCY/BDSK/PCDP	Apple	PC	130	0	0	130	1,950.00	0	0	0	0	0.00	0	0	0	0	0.00	150	0	0	150	2,250.00	280.00	15.00	4,200.00
406	RRCY/BDSK/PCDP	Assorted candies	Pack	150	150	150	450	18,000.00	150	150	150	450	18,000.00	150	150	150	450	18,000.00	150	150	150	450	18,000.00	1,800.00	40.00	72,000.00
407	RRCY/BDSK/PCDP	Assorted fish	KL	100	900	100	1100	330,000.00	100	900	100	1100	330,000.00	100	900	100	1100	330,000.00	100	900	100	1100	330,000.00	4,400.00	300.00	1,320,000.00
408	RRCY/BDSK/PCDP	Atsot	BUNDLE	1	1	1	3	300.00	1	1	1	3	300.00	1	1	1	3	300.00	1	1	1	3	300.00	12.00	100.00	1,200.00
409	RRCY/BDSK/PCDP	Avocado	KLS	6	6	6	18	1,260.00	6	6	6	18	1,260.00	6	6	6	18	1,260.00	6	6	3	15	1,050.00	69.00	70.00	4,830.00
410	RRCY/BDSK/PCDP	Baguio beans	KLS	6	16	6	28	2,800.00	6	16	6	28	2,800.00	6	16	6	28	2,800.00	6	16	6	28	2,800.00	112.00	100.00	11,200.00

411	RRCY/BDSK/PCDP	Baking powder	PACK	50	0	0	50	1,500.00	50	0	0	50	1,500.00	50	0	0	50	1,500.00	0	0	0	0	0.00	150.00	30.00	4,500.00
412	RRCY/BDSK/PCDP	Baking soda	PACK	2	0	0	2	50.00	5	0	0	5	125.00	5	0	0	5	125.00	0	0	0	0	0.00	12.00	25.00	300.00
413	RRCY/BDSK/PCDP	Banana Tondan	KLS.	50	50	50	150	7,500.00	50	50	50	150	7,500.00	50	50	50	150	7,500.00	0	0	0	0	0.00	450.00	50.00	22,500.00
414	RRCY/BDSK/PCDP	Banana(Cardava)	KLS.	50	60	50	160	6,400.00	50	60	50	160	6,400.00	50	60	50	160	6,400.00	0	0	0	0	0.00	480.00	40.00	19,200.00
415	RRCY/BDSK/PCDP	Banana(Iacatan)	KLS.	50	70	50	170	17,000.00	50	50	50	150	15,000.00	50	70	50	170	17,000.00	0	0	0	0	0.00	490.00	100.00	49,000.00
416	RRCY/BDSK/PCDP	Beef Bones	kls.	0	70		70	21,000.00	-	60		60	18,000.00	0	60	0	60	18,000.00	0	0	0	0	0.00	190.00	300	57,000.00
417	RRCY/BDSK/PCDP	Beef loaf		30	0	0	30	55,500.00	30	0	0	30	55,500.00	30	0	0	30	55,500.00	0	0	0	0	0.00	90.00	1,850.00	166,500.00
418	RRCY/BDSK/PCDP	Beef meat	KLS	30	280	30	340	119,000.00	30	280	30	340	119,000.00	30	280	30	340	119,000.00	0	0	0	0	0.00	1,020.00	350.00	357,000.00
419	RRCY/BDSK/PCDP	Behon special	pck.	80			80	10,400.00	80			80	10,400.00	80	0	0	80	10,400.00	0	0	0	0	0.00	240.00	130.00	31,200.00
420	RRCY/BDSK/PCDP	Biscuit Assorted 10x32gms/pack	Pack	450	400	400	1250	100,000.00	450	400	400	1250	100,000.00	450	400	400	1250	100,000.00	400	400	450	1250	100,000.00	5,000.00	80	400,000.00
421	RRCY/BDSK/PCDP	Black Pepper	kls.	0	1	0	1	640.00	-	-	-	0	0.00	0	1	0	1	640.00	0	0	0	0	0.00	2.00	640	1,280.00
422	RRCY/BDSK/PCDP	Bread	pcs.	420	420	420	1260	10,080.00	420	420	420	1260	10,080.00	420	420	420	1260	10,080.00	0	0	0	0	0.00	3,780.00	8.00	30,240.00
423	RRCY/BDSK/PCDP	Broccoli	kls	5	5	5	15	3,000.00	5	5	5	15	3,000.00	5	5	5	15	3,000.00	0	0	0	0	0.00	45.00	200.00	9,000.00
424	RRCY/BDSK/PCDP	Butter cup		15		15	30	1,500.00			15	15	750.00			15	15	750.00	0	0	0	0	0.00	60.00	50.00	3,000.00
425	RRCY/BDSK/PCDP	Cabbage	kls.	10	10	10	30	1,500.00	10	10	10	30	1,500.00	10	10	10	30	1,500.00	0	0	0	0	0.00	90.00	50.00	4,500.00
426	RRCY/BDSK/PCDP	Cake		30			30	10,500.00	30			30	10,500.00	30			30	10,500.00	0	0	0	0	0.00	90.00	350.00	31,500.00
427	RRCY/BDSK/PCDP	Camote	kls.	0	10		10	500.00	-	10		10	500.00	-	10		10	500.00	0	10	0	10	500.00	40.00	50	2,000.00
428	RRCY/BDSK/PCDP	Candies	pc.	100	0	0	100	5,000.00	100	0	0	100	5,000.00	100	0	0	100	5,000.00	0	0	0	0	0.00	300.00	50.00	15,000.00
429	RRCY/BDSK/PCDP	Carrots	kls.	16	26	16	58	6,380.00	16	26	16	58	6,380.00	16	26	16	58	6,380.00	0	0	0	0	0.00	174.00	110.00	19,140.00
430	RRCY/BDSK/PCDP	Cassava cake	kls.	5	5	5	15	3,150.00	5	5	5	15	3,150.00	5	5	5	15	3,150.00	0	0	0	0	0.00	45.00	210.00	9,450.00
431	RRCY/BDSK/PCDP	Catsup Banana 1L / Tomato 1L(Catsup Banana 1L / Tomato 1L)	Bottle	0	0	100	100	13,000.00	0		100	100	13,000.00	0	0	100	100	13,000.00	100		100	13,000.00	400.00	130.00	52,000.00	
432	RRCY/BDSK/PCDP	Cauli Flower	kls.	0	10	-	10	2,500.00	0	10		10	2,500.00	0	0	-	0	0.00			10	2,500.00	30.00	250.00	7,500.00	
433	RRCY/BDSK/PCDP	Centrifugal sugar	20	5	0	0	5	462.50	5	0	0	5	462.50	5		0	5	462.50	5		5	462.50	20.00	92.50	1,850.00	
434	RRCY/BDSK/PCDP	Cheeze	150	30	0	30	60	3,900.00	0	0	30	30	1,950.00	0	0	30	30	1,950.00	30		30	1,950.00	150.00	65.00	9,750.00	
435	RRCY/BDSK/PCDP	Chicharo	kls.	0	10	-	10	2,500.00	0	10		10	2,500.00	0	10		10	2,500.00	10		10	2,500.00	40.00	250.00	10,000.00	
436	RRCY/BDSK/PCDP	Chicken Breast	kls.	0	40	-	40	6,800.00	0	30		30	5,100.00	0	20		20	3,400.00	30		30	5,100.00	120.00	170.00	20,400.00	
437	RRCY/BDSK/PCDP	Chicken Drumstick	kls.	0	40	-	40	6,800.00	0	30		30	5,100.00	0	20		20	3,400.00	30		30	5,100.00	120.00	170.00	20,400.00	
438	RRCY/BDSK/PCDP	Chicken Gezard	kls.	0	30	-	30	5,250.00	0	30		30	5,250.00	0	20		20	3,500.00	30		30	5,250.00	110.00	175.00	19,250.00	
439	RRCY/BDSK/PCDP	chicken hotdog	kls.	0	20	-	20	4,200.00	0	15		15	3,150.00	0	15		15	3,150.00	15		15	3,150.00	65.00	210.00	13,650.00	
440	RRCY/BDSK/PCDP	Chicken Liver	kls.	0	30	-	30	5,400.00	0	20		20	3,600.00	0	20		20	3,600.00	30		30	5,400.00	100.00	180.00	18,000.00	
441	RRCY/BDSK/PCDP	Chicken Thighs	kls.	0	40	-	40	6,800.00	0	20		20	3,400.00	0	20		20	3,400.00	30		30	5,100.00	110.00	170.00	18,700.00	
442	RRCY/BDSK/PCDP	Chicken whole	kl.	90	130	90	310	62,000.00	90	120	90	300	60,000.00	90	130	90	310	62,000.00	120	90	90	300	60,000.00	1,220.00	200.00	244,000.00
443	RRCY/BDSK/PCDP	Chinese pechay	kls.	4	14	4	22	880.00	4	14	4	22	880.00	4	14	4	22	880.00	4	14	4	22	880.00	88.00	40.00	3,520.00
444	RRCY/BDSK/PCDP	Chocolate powder	pcs.	20			20	737.40	20			20	737.40	20			20	737.40	20		20	737.40	80.00	36.87	2,949.60	
445	RRCY/BDSK/PCDP	Chocolates	pck.	100			100	6,500.00	100			100	6,500.00	100			100	6,500.00	100		100	6,500.00	400.00	65.00	26,000.00	
446	RRCY/BDSK/PCDP	Chorizo	kl	5	25	5	35	8,750.00	5	25	5	35	8,750.00	5	25	5	35	8,750.00	5	20	5	30	7,500.00	135.00	250.00	33,750.00
447	RRCY/BDSK/PCDP	Coconut	pc	15	15	15	45	1,350.00	15	15	15	45	1,350.00	15	15	15	45	1,350.00	15	15	15	45	1,350.00	180.00	30.00	5,400.00
448	RRCY/BDSK/PCDP	Coffee 3 in 1, 600grams (20x30 sachets)	Dozen	400	400	400	1200	156,000.00	400	400	400	1200	156,000.00	400	400	400	1200	156,000.00	400	400	400	1200	156,000.00	4,800.00	130.00	624,000.00
449	RRCY/BDSK/PCDP	Condensed milk	can	30	0	0	30	2,100.00	30	0	0	30	2,100.00	30	0	0	30	2,100.00	30	0	0	30	2,100.00	120.00	70.00	8,400.00

450	RRCY/BDSK/PCDP	Cooking oil	gal	30	0	0	30	54,000.00	30	0	0	30	54,000.00	30	0	0	30	54,000.00	30	0	0	30	54,000.00	120.00	1,800.00	216,000.00	
451	RRCY/BDSK/PCDP	Corned Beef 155gx48 halal	Cases	50	0	0	50	85,000.00	80	0	0	80	136,000.00	80	0	80	160	272,000.00	80	0	0	80	136,000.00	370.00	1,700.00	629,000.00	
452	RRCY/BDSK/PCDP	Corned beef 175g	can	21	0	0	21	42,000.00	21	0	0	21	42,000.00	21	0		21	42,000.00	21	0	0	21	42,000.00	84.00	2,000.00	168,000.00	
453	RRCY/BDSK/PCDP	Cornstarch	kls.	20	0	0	20	1,600.00	20	0	0	20	1,600.00	20	0		20	1,600.00	20	0	0	20	1,600.00	80.00	80.00	6,400.00	
454	RRCY/BDSK/PCDP	Cream Milk- Bear Brand -180 gms	Piece	100	100	100	300	30,000.00	100	100	100	300	30,000.00	100	100	100	300	30,000.00	100	100	100	300	30,000.00	1,200.00	100.00	120,000.00	
455	RRCY/BDSK/PCDP	Shrimps	KLS.	0	0	26	10,400.00	0	0	26	10,400.00	0	0	26	10,400.00	0	0	26	10,400.00	0	0	0	0	0.00	78.00	400.00	31,200.00
456	RRCY/BDSK/PCDP	Singkamas	KLS	2	2	2	6	360.00	2	2	2	6	360.00	2	2	2	6	360.00	2	2		4	240.00	22.00	60.00	1,320.00	
457	RRCY/BDSK/PCDP	Slice bread	PACK	10	10	10	30	1,650.00	10	10	10	30	1,650.00	10	10	10	30	1,650.00	10	10		20	1,100.00	110.00	55.00	6,050.00	
458	RRCY/BDSK/PCDP	Sotanghon	PACK	50	0	0	50	11,500.00	50	0	0	50	11,500.00	50	0	0	50	11,500.00	50	0	0	50	11,500.00	200.00	230.00	46,000.00	
459	RRCY/BDSK/PCDP	Spaghetti pasta	PACK	20	0	0	20	1,900.00	20	0	0	20	1,900.00	20	0	0	20	1,900.00	20	0	0	20	1,900.00	80.00	95.00	7,600.00	
460	RRCY/BDSK/PCDP	Spaghetti sauce 750g	POUCH	30	0	0	30	2,400.00	30	0	0	30	2,400.00	30	0	0	30	2,400.00	30	0	0	30	2,400.00	120.00	80.00	9,600.00	
461	RRCY/BDSK/PCDP	Spring onion	KLS	1	1	1	3	120.00	1	1	1	3	120.00	1	1	1	3	120.00	1	1	0	2	80.00	11.00	40.00	440.00	
462	RRCY/BDSK/PCDP	Squash	KLS	30	40	30	100	3,000.00	30	40	30	100	3,000.00	30	40	30	100	3,000.00	30	40	0	70	2,100.00	370.00	30.00	11,100.00	
463	RRCY/BDSK/PCDP	Squid roll	SKL	0	25	0	25	4,500.00		25		25	4,500.00	15	20		35	6,300.00	0	25	0	25	4,500.00	110.00	180.00	19,800.00	
464	RRCY/BDSK/PCDP	Stringbeans	KLS	30	40	30	100	2,500.00	30	40	30	100	2,500.00	30	40	30	100	2,500.00	30	40	0	70	1,750.00	370.00	25.00	9,250.00	
465	RRCY/BDSK/PCDP	Sugar, refined		10	0	0	10	24,500.00	10	0	0	10	24,500.00	10	0		10	24,500.00	10	0	0	10	24,500.00	40.00	2,450.00	98,000.00	
466	RRCY/BDSK/PCDP	Suman		100	100	100	300	2,400.00	100	100	100	300	2,400.00	100	100	100	300	2,400.00	100	100	0	200	1,600.00	1,100.00	8.00	8,800.00	
467	RRCY/BDSK/PCDP	Sweet Potatoes	KLS	16	16	16	48	2,400.00	16	16	16	48	2,400.00	16	16	16	48	2,400.00	16	16	0	32	1,600.00	176.00	50.00	8,800.00	
468	RRCY/BDSK/PCDP	Tempura		0	15	0	15	2,700.00	0	15	0	15	2,700.00	15	0	0	15	2,700.00	0	15	0	15	2,700.00	60.00	180.00	10,800.00	
469	RRCY/BDSK/PCDP	Tocino	KLS.	0	30	-	30	4,200.00	-	30	-	30	4,200.00	0	0	0	0	0.00	-	30	0	30	4,200.00	90.00	140.00	12,600.00	
470	RRCY/BDSK/PCDP	Tomato sauce	PACKS	40	0	0	40	3,440.00	40	0	0	40	3,440.00	40	0	0	40	3,440.00	40	0	0	40	3,440.00	160.00	86.00	13,760.00	
471	RRCY/BDSK/PCDP	Tomatoes	KLS	1	11	1	13	520.00	1	11	1	13	520.00	1	11	1	13	520.00	1	10	0	11	440.00	50.00	40.00	2,000.00	
472	RRCY/BDSK/PCDP	Toyo	BOX	10	0	0	10	5,500.00	10	0	0	10	5,500.00	10	0	0	10	5,500.00	10	0	0	10	5,500.00	40.00	550.00	22,000.00	
473	RRCY/BDSK/PCDP	Tuna	Cases	10	0	0	10	15,000.00	10	0	0	10	15,000.00	10	0	0	10	15,000.00	10	0	0	10	15,000.00	40.00	1,500.00	60,000.00	
474	RRCY/BDSK/PCDP	Upo	KLS	30	30	30	90	2,700.00	30	30	30	90	2,700.00	30	30	30	90	2,700.00	30	30		60	1,800.00	330.00	30.00	9,900.00	
475	RRCY/BDSK/PCDP	Vanilla		20	0	0	20	360.00	20	0	0	20	360.00	20	0	0	20	360.00	20	0	0	20	360.00	80.00	18.00	1,440.00	
476	RRCY/BDSK/PCDP	Vinegar	GAL	30	0	0	30	3,750.00	30	0	0	30	3,750.00	30	0	0	30	3,750.00	30	0	0	30	3,750.00	120.00	125.00	15,000.00	
477	BDSK	Paminta		30	0	0	30	1,500.00	30	0	0	30	1,500.00	30	0	0	30	1,500.00	30	0	0	30	1,500.00	120.00	50.00	6,000.00	
478	BDSK	Pancit canton Noodles		30	0	0	30	5,100.00	30	0	0	30	5,100.00	30	0	0	30	5,100.00	30	0	0	30	5,100.00	120.00	170.00	20,400.00	
479	BDSK	Pork & beans		10	0	0	10	18,000.00	10	0	0	10	18,000.00	10	0	0	10	18,000.00	10	0	0	10	18,000.00	40.00	1,800.00	72,000.00	
480	RRCY	Pork Bones	kls.	0	80	0	80	17,276.80	0	60	0	60	12,957.60	0	60	0	60	12,957.60	0	60	0	60	12,957.60	260.00	215.96	56,149.60	
481	BDSK	Pork meat		240	20	300	340	108,800.00	20	270	20	310	99,200.00	20	270	20	310	99,200.00	20	270	0	290	92,800.00	1,250.00	320.00	400,000.00	
482	BDSK	Rice		200	50	0	50	75,000.00	50	0	0	50	75,000.00	50	0	0	50	75,000.00	50	0	0	50	75,000.00	200.00	1,500.00	300,000.00	
483	BDSK	Sago		20	0	0	5	400.00	0	0	5	5	400.00	0	0	5	5	400.00	0	0	0	0	0.00	15.00	80.00	1,200.00	
484	BDSK	Sardines		60	15	0	15	19,200.00	15	0	0	15	19,200.00	15	0	0	15	19,200.00	15	0	0	15	19,200.00	60.00	1,280.00	76,800.00	
485	CIU	Sardines 155gramsx100's in tomato Sauce	Cases	70	0	0	70	105,000.00	20	0	0	20	30,000.00	20	0	0	20	30,000.00	0	0	0	0	0.00	110.00	1,500.00	165,000.00	
486	BDSK	(10pack/Packs) (seasoning)(Seasoning Mix Granules 8g (10pack/Packs)	Pack	0	0	40	40	1,600.00	0	0	40	40	1,600.00	0	40	0	40	1,600.00	0	0	0	0	0.00	120.00	40.00	4,800.00	
487	CIU	3. Infant Milk- Nestogen- 180 gms	Piece	0	50	50	100	10,000.00	100	100	100	300	30,000.00	100	100	100	300	30,000.00	100	100	100	300	30,000.00	1,000.00	100.00	100,000.00	

488	CIU	4. Noodles in cup	Piece	0	2000	2000	4000	100,000.00	2000	2000	2000	6000	150,000.00	2000	5000	4000	11000	275,000.00	100	4000	4000	8100	202,500.00	29,100.00	25.00	727,500.00
489	CIU	5. Assorted candies	Pack	0	150	150	300	12,000.00	150	150	150	450	18,000.00	150	150	150	450	18,000.00	150	150	150	450	18,000.00	1,650.00	40.00	66,000.00
490	CIU	6. Coffee 3 in 1, 600grams (20x30 sachets)	Dozen	0	400	400	800	104,000.00	400	400	400	1200	156,000.00	400	400	400	1200	156,000.00	400	400	400	1200	156,000.00	4,400.00	130.00	572,000.00
491	CIU	8. Corned Beef 155gx48 halal	Cases	0	0	50	50	85,000.00	0	0	80	80	136,000.00	0	0	80	80	136,000.00	0	80	0	80	136,000.00	290.00	1,700.00	493,000.00
492	CIU	9. NFA Rice 50kilos	Sacks	0	0	125	125	200,000.00	0	0	125	125	200,000.00	0	0	125	125	200,000.00	0	125	0	125	200,000.00	500.00	1,600.00	800,000.00

FOOD (FORMULA MILK)

1	RSCC	S-26 infant milk	cans	0	80	0	80	184,000.00	0	0	0	0	0.00	80	0	0	80	184,000.00	0	0	0	0	0.00	160.00	2,300.00	368,000.00
2	RSCC	Enfamil infant formula milk 900g	cans	0	80	0	80	184,000.00	0	0	0	0	0.00	80	0	0	80	184,000.00	0	0	0	0	0.00	160.00	2,300.00	368,000.00
3	RSCC	Enfagrow	cans	0	80	0	80	184,000.00	0	0	0	0	0.00	80	0	0	80	184,000.00	0	0	0	0	0.00	160.00	2,300.00	368,000.00
4	RSCC	Full Cream Milk 900g	cases	0	80	0	80	656,000.00	0	0	0	0	0.00	80	0	0	80	656,000.00	0	0	0	0	0.00	160.00	8,200.00	1,312,000.00
5	RSCC	NAN HW 1-800g	cases	0	80	0	80	656,000.00	0	0	0	0	0.00	80	0	0	80	656,000.00	0	0	0	0	0.00	160.00	8,200.00	1,312,000.00
6	RSCC	NAN HW 2-800g	cases	0	80	0	80	656,000.00	0	0	0	0	0.00	80	0	0	80	656,000.00	0	0	0	0	0.00	160.00	8,200.00	1,312,000.00
7	RSCC	Nestogen 3-900g	cases	0	80	0	80	656,000.00	0	0	0	0	0.00	80	0	0	80	656,000.00	0	0	0	0	0.00	160.00	8,200.00	1,312,000.00
8	RSCC	Nestogen 2-900g	cases	0	80	0	80	656,000.00	0	0	0	0	0.00	80	0	0	80	656,000.00	0	0	0	0	0.00	160.00	8,200.00	1,312,000.00
9	RSCC	Nestogen 1-900g	cases	0	80	0	80	656,000.00	0	0	0	0	0.00	80	0	0	80	656,000.00	0	0	0	0	0.00	160.00	8,200.00	1,312,000.00
10	RSCC	Pediasure Milk 900g	cans	0	80	0	80	160,000.00	0	0	0	0	0.00	80	0	0	80	160,000.00	0	0	0	0	0.00	160.00	2,000.00	320,000.00

FOOD STUFF (GROCERY ITEMS)

1	RSCC	All Purpose Cream (250 ml)	packs	0	80	0	80	6,400.00	0	0	0	0	0.00	80	0	0	80	6,400.00	0	0	0	0	0.00	160.00	80.00	12,800.00
2	RSCC	All Purpose Flour (First Class Flour)	kilos	0	80	0	80	5,600.00	0	0	0	0	0.00	60	0	0	60	4,200.00	0	0	0	0	0.00	140.00	70.00	9,800.00
3	RSCC	Baking Powder 1KG	packs	0	6	0	6	2,100.00	0	0	0	0	0.00	3	0	0	3	1,050.00	0	0	0	0	0.00	9.00	350.00	3,150.00
4	RSCC	Beef Loaf 250 x 48g	cases	0	10	0	10	18,000.00	0	0	0	0	0.00	10	0	0	10	18,000.00	0	0	0	0	0.00	20.00	1,800.00	36,000.00
5	RSCC	Biscuits in pail 2.5 kgs	pails	0	50	0	50	17,500.00	0	0	0	0	0.00	50	0	0	50	17,500.00	0	0	0	0	0.00	100.00	350.00	35,000.00
6	RSCC	Biscuits (assorted) in packs (10's/pack)	pails	0	150	0	150	12,000.00	0	0	0	0	0.00	150	0	0	150	12,000.00	0	0	0	0	0.00	300.00	80.00	24,000.00
7	RSCC	Breading Mix 100g	packs	0	60	0	60	3,000.00	0	0	0	0	0.00	60	0	0	60	3,000.00	0	0	0	0	0.00	120.00	50.00	6,000.00
8	RSCC	Butter (225g)	packs	0	50	0	50	5,000.00	0	0	0	0	0.00	30	0	0	30	3,000.00	0	0	0	0	0.00	80.00	100.00	8,000.00
9	RSCC	Bread crumbs (500 g)	kilos	0	40	0	40	7,240.00	0	0	0	0	0.00	40	0	0	40	7,240.00	0	0	0	0	0.00	80.00	181.00	14,480.00
10	RSCC	Brown sugar 1 kl	kilos	0	90	0	90	5,850.00	0	0	0	0	0.00	90	0	0	90	5,850.00	0	0	0	0	0.00	180.00	65.00	11,700.00
11	RSCC	Cerelac in box 24 x 250g	cases	0	12	0	12	36,000.00	0	0	0	0	0.00	6	0	0	6	18,000.00	0	0	0	0	0.00	18.00	3,000.00	54,000.00
12	RSCC	Catsup 4kg	gallons	0	20	0	20	3,600.00	0	0	0	0	0.00	20	0	0	20	3,600.00	0	0	0	0	0.00	40.00	180.00	7,200.00
13	RSCC	Candies (assorted flavor)	packs	0	100	0	100	5,000.00	0	0	0	0	0.00	100	0	0	100	5,000.00	0	0	0	0	0.00	200.00	50.00	10,000.00
14	RSCC	Cheese (big) 44g	bars	0	70	0	70	11,900.00	0	0	0	0	0.00	40	0	0	40	6,800.00	0	0	0	0	0.00	110.00	170.00	18,700.00
15	RSCC	Yogurt (assorted flavors)	boxes	0	10	0	10	20,000.00	0	0	0	0	0.00	5	0	0	5	10,000.00	0	0	0	0	0.00	15.00	2,000.00	30,000.00
16	RSCC	Chicken Broth Cubes	packs	0	60	0	60	2,400.00	0	0	0	0	0.00	60	0	0	60	2,400.00	0	0	0	0	0.00	120.00	40.00	4,800.00
17	RSCC	Chocolate malt drink (1kg)	packs	0	100	0	100	43,000.00	0	0	0	0	0.00	100	0	0	100	43,000.00	0	0	0	0	0.00	200.00	430.00	86,000.00
18	RSCC	Chocolate chips-dark (340 grams)	packs	0	60	0	60	30,000.00	0	0	0	0	0.00	30	0	0	30	15,000.00	0	0	0	0	0.00	90.00	500.00	45,000.00
19	RSCC	Chocolate chips-semi sweet (340 gram)	packs	0	60	0	60	24,000.00	0	0	0	0	0.00	30	0	0	30	12,000.00	0	0	0	0	0.00	90.00	400.00	36,000.00
20	RSCC	Chocolate syrup 650ml (good quality)	bots	0	20	0	20	5,000.00	0	0	0	0	0.00	20	0	0	20	5,000.00	0	0	0	0	0.00	40.00	250.00	10,000.00

21	RSCC	Commercial Rice 25 kilos	sacks	0	160	0	160	240,000.00	0	0	0	0	0.00	160	0	0	160	240,000.00	0	0	0	0	0.00	320.00	1,500.00	480,000.00
22	RSCC	Condense Milk 387 grams	cans	0	80	0	80	4,000.00	0	0	0	0	0.00	80	0	0	80	4,000.00	0	0	0	0	0.00	160.00	50.00	8,000.00
23	RSCC	Cooking Oil (Canola & Vegetable oil)	gallons	0	60	0	60	30,000.00	0	0	0	0	0.00	60	0	0	60	30,000.00	0	0	0	0	0.00	120.00	500.00	60,000.00
24	RSCC	Coffee 3 in 1	boxes	0	6	0	6	21,960.00	0	0	0	0	0.00	6	0	0	6	21,960.00	0	0	0	0	0.00	12.00	3,660.00	43,920.00
25	RSCC	Cornstarch 500g	packs	0	40	0	40	2,400.00	0	0	0	0	0.00	30	0	0	30	1,800.00	0	0	0	0	0.00	70.00	60.00	4,200.00
26	RSCC	Corned Beef, 1.8 g	cans	0	60	0	60	28,200.00	0	0	0	0	0.00	60	0	0	60	28,200.00	0	0	0	0	0.00	120.00	470.00	56,400.00
27	RSCC	Cupcakes (assorted flavor)	packs	0	160	0	160	40,800.00	0	0	0	0	0.00	160	0	0	160	40,800.00	0	0	0	0	0.00	320.00	255.00	81,600.00
28	RSCC	Evaporated milk (370 ml)	cans	0	80	0	80	2,880.00	0	0	0	0	0.00	80	0	0	80	2,880.00	0	0	0	0	0.00	160.00	36.00	5,760.00
29	RSCC	Fresh Milk 1 Liter (good quality)	packs	0	40	0	40	8,000.00	0	0	0	0	0.00	30	0	0	30	6,000.00	0	0	0	0	0.00	70.00	200.00	14,000.00
30	RSCC	Fresh Egg Jumbo (chicken)	trays	0	100	0	100	30,000.00	0	0	0	0	0.00	100	0	0	100	30,000.00	0	0	0	0	0.00	200.00	300.00	60,000.00
31	RSCC	Fruit Cocktail 1kl	cans	0	80	0	80	22,880.00	0	0	0	0	0.00	80	0	0	80	22,880.00	0	0	0	0	0.00	160.00	286.00	45,760.00
32	RSCC	Garlic	kilos	0	20	0	20	4,000.00	0	0	0	0	0.00	18	0	0	18	3,600.00	0	0	0	0	0.00	38.00	200.00	7,600.00
33	RSCC	Gelatine Powder	pcs	0	50	0	50	1,000.00	0	0	0	0	0.00	50	0	0	50	1,000.00	0	0	0	0	0.00	100.00	20.00	2,000.00
34	RSCC	Ginisa Mix 250g	packs	0	50	0	50	2,500.00	0	0	0	0	0.00	30	0	0	30	1,500.00	0	0	0	0	0.00	80.00	50.00	4,000.00
35	RSCC	Vinegar 3.725L	gallons	0	24	0	24	5,040.00	0	0	0	0	0.00	18	0	0	18	3,780.00	0	0	0	0	0.00	42.00	210.00	8,820.00
36	RSCC	Glutinous Rice 500g	packs	0	40	0	40	7,000.00	0	0	0	0	0.00	40	0	0	40	7,000.00	0	0	0	0	0.00	80.00	175.00	14,000.00
37	RSCC	Green Peas 450g	cans	0	40	0	40	1,400.00	0	0	0	0	0.00	30	0	0	30	1,050.00	0	0	0	0	0.00	70.00	35.00	2,450.00
38	RSCC	Honey in bottle 300ml	bots	0	48	0	48	14,400.00	0	0	0	0	0.00	48	0	0	48	14,400.00	0	0	0	0	0.00	96.00	300.00	28,800.00
39	RSCC	Ice Cream Supreme-assorted flavors	gallons	0	200	0	200	50,000.00	0	0	0	0	0.00	100	0	0	100	25,000.00	0	0	0	0	0.00	300.00	250.00	75,000.00
40	RSCC	Iodized salt 500g	kilos	0	70	0	70	6,650.00	0	0	0	0	0.00	70	0	0	70	6,650.00	0	0	0	0	0.00	140.00	95.00	13,300.00
41	RSCC	Juice Powder, 1kg	packs	0	80	0	80	17,600.00	0	0	0	0	0.00	80	0	0	80	17,600.00	0	0	0	0	0.00	160.00	220.00	35,200.00
42	RSCC	Kaong 680g (green, red)	bots	0	48	0	48	4,320.00	0	0	0	0	0.00	48	0	0	48	4,320.00	0	0	0	0	0.00	96.00	90.00	8,640.00
43	RSCC	Kremdensada 410ml	cans	0	80	0	80	4,800.00	0	0	0	0	0.00	80	0	0	80	4,800.00	0	0	0	0	0.00	160.00	60.00	9,600.00
44	RSCC	Luncheon Meat 360g	cans	0	160	0	160	19,200.00	0	0	0	0	0.00	140	0	0	140	16,800.00	0	0	0	0	0.00	300.00	120.00	36,000.00
45	RSCC	Macaroni Elbow (1 kg)	packs	0	60	0	60	5,298.00	0	0	0	0	0.00	60	0	0	60	5,298.00	0	0	0	0	0.00	120.00	88.30	10,596.00
46	RSCC	Malagkit Rice	kilos	0	80	0	80	12,000.00	0	0	0	0	0.00	80	0	0	80	12,000.00	0	0	0	0	0.00	160.00	150.00	24,000.00
47	RSCC	Maple Syrup 355ml	bots	0	20	0	20	3,000.00	0	0	0	0	0.00	10	0	0	10	1,500.00	0	0	0	0	0.00	30.00	150.00	4,500.00
48	RSCC	Mayonaise 3.5 liters	canister	0	20	0	20	17,000.00	0	0	0	0	0.00	10	0	0	10	8,500.00	0	0	0	0	0.00	30.00	850.00	25,500.00
49	RSCC	Misua in packs	packs	0	40	0	40	4,000.00	0	0	0	0	0.00	20	0	0	20	2,000.00	0	0	0	0	0.00	60.00	100.00	6,000.00
50	RSCC	pizza crush	pcs	0	75	0	75	7,500.00	0	0	0	0	0.00	50	0	0	50	5,000.00	0	0	0	0	0.00	125.00	100.00	12,500.00
51	RSCC	Mongo grains	kilos	0	30	0	30	2,400.00	0	0	0	0	0.00	30	0	0	30	2,400.00	0	0	0	0	0.00	60.00	80.00	4,800.00
52	RSCC	Muscovado Sugar 1kg	packs	0	80	0	80	8,400.00	0	0	0	0	0.00	70	0	0	70	7,350.00	0	0	0	0	0.00	150.00	105.00	15,750.00
53	RSCC	Nata de coco (500ml)	bots	0	72	0	72	7,200.00	0	0	0	0	0.00	72	0	0	72	7,200.00	0	0	0	0	0.00	144.00	100.00	14,400.00
54	RSCC	Noodles, 72 x 55g	boxes	0	20	0	20	16,000.00	0	0	0	0	0.00	10	0	0	10	8,000.00	0	0	0	0	0.00	30.00	800.00	24,000.00
55	RSCC	Noodles in cup 48's x 40g (Halal)	boxes	0	20	0	20	20,000.00	0	0	0	0	0.00	10	0	0	10	10,000.00	0	0	0	0	0.00	30.00	1,000.00	30,000.00
56	RSCC	Odong 290grams	packs	0	60	0	60	1,800.00	0	0	0	0	0.00	30	0	0	30	900.00	0	0	0	0	0.00	90.00	30.00	2,700.00
57	RSCC	Onions	kilos	0	20	0	20	4,000.00	0	0	0	0	0.00	18	0	0	18	3,600.00	0	0	0	0	0.00	38.00	200.00	7,600.00
58	RSCC	Oyster sauce 1L	cases	0	1	0	1	4,579.00	0	0	0	0	0.00	1	0	0	1	4,579.00	0	0	0	0	0.00	2.00	4,579.00	9,158.00
59	RSCC	Peanut butter 800g	bots	0	40	0	40	26,000.00	0	0	0	0	0.00	40	0	0	40	26,000.00	0	0	0	0	0.00	80.00	650.00	52,000.00

60	RSCC	Pineapple chunks 450g	cans	0	60	0	60	3,000.00	0	0	0	0	0.00	60	0	0	60	3,000.00	0	0	0	0	0.00	120.00	50.00	6,000.00
61	RSCC	Curry powder 250g	packs	0	10	0	10	500.00	0	0	0	0	0.00	10	0	0	10	500.00	0	0	0	0	0.00	20.00	50.00	1,000.00
62	RSCC	Laurel leaves 200g	packs	0	10	0	10	500.00	0	0	0	0	0.00	10	0	0	10	500.00	0	0	0	0	0.00	20.00	50.00	1,000.00
63	RSCC	Pancit Bihon 500g	packs	0	60	0	60	6,000.00	0	0	0	0	0.00	60	0	0	60	6,000.00	0	0	0	0	0.00	120.00	100.00	12,000.00
64	RSCC	Pineapple sliced 422g	cans	0	60	0	60	6,000.00	0	0	0	0	0.00	60	0	0	60	6,000.00	0	0	0	0	0.00	120.00	100.00	12,000.00
65	RSCC	Raisin 360g	packs	0	60	0	60	5,400.00	0	0	0	0	0.00	30	0	0	30	2,700.00	0	0	0	0	0.00	90.00	90.00	8,100.00
66	RSCC	Sandwich spread 470ml	bots	0	60	0	60	13,500.00	0	0	0	0	0.00	60	0	0	60	13,500.00	0	0	0	0	0.00	120.00	225.00	27,000.00
67	RSCC	Sardines 155g 100's	boxes	0	10	0	10	25,000.00	0	0	0	0	0.00	10	0	0	10	25,000.00	0	0	0	0	0.00	20.00	2,500.00	50,000.00
68	RSCC	Sotanghon 1kl	kilos	0	70	0	70	28,000.00	0	0	0	0	0.00	70	0	0	70	28,000.00	0	0	0	0	0.00	140.00	400.00	56,000.00
69	RSCC	Soy Sauce 3.785 L	gallons	0	24	0	24	3,840.00	0	0	0	0	0.00	24	0	0	24	3,840.00	0	0	0	0	0.00	48.00	160.00	7,680.00
70	RSCC	Spaghetti Sauce 1kl	packs	0	60	0	60	6,600.00	0	0	0	0	0.00	60	0	0	60	6,600.00	0	0	0	0	0.00	120.00	110.00	13,200.00
71	RSCC	Spaghetti Pasta 1kl	packs	0	60	0	60	5,700.00	0	0	0	0	0.00	60	0	0	60	5,700.00	0	0	0	0	0.00	120.00	95.00	11,400.00
72	RSCC	Star margarine 1kl	tins	0	24	0	24	7,200.00	0	0	0	0	0.00	12	0	0	12	3,600.00	0	0	0	0	0.00	36.00	300.00	10,800.00
73	RSCC	Tetra pack juice (assorted) 10's box	packs	0	110	0	110	11,000.00	0	0	0	0	0.00	110	0	0	110	11,000.00	0	0	0	0	0.00	220.00	100.00	22,000.00
74	RSCC	Tomato Sauce 1kg	packs	0	60	0	60	6,000.00	0	0	0	0	0.00	60	0	0	60	6,000.00	0	0	0	0	0.00	120.00	100.00	12,000.00
75	RSCC	Tuna 1.8g	cans	0	110	0	110	63,800.00	0	0	0	0	0.00	110	0	0	110	63,800.00	0	0	0	0	0.00	220.00	580.00	127,600.00
76	RSCC	Tuna Flakes in Oil 175g (100cans/cas	cases	0	10	0	10	37,500.00	0	0	0	0	0.00	10	0	0	10	37,500.00	0	0	0	0	0.00	20.00	3,750.00	75,000.00
77	RSCC	Vanilla Extract 120ml	bots	0	25	0	25	750.00	0	0	0	0	0.00	25	0	0	25	750.00	0	0	0	0	0.00	50.00	30.00	1,500.00
78	RSCC	Vienna Sausage 230g	cans	0	150	0	150	13,500.00	0	0	0	0	0.00	120	0	0	120	10,800.00	0	0	0	0	0.00	270.00	90.00	24,300.00
79	RSCC	White Sugar 1kl	kilos	0	75	0	75	4,875.00	0	0	0	0	0.00	75	0	0	75	4,875.00	0	0	0	0	0.00	150.00	65.00	9,750.00
80	RSCC	Whole Ketel Corn	tins	0	60	0	60	4,800.00	0	0	0	0	0.00	60	0	0	60	4,800.00	0	0	0	0	0.00	120.00	80.00	9,600.00
81	RSCC	Purchase of Water Refillable	bots	0	137	137	274	8,220.00	137	137	137	411	12,330.00	137	137	137	411	12,330.00	137	137	137	411	12,330.00	1,507.00	30.00	45,210.00
82	RSCC	Birthday cake (2 layers)	pcs	2	2	2	6	16,500.00	2	2	2	6	16,500.00	2	2	2	6	16,500.00	2	2	2	6	16,500.00	24.00	2,750.00	66,000.00
83	RSCC	Chiffon cake	pcs	2	2	2	6	1,800.00	2	2	2	6	1,800.00	2	2	2	6	1,800.00	2	2	2	6	1,800.00	24.00	300.00	7,200.00
84	RSCC	Banana cake	pcs	2	2	2	6	1,800.00	2	2	2	6	1,800.00	2	2	2	6	1,800.00	2	2	2	6	1,800.00	24.00	300.00	7,200.00
85	RSCC	Cup cakes	pcs	10	10	13	33	1,650.00	10	10	10	30	1,500.00	10	10	10	30	1,500.00	10	10	10	30	1,500.00	123.00	50.00	6,150.00
86	RSCC	Ice cream assorted flavors 1.5L	gallons	3	3	3	9	5,850.00	3	3	3	9	5,850.00	3	3	3	9	5,850.00	3	3	3	9	5,850.00	36.00	650.00	23,400.00
87	RSCC	Ice cream cone (sugar cone)	packs	3	3	3	9	540.00	3	3	3	9	540.00	3	3	3	9	540.00	3	3	3	9	540.00	36.00	60.00	2,160.00
88																										

FOOD STUFF (FROZEN GOODS)

1		Chicken Nuggets	kilos	0	100	0	100	28,500.00	0	100	0	100	28,500.00	100	0	0	100	28,500.00	100	0	0	100	28,500.00	400.00	285.00	114,000.00
2		Chicken Tocino	kilos	0	72	0	72	21,600.00	0	72	0	72	21,600.00	72	0	0	72	21,600.00	72	0	0	72	21,600.00	288.00	300.00	86,400.00
3		Boneless Bangus	kilos	0	100	0	100	40,000.00	0	100	0	100	40,000.00	100	0	0	100	40,000.00	100	0	0	100	40,000.00	400.00	400.00	160,000.00
4		Clams/Shell	kilos	0	100	0	100	30,000.00	0	100	0	100	30,000.00	100	0	0	100	30,000.00	100	0	0	100	30,000.00	400.00	300.00	120,000.00
5		French fries 1 kilo per pack	packs	0	20	0	20	6,000.00	0	20	0	20	6,000.00	20	0	0	20	6,000.00	20	0	0	20	6,000.00	80.00	300.00	24,000.00
6		Yellow fin	kilos	0	200	0	200	70,000.00	0	200	0	200	70,000.00	200	0	0	200	70,000.00	200	0	0	200	70,000.00	800.00	350.00	280,000.00
7		Talakilo	kilos	0	200	0	200	70,000.00	0	200	0	200	70,000.00	200	0	0	200	70,000.00	200	0	0	200	70,000.00	800.00	350.00	280,000.00
8		Malambaka	kilos	0	200	0	200	50,000.00	0	200	0	200	50,000.00	200	0	0	200	50,000.00	200	0	0	200	50,000.00	800.00	250.00	200,000.00
9		Lapu-Lapu	kilos	0	200	0	200	70,000.00	0	200	0	200	70,000.00	200	0	0	200	70,000.00	200	0	0	200	70,000.00	800.00	350.00	280,000.00

10	Kubak-Kubal	kilos	0	200	0	200	120,000.00	0	200	0	200	120,000.00	200	0	0	200	120,000.00	200	0	0	200	120,000.00	800.00	600.00	480,000.00
11	Maya-Maya	kilos	0	200	0	200	70,000.00	0	200	0	200	70,000.00	200	0	0	200	70,000.00	200	0	0	200	70,000.00	800.00	350.00	280,000.00
12	Tangingui	kilos	0	200	0	200	90,000.00	0	200	0	200	90,000.00	200	0	0	200	90,000.00	200	0	0	200	90,000.00	800.00	450.00	360,000.00
13	Blue Marlin	kilos	0	200	0	200	110,000.00	0	200	0	200	110,000.00	200	0	0	200	110,000.00	200	0	0	200	110,000.00	800.00	550.00	440,000.00
14	Fresh Squid	kilos	0	100	0	100	35,000.00	0	100	0	100	35,000.00	100	0	0	100	35,000.00	100	0	0	100	35,000.00	400.00	350.00	140,000.00
15	Hotdog 1kl	kilos	0	100	0	100	23,000.00	0	100	0	100	23,000.00	100	0	0	100	23,000.00	100	0	0	100	23,000.00	400.00	230.00	92,000.00
16	Shrimps (lakan)	kilos	0	50	0	50	45,000.00	0	50	0	50	45,000.00	50	0	0	50	45,000.00	50	0	0	50	45,000.00	200.00	900.00	180,000.00
17	Shrimps (medium size)	kilos	0	50	0	50	20,000.00	0	50	0	50	20,000.00	50	0	0	50	20,000.00	50	0	0	50	20,000.00	200.00	400.00	80,000.00

FOOD STUFF (ASSORTED MEAT AND POULTRY GOODS)

1	RSCC	Beef Laman	kilos	0	150	0	150	57,000.00	0	0	0	0	0.00	150	0	0	150	57,000.00	0	0	0	0	0.00	300.00	380.00	114,000.00
2	RSCC	Beef Ribs	kilos	0	100	0	100	29,000.00	0	0	0	0	0.00	70	0	0	70	20,300.00	0	0	0	0	0.00	170.00	290.00	49,300.00
3	RSCC	Beef Tapa	kilos	0	100	0	100	30,000.00	0	0	0	0	0.00	100	0	0	100	30,000.00	0	0	0	0	0.00	200.00	300.00	60,000.00
4	RSCC	Chicken Breast	kilos	0	200	0	200	42,000.00	0	0	0	0	0.00	200	0	0	200	42,000.00	0	0	0	0	0.00	400.00	210.00	84,000.00
5	RSCC	Chicken Liver	kilos	0	120	0	120	24,000.00	0	0	0	0	0.00	120	0	0	120	24,000.00	0	0	0	0	0.00	240.00	200.00	48,000.00
6	RSCC	Dressed Chicken	kilos	0	300	0	300	57,000.00	0	0	0	0	0.00	300	0	0	300	57,000.00	0	0	0	0	0.00	600.00	190.00	114,000.00
7	RSCC	Dried Dils	kilos	0	100	0	100	35,000.00	0	0	0	0	0.00	100	0	0	100	35,000.00	0	0	0	0	0.00	200.00	350.00	70,000.00
8	RSCC	Dried Squid	kilos	0	40	0	40	24,000.00	0	0	0	0	0.00	40	0	0	40	24,000.00	0	0	0	0	0.00	80.00	600.00	48,000.00
9	RSCC	Ground Beef	kilos	0	100	0	100	27,000.00	0	0	0	0	0.00	100	0	0	100	27,000.00	0	0	0	0	0.00	200.00	270.00	54,000.00
10	RSCC	Dried danggit boneless	kilos	0	0	0	0	0.00	0	0	0	0	0.00	50	0	0	50	25,000.00	0	0	0	0	0.00	50.00	500.00	25,000.00
11	RSCC	Ground Chicken	kilos	0	0	0	0	0.00	0	0	0	0	0.00	50	0	0	50	10,000.00	0	0	0	0	0.00	50.00	200.00	10,000.00
12	RSCC	Beef Bones	kilos	0	0	0	0	0.00	0	0	0	0	0.00	70	0	0	70	17,500.00	0	0	0	0	0.00	70.00	250.00	17,500.00
13	RSCC	Beef Cubes	kilos	0	0	0	0	0.00	0	0	0	0	0.00	70	0	0	70	21,000.00	0	0	0	0	0.00	70.00	300.00	21,000.00

FOOD STUFF (ASSORTED VEGETABLES)

1	RSCC	Baguio Beans	kilos	0	20	0	20	1,000.00	0	20	0	20	1,000.00	20	0	0	20	1,000.00	20	0	0	20	1,000.00	80.00	50.00	4,000.00
2	RSCC	Bell Pepper	kilos	0	20	0	20	3,200.00	0	20	0	20	3,200.00	20	0	0	20	3,200.00	20	0	0	20	3,200.00	80.00	160.00	12,800.00
3	RSCC	Broccoli	kilos	0	10	0	10	3,000.00	0	10	0	10	3,000.00	10	0	0	10	3,000.00	10	0	0	10	3,000.00	40.00	300.00	12,000.00
4	RSCC	Cabbage	kilos	0	50	0	50	9,250.00	0	50	0	50	9,250.00	50	0	0	50	9,250.00	50	0	0	50	9,250.00	200.00	185.00	37,000.00
5	RSCC	Camote	kilos	0	50	0	50	2,750.00	0	50	0	50	2,750.00	50	0	0	50	2,750.00	50	0	0	50	2,750.00	200.00	55.00	11,000.00
6	RSCC	Carrots	kilos	0	50	0	50	7,500.00	0	50	0	50	7,500.00	50	0	0	50	7,500.00	50	0	0	50	7,500.00	200.00	150.00	30,000.00
7	RSCC	Cassava (yellow)	kilos	0	50	0	50	4,250.00	0	50	0	50	4,250.00	50	0	0	50	4,250.00	50	0	0	50	4,250.00	200.00	85.00	17,000.00
8	RSCC	Chapsuey veg	kilos	0	30	0	30	6,000.00	0	30	0	30	6,000.00	30	0	0	30	6,000.00	30	0	0	30	6,000.00	120.00	200.00	24,000.00
9	RSCC	Cucumber	pcs	0	60	0	60	3,600.00	0	60	0	60	3,600.00	60	0	0	60	3,600.00	60	0	0	60	3,600.00	240.00	60.00	14,400.00
10	RSCC	Eggplant	kilos	0	40	0	40	2,800.00	0	40	0	40	2,800.00	40	0	0	40	2,800.00	40	0	0	40	2,800.00	160.00	70.00	11,200.00
11	RSCC	Ginger	kilos	0	10	0	10	1,000.00	0	10	0	10	1,000.00	10	0	0	10	1,000.00	10	0	0	10	1,000.00	40.00	100.00	4,000.00
12	RSCC	Pechay	bundles	0	60	0	60	1,800.00	0	60	0	60	1,800.00	60	0	0	60	1,800.00	60	0	0	60	1,800.00	240.00	30.00	7,200.00
13	RSCC	Palatoes	kilos	0	40	0	40	4,800.00	0	40	0	40	4,800.00	40	0	0	40	4,800.00	40	0	0	40	4,800.00	160.00	120.00	19,200.00
14	RSCC	Sayote	pcs	0	100	0	100	2,000.00	0	100	0	100	2,000.00	100	0	0	100	2,000.00	100	0	0	100	2,000.00	400.00	20.00	8,000.00

15	RSCC	Squash	kilos	0	30	0	30	2,100.00	0	30	0	30	2,100.00	30	0	0	30	2,100.00	30	0	0	30	2,100.00	120.00	70.00	8,400.00
16	RSCC	Sweet Potato	kilos	0	20	0	20	1,400.00	0	20	0	20	1,400.00	20	0	0	20	1,400.00	20	0	0	20	1,400.00	80.00	70.00	5,600.00
17	RSCC	String beans	bundles	0	60	0	60	1,800.00	0	60	0	60	1,800.00	60	0	0	60	1,800.00	60	0	0	60	1,800.00	240.00	30.00	7,200.00
18	RSCC	Tofu	pcs	0	40	0	40	2,800.00	0	40	0	40	2,800.00	40	0	0	40	2,800.00	40	0	0	40	2,800.00	160.00	70.00	11,200.00
19	RSCC	Pepper	kilos	0	20	0	20	4,000.00	0	20	0	20	4,000.00	20	0	0	20	4,000.00	20	0	0	20	4,000.00	80.00	200.00	16,000.00
20	RSCC	Peanut	kilos	0	20	0	20	4,800.00	0	20	0	20	4,800.00	20	0	0	20	4,800.00	20	0	0	20	4,800.00	80.00	240.00	19,200.00
21	RSCC	Sweet corn	pcs	0	140	0	140	8,400.00	0	140	0	140	8,400.00	140	0	0	140	8,400.00	140	0	0	140	8,400.00	560.00	60.00	33,600.00
22	RSCC	Tomato	kilos	0	20	0	20	1,900.00	0	20	0	20	1,900.00	20	0	0	20	1,900.00	20	0	0	20	1,900.00	80.00	95.00	7,600.00
23	RSCC	Tumon	kilos	0	20	0	20	1,400.00	0	20	0	20	1,400.00	20	0	0	20	1,400.00	20	0	0	20	1,400.00	80.00	70.00	5,600.00
24	RSCC	Assorted Veg	kilos	0	30	0	30	4,500.00	0	30	0	30	4,500.00	30	0	0	30	4,500.00	30	0	0	30	4,500.00	120.00	150.00	18,000.00
							0	0.00				0	0.00				0	0.00				0	0.00	0.00		0.00

FOOD STUFF (ASSORTED FRUITS)

1		Apples (Fuji)	cases	0	8	0	8	28,800.00	0	8	0	8	28,800.00	8	0	0	8	28,800.00	8	0	0	8	28,800.00	32.00	3,600.00	115,200.00
2		Avocado	kilos	0	30	0	30	3,000.00	0	30	0	30	3,000.00	30	0	0	30	3,000.00	30	0	0	30	3,000.00	120.00	100.00	12,000.00
3		Banana Tundan	kilos	0	50	0	50	10,000.00	0	50	0	50	10,000.00	50	0	0	50	10,000.00	50	0	0	50	10,000.00	200.00	200.00	40,000.00
4		Banana Lakatan	kilos	0	100	0	100	9,000.00	0	100	0	100	9,000.00	100	0	0	100	9,000.00	100	0	0	100	9,000.00	400.00	90.00	36,000.00
5		Calamansi	kilos	0	10	0	10	700.00	0	10	0	10	700.00	10	0	0	10	700.00	10	0	0	10	700.00	40.00	70.00	2,800.00
6		Grapes	kilos	0	50	0	50	25,000.00	0	50	0	50	25,000.00	50	0	0	50	25,000.00	50	0	0	50	25,000.00	200.00	500.00	100,000.00
7		Banana (Cardava/Saba)	kilos	0	50	0	50	4,000.00	0	50	0	50	4,000.00	50	0	0	50	4,000.00	50	0	0	50	4,000.00	200.00	80.00	16,000.00
8		Lemon	kilos	0	10	0	10	4,000.00	0	10	0	10	4,000.00	10	0	0	10	4,000.00	10	0	0	10	4,000.00	40.00	400.00	16,000.00
9		Papaya	kilos	0	50	0	50	7,000.00	0	50	0	50	7,000.00	50	0	0	50	7,000.00	50	0	0	50	7,000.00	200.00	140.00	28,000.00
10		Pineapple	kilos	0	50	0	50	3,250.00	0	50	0	50	3,250.00	50	0	0	50	3,250.00	50	0	0	50	3,250.00	200.00	65.00	13,000.00
11		Pears	pieces	0	120	0	120	4,800.00	0	120	0	120	4,800.00	120	0	0	120	4,800.00	120	0	0	120	4,800.00	480.00	40.00	19,200.00
12		Orange (Sunkist/Ponkan)	cases	0	8	0	8	24,000.00	0	8	0	8	24,000.00	8	0	0	8	24,000.00	8	0	0	8	24,000.00	32.00	3,000.00	96,000.00
13		Mangosteen	kilos	0	30	0	30	4,500.00	0	30	0	30	4,500.00	30	0	0	30	4,500.00	30	0	0	30	4,500.00	120.00	150.00	18,000.00
14		Ripe Mango (Carabao)	kilos	0	100	0	100	30,000.00	0	100	0	100	30,000.00	100	0	0	100	30,000.00	100	0	0	100	30,000.00	400.00	300.00	120,000.00
15		Watermelon	kilos	0	100	0	100	10,000.00	0	100	0	100	10,000.00	100	0	0	100	10,000.00	100	0	0	100	10,000.00	400.00	100.00	40,000.00

FURNITURE AND FIXTURE

1	SWADT-ISABELA	OFFICE TABLE WOODEN	UNIT	0	0	12	12	108,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	12.00	9,000.00	108,000.00
2	4PS/PAG.	OFFICE TABLE	pcs	1	0	0	1	14,999.00	1	1	0	2	29,998.00	0	0	0	0	0.00	0	0	0	0	0.00	3.00	14,999.00	44,997.00
3	RECORDS	OFFICE TABLE-MINI CONFERENCE TABLE	UNIT	1	0	0	1	15,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	15,000.00	15,000.00
4	4PS/PAG.	OFFICE CHAIR	pcs	3	0	0	3	15,900.00	0	1	0	1	5,300.00	0	0	0	0	0.00	0	0	0	0	0.00	4.00	5,300.00	21,200.00
5	PPD	OFFICE CHAIR , HIGH BACK		0	0	10	10	90,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10.00	9,000.00	90,000.00
6	ARDO/PCDP/RSCC	EXECUTIVE CHAIR	UNIT	2	5	0	7	70,000.00	0	0	0	0	0.00	7	0	0	7	70,000.00	0	0	0	0	0.00	14.00	10,000.00	140,000.00
7	SWADT-ISABELA/PAG	OFFICE SWIVEL CHAIR	pcs	1	0	4	5	40,000.00	1	0	0	1	8,000.00	0	0	2	2	16,000.00	0	0	0	0	0.00	8.00	8,000.00	64,000.00
8	SWADT-PAG.	STEEL CANINET	pcs	1	0	0	1	10,000.00	2	0	0	2	20,000.00	0	0	3	3	30,000.00	0	0	0	0	0.00	6.00	10,000.00	60,000.00
9	SWADT-PAG.	CHAIR WITH ARM	pcs	6	0	0	6	12,000.00	3	0	0	3	6,000.00	0	0	4	4	8,000.00	0	0	0	0	0.00	13.00	2,000.00	26,000.00
10	PCDP	Office Table w/top Glass(Office Table w/top Glass)	pcs	15	0	0	15	150,000.00	12	0	0	12	120,000.00	15	0	0	15	150,000.00	12	0	0	12	120,000.00	54.00	10,000.00	540,000.00

11	HFW	GANG CHAIR	pcs	0	0	0	0	0.00	0	0	0	0	0.00	5	0	0	5	35,000.00	0	5	5	35,000.00	10.00	7,000.00	70,000.00	
12	HFW	COMPUTER TABLE	pcs	0	4	0	4	12,000.00	0	0	0	0	0.00	0	4	0	4	12,000.00	0	0	0	0	0.00	8.00	3,000.00	24,000.00
13		STEEL CABINET(STEEL CABINET)	UNIT	15	0	0	15	300,000.00	0	0	0	0	0.00	15	0	0	15	300,000.00	0	0	0	0	0.00	30.00	20,000.00	600,000.00
14		Junior Executive Chair(Junior Executive Chair)	unit	15	0	0	15	75,000.00	0	0	0	0	0.00	15	0	0	15	75,000.00	0	0	0	0	0.00	30.00	5,000.00	150,000.00
16		executive chairs(Adjustable tension Bar, Heavy Duty mechanis, plywood)	unit	12	0	0	12	60,000.00	0	0	0	0	0.00	12	0	0	12	60,000.00	0	0	0	0	0.00	24.00	5,000.00	120,000.00
Construction, upgrading, Repair of Building (LABOR AND MATERIALS)																										
1	CRCF	CONSTRUCTION OF KITCHEN AND LAUNDRY AREA OF AVRC III	LOT	1	0	0	1	405,706.59	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	405,706.59	405,706.59
2	CRCF	CONSTRUCTION OF COVERED PATHWAY	LOT	1	0	0	1	880,460.72	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	880,460.72	880,460.72
3	CRCF	UPGRADING AND CONST. OF PERIMETER FENCE , THREE MAIN GATE ENTRANCE PDCV	LOT	1	0	0	1	3,759,747.06	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	3,759,747.06	3,759,747.06
4	CRCF	UPGRADING OF ADMIN. BUILDING - HOME FOR ELDERLY	LOT	1	0	0	1	4,627,549.83	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	4,627,549.83	4,627,549.83
5	CRCF	UPGRADING OF RESIDENCE QUARTER PHASE II-HFE	LOT	1	0	0	1	3,365,242.79	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	3,365,242.79	3,365,242.79
6	CRCF	UPGRADING OF WATER SYSTEM-HFE	LOT	1	0	0	1	350,600.47	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	350,600.47	350,600.47
7	CRCF	CONSTRUCTION OF WATER TOWER HOME FOR WOMEN	LOT	1	0	0	1	722,982.40	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	722,982.40	722,982.40
8	CRCF	CONSTRUCTION OF WATER TOWER PCDP	LOT	1	0	0	1	722,982.40	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	722,982.40	722,982.40
9	CRCF	EMBANKMENT-HOME FOR WOMEN	LOT	1	0	0	1	924,896.45	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	924,896.45	924,896.45
10	CRCF	CONST. OF MULTI-PURPOSE BUILDING-RRCY	LOT	1	0	0	1	7,755,391.07	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	7,755,391.07	7,755,391.07
11	CRCF	CONST. OF PERIMETER FENCE-RRCY	LOT	1	0	0	1	6,128,385.60	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	6,128,385.60	6,128,385.60
12	CRCF	CONST. OF PLAYGROUND-RSCC	LOT	1	0	0	1	390,874.22	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	390,874.22	390,874.22
13	CRCF	CONST. OF WATER TOWER-RSCC	LOT	1	0	0	1	722,982.40	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	722,982.40	722,982.40
14	CRCF	REPAIR OF MULTI-PURPOSE BUILDING-RSCC	LOT	1	0	0	1	269,144.24	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	269,144.24	269,144.24
15	AVRC	Installation of Floor Tiles(Labor & material)	area	0	0	0	0	0.00	0	0	1	1	331,817.90	0	0	0	0	0.00	0	0	0	0	0.00	1.00	331,817.90	331,817.90
16	AVRC	Repair of Center Head Office and Auditorium	area	0	0	0	0	0.00	0	0	1	1	500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	500,000.00	500,000.00
17	AVRC	Installation of Glass Partition for Conference Room	area	0	0	0	0	0.00	0	0	1	1	116,380.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	116,380.00	116,380.00
18	AVRC	Painting of Ceiling(Labor & Materials)	area	0	0	0	0	0.00	0	0	1	1	200,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	200,000.00	200,000.00
19	AVRC	Improvement of the Receiving Area	area	0	0	0	0	0.00	0	0	1	1	200,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	200,000.00	200,000.00
20	AVRC	Landscapping/Hardscapping(labor & material)	area	0	0	0	0	0.00	0	0	1	1	500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	500,000.00	500,000.00
21	GEN. SVC-PUB	REPAIR OF FO IX BUILDING	SVC.	0	0	0	0	0.00	0	1	0	1	2,100,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	2,100,000.00	2,100,000.00
22	GEN. SVC-PUB	UPGRADING OF DSWD FO IX COMPOUND	LOT	0	0	1	1	800,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	800,000.00	800,000.00
23	GEN. SVC-PUB	REPAIR OF DILAPIDATED ROOFING	LOT	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	500,000.00	0	0	0	0	0.00	1.00	500,000.00	500,000.00
24	GEN. SVC-PUB	REPLACEMENT OF FLOOR TILE AT GROUND FLOOR	LOT	0	0	0	0	0.00	0	1	0	1	1,500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,500,000.00	1,500,000.00
25	GEN. SVC-PUB	REPAIR OF CONFERENCE ROOM (AIR CONDITIONING)	LOT	0	0	0	0	0.00	0	1	0	1	500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	500,000.00	500,000.00
26	GEN. SVC-PUB	PROVISION OF AIRCON CONDENSED WATER DRAIN	LOT	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	100,000.00	0	0	0	0	0.00	1.00	100,000.00	100,000.00
27	GEN. SVC-PUB	UPGRADING OF CIU BUILDING (REPAIR)	LOT	0	0	0	0	0.00	0	0	0	0	0.00	0	1	0	1	6,000,000.00	0	0	0	0	0.00	1.00	6,000,000.00	6,000,000.00
28	GEN. SVC-PUB	UPGRADING OF RYH BUILDING . REPAIR	LOT	0	0	0	0	0.00	0	0	0	0	0.00	0	1	0	1	500,000.00	0	0	0	0	0.00	1.00	500,000.00	500,000.00
29	GEN. SVC-PUB	UPGRADING OF RYH BUILDING (INTERIOR)	LOT	0	0	0	0	0.00	0	0	0	0	0.00	0	1	0	1	500,000.00	0	0	0	0	0.00	1.00	500,000.00	500,000.00
30	GEN. SVC-PUB	CONSTRUCTION OF STORAGE BUILDING	LOT	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	#####	0	0	0	0	0.00	1.00	10,000,000.00	10,000,000.00
31	GEN. SVC-PUB	UPGRADING OF SWADT-DIPOLOG LI	LOT	0	0	0	0	0.00	0	0	0	0	0.00	0	1	0	1	300,000.00	0	0	0	0	0.00	1.00	300,000.00	300,000.00
32	GEN. SVC-PUB	ZDN CONSTRUCTION OF SWADT AT	LOT	0	0	0	0	0.00	0	0	0	0	0.00	0	0	1	1	#####	0	0	0	0	0.00	1.00	15,000,000.00	15,000,000.00
33	GEN. SVC-PUB	CONSTRUCTION OF PEREMETER FENCE	LOT	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	1,200,000.00	0	0	0	0	0.00	1.00	1,200,000.00	1,200,000.00

34	GEN. SVC-PUB	PROVISION OF WINDOW GRILLS C	LOT	0	0	0	0	0.00	0	0	0	0	0.00	0	1	0	1	2,000,000.00	0	0	0	0	0.00	1.00	2,000,000.00	2,000,000.00	
35	GEN. SVC-PUB	UPGRADING OF ADMIN BUILDING AT SWADT- IPIII		0	0	0	0	0.00	0	0	0	0	0.00	0	1	0	1	2,000,000.00	0	0	0	0	0.00	1.00	2,000,000.00	2,000,000.00	
	AVRC	Installation of Ramps at the Newly Repaired Structures of AVRC- III(Labor & Materials)																									
36	AVRC	Agriculture Room	lot	0	0	0	0	0.00	0	0	1	1	31,787.41	0	0	0	0	0.00	0	0	0	0	0.00	1.00	31,787.41	31,787.41	
37	AVRC	Canteen	lot	0	0	0	0	0.00	0	0		0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.00		0.00	
38	AVRC	Ramp 1(2)	lot	0	0	0	0	0.00	0	0	1	1	63,574.81	0	0	0	0	0.00	0	0	0	0	0.00	1.00	63,574.81	63,574.81	
39	AVRC	Ramp 2	lot	0	0	0	0	0.00	0	0	1	1	60,293.31	0	0	0	0	0.00	0	0	0	0	0.00	1.00	60,293.31	60,293.31	
40	AVRC	Maintenance Room	lot	0	0	0	0	0.00	0	0	1	1	63,574.81	0	0	0	0	0.00	0	0	0	0	0.00	1.00	63,574.81	63,574.81	
41	AVRC	Music & Supply Room	lot	0	0	0	0	0.00	0	0	1	1	63,574.81	0	0	0	0	0.00	0	0	0	0	0.00	1.00	63,574.81	63,574.81	
	AVRC	Painting of Newly Repaired Structures at AVRC-III(Labor & Materials)																									
42	AVRC	Agriculture Room	no	0	0	0	0	0.00	0	0	1	1	37,919.30	0	0	0	0	0.00	0	0	0	0	0.00	1.00	37,919.30	37,919.30	
43	AVRC	Canteen & Storage Room	no	0	0	0	0	0.00	0	0	1	1	99,242.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	99,242.00	99,242.00	
44	AVRC	Maintenance Room	no	0	0	0	0	0.00	0	0	1	1	74,107.23	0	0	0	0	0.00	0	0	0	0	0.00	1.00	74,107.23	74,107.23	
45	AVRC	Music and Supply Room	no	0	0	0	0	0.00	0	0	1	1	99,242.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	99,242.00	99,242.00	
46	AVRC	Guard House	no	0	0	0	0	0.00	0	0	1	1	3,500.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	3,500.00	3,500.00	
	AVRC	Installation of Covered Walkway at AVRC-III (Labor and Materials) Scope of Works:																									
47	AVRC	Concrete Works	no	0	0	0	0	0.00	0	0	1	1	160,332.78	0	0	0	0	0.00	0	0	0	0	0.00	1.00	160,332.78	160,332.78	
48	AVRC	Metal Works	no	0	0	0	0	0.00	0	0	1	1	524,279.70	0	0	0	0	0.00	0	0	0	0	0.00	1.00	524,279.70	524,279.70	
49	AVRC	Roofing Works	no	0	0	0	0	0.00	0	0	1	1	110,832.40	0	0	0	0	0.00	0	0	0	0	0.00	1.00	110,832.40	110,832.40	
50	AVRC	Labor(transfer of old covered walkway)	no	0	0	0	0	0.00	0	0	1	1	4,500.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	4,500.00	4,500.00	
		Installation of Windows at AVRC-III Canteen (Labor and Materials)																									
51	AVRC	Materials	no	0	0	0	0	0.00	0	0	1	1	30,900.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	30,900.00	30,900.00	
52	AVRC	Labor	no	0	0	0	0	0.00	0	0	1	1	1,680.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,680.00	1,680.00	
53	AVRC	Equipments	no	0	0	0	0	0.00	0	0	1	1	2,180.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	2,180.00	2,180.00	
54	AVRC	Miscellaneous	no	0	0	0	0	0.00	0	0	1	1	6,920.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	6,920.00	6,920.00	
		Painting of Music and Supply Rooms (labor & Materials) Scope of Works:																									
55	AVRC	Materials	no	0	0	0	0	0.00	0	0	1	1	68,470.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	68,470.00	68,470.00	
56	AVRC	Labor	no	0	0	0	0	0.00	0	0	1	1	10,080.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	10,080.00	10,080.00	
57	AVRC	Equipments	no	0	0	0	0	0.00	0	0	1	1	10,580.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	10,580.00	10,580.00	
58	AVRC	Miscellaneous	no	0	0	0	0	0.00	0	0	1	1	10,473.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	10,473.00	10,473.00	
		Repair of AVRC-III Main Building																									
59	AVRC	Installation of Floor Tiles(Labor & materials)	area	0	0	0	0	0.00	0	0	1	1	331,817.90	0	0	0	0	0.00	0	0	0	0	0.00	1.00	331,817.90	331,817.90	
60	AVRC	Repair of Center Head Office and Auditorium	area	0	0	0	0	0.00	0	0	1	1	500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	500,000.00	500,000.00	
61	AVRC	Installation of Glass Partition for Conference Room	area	0	0	0	0	0.00	0	0	1	1	116,380.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	116,380.00	116,380.00	
62	AVRC	Painting of Ceiling(Labor & Materials)	area	0	0	0	0	0.00	0	0	1	1	200,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	200,000.00	200,000.00	
63	AVRC	Improvement of the Receiving Area	area	0	0	0	0	0.00	0	0	1	1	200,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	200,000.00	200,000.00	
64	AVRC	Landscapping/Hardscapping(labor & materials)	area	0	0	0	0	0.00	0	0	1	1	500,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	500,000.00	500,000.00	
UPGRADING OF ELECTRICAL SYSTEM (LABOR AND MATERIALS)																											
65	GEN. SVC.	UPGRADING OF ELECTRICAL SYSTEM OF DSWD FO IX	LOT	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	3,000,000.00	0	0	0	0	0.00	1.00	3,000,000.00	3,000,000.00	

66	CRCF	UPGRADING OF ELECTRICAL SYSTEM	LOT	1	0	0	1	#####	0	0	0	0	0.00	0	0	0	0	0	0	0	0.00	1.00	31,573,362.56	31,573,362.56		
67	CRCF	UPGRADING OF ELECTRICAL SYSTEM-HOME FOR THE ELDERLY	LOT	1	0	0	1	1,315,480.30	0	0	0	0	0.00	0	0	0	0	0	0	0	0.00	1.00	1,315,480.30	1,315,480.30		
68	CRCF	OTHER STRUCTURE OUTLAY-SOLAR (SOLAR SYSTEM)	LOT	1	0	0	1	#####	0	0	0	0	0.00	0	0	0	0	0	0	0	0.00	1.00	49,295,774.65	49,295,774.65		
69																										
REPAIR AND MAINTENANCE OF OFFICE EQUIPMENT																										
71	RECORDS	REPAIR OF PHOTOCOPIER KYOCERA	SVC.	0	1	0	1	2,500.00	0	0	1	1	2,500.00	0	0	0	0	0	0	0	0.00	2.00	2,500.00	5,000.00		
72		REPAIR OF COMPUTER	SVC.	0	1	0	1	2,500.00	0	0	1	1	2,500.00	0	0	0	0	0	0	0	0.00	2.00	2,500.00	5,000.00		
73		Repair and maintenance of computer and printer	SVC.	0	0	3	3	9,000.00	0	0	3	3	9,000.00	0	0	3	3	9,000.00	0	0	3	3	9,000.00	12.00	3,000.00	36,000.00
74	AICS	Repair and maintenance of air conditioner	SVC.	2	0	0	2	3,000.00	0	2	0	2	3,000.00	0	2	0	2	3,000.00	0	2	0	2	3,000.00	8.00	1,500.00	12,000.00
75	GEN. SVC.	CLEANING OF AIRCON	SVC.	0	0	1	1	50,000.00	0	0	1	1	50,000.00	0	0	1	1	50,000.00	0	0	0	0	0.00	3.00	50,000.00	150,000.00
84	GEN. SVC.	ELEVATOR MAINTENANCE SERVICES	SVC.	0	0	1	1	12,600.00	0	1	0	1	12,600.00	0	1	0	1	12,600.00	0	0	1	1	12,600.00	4.00	12,600.00	50,400.00
85		REPLACEMENT AND UNSERVIABL EQUIPMENT (AIRCON)		0	0	1	1	10,000.00	0	0	0	0	0.00	0	1	0	1	10,000.00	0	0	0	0	0.00	2.00	10,000.00	20,000.00
VEHICLE REPAIR AND MAINTENANCE																										
1	pcdp	Repair maintenance of office vehicle	SVC.	1	0	0	1	20,000.00		1		1	20,000.00	0	1	0	1	20,000.00	0	1	0	1	20,000.00	4.00	20,000.00	80,000.00
2	AVRC	Repair of Vehicle(Labor & Materials)	SVC.	0	0	0	0	0.00	0	0	1	1	150,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	150,000.00	150,000.00
PRINTING AND PUBLICATION																										
1	4Ps	PRINTING AND REPRODUCTION OF FORMS BUREAU OF CUSTOMS		0	0	0.5	0.5	481,250.00	0.5	0	1	1.5	1,443,750.00	0	0	0	0	0.00	1	0	0	1	962,500.00	3.00	962,500.00	2,887,500.00
JANITORIAL AND SECURITY SERVICES																										
1		JANITORIAL SERVICE FOR DSWD FO IX	LOT	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1	0	1	3,247,927.20	1.00	3,247,927.20	3,247,927.20
2		SECURITY SERVICE FOR DSWD FO IX	LOT	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1	0	1	#####	1.00	11,403,957.00	11,403,957.00
3																										
VEHICLE PART AND ACCESSORIES/MOTOR VEHICLE/ PARTS AND ACCESSORIES																										
1	GEN. SVC.	Tires - Montero SKD-600	units	0	0	2	2	33,000.00	0	0	0	0	0.00	0	2	0	2	33,000.00	0	0	0	0	0.00	4.00	16,500.00	66,000.00
2	GEN. SVC.	Tires - Isuzu DMAX CM-5018	units	0	0	2	2	15,000.00	0	0	0	0	0.00	0	2	0	2	15,000.00	0	0	0	0	0.00	4.00	7,500.00	30,000.00
3	GEN. SVC.	Tires - Mitsubishi Adventure SAA-6652	units	0	0	2	2	15,000.00	0	0	0	0	0.00	0	2	0	2	15,000.00	0	0	0	0	0.00	4.00	7,500.00	30,000.00
4	GEN. SVC.	Tires - Mitsubishi Strada SJE-974	units	0	0	2	2	15,000.00	0	0	0	0	0.00	0	2	0	2	15,000.00	0	0	0	0	0.00	4.00	7,500.00	30,000.00
5	GEN. SVC.	Tires - Mitsubishi L-300 SAA-6570	units	0	0	2	2	15,000.00	0	0	0	0	0.00	0	2	0	2	15,000.00	0	0	0	0	0.00	4.00	7,500.00	30,000.00
6	GEN. SVC.	Tires - JMC SKL-906	units	0	0	2	2	15,000.00	0	0	0	0	0.00	0	2	0	2	15,000.00	0	0	0	0	0.00	4.00	7,500.00	30,000.00
7	GEN. SVC.	Tires - Toyota REVO SFU-480	units	0	0	2	2	15,000.00	0	0	0	0	0.00	0	2	0	2	15,000.00	0	0	0	0	0.00	4.00	7,500.00	30,000.00
8	GEN. SVC.	Tires - Toyota HI-LUX SEK-217	units	0	0	2	2	15,000.00	0	0	0	0	0.00	0	2	0	2	15,000.00	0	0	0	0	0.00	4.00	7,500.00	30,000.00
9	GEN. SVC.	Tires - Mitsubishi L-200 B4F-928	units	0	0	2	2	15,000.00	0	0	0	0	0.00	0	2	0	2	15,000.00	0	0	0	0	0.00	4.00	7,500.00	30,000.00
10	GEN. SVC.	Tires - Mitsubishi L-200 B4F-929	units	0	0	2	2	15,000.00	0	0	0	0	0.00	0	2	0	2	15,000.00	0	0	0	0	0.00	4.00	7,500.00	30,000.00
11	AVRC III	Over Hauling Gasket	set	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	750.00	0	0	0	0	0.00	1.00	750.00	750.00
12	AVRC III	Piston Ring	set	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	1,000.00	0	0	0	0	0.00	1.00	1,000.00	1,000.00
13	AVRC III	Contact Point	pcs	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	200.00	0	0	0	0	0.00	1.00	200.00	200.00
14	AVRC III	Spark Plug	pcs	0	0	0	0	0.00	0	0	0	0	0.00	4	0	0	4	1,000.00	0	0	0	0	0.00	4.00	250.00	1,000.00
15	AVRC III	Valve	set	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	1,000.00	0	0	0	0	0.00	1.00	1,000.00	1,000.00

16	AVRC III	Timing Chain	pcs	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	500.00	0	0	0	0	0.00	1.00	500.00	500.00
17	AVRC III	Tensioner	pcs	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	500.00	0	0	0	0	0.00	1.00	500.00	500.00
18	AVRC III	Main Bearing	set	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	500.00	0	0	0	0	0.00	1.00	500.00	500.00
19	AVRC III	Thrust Washer	set	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	300.00	0	0	0	0	0.00	1.00	300.00	300.00
20	AVRC III	Silicon Gasket	set	0	0	0	0	0.00	0	0	0	0	0.00	2	0	0	2	300.00	0	0	0	0	0.00	2.00	150.00	300.00
21	AVRC III	Fuel Filter	pcs	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	150.00	0	0	0	0	0.00	1.00	150.00	150.00
22	AVRC III	Brake shoe	set	0	0	0	0	0.00	0	0	0	0	0.00	4	0	0	4	2,400.00	0	0	0	0	0.00	4.00	600.00	2,400.00
23	AVRC III	Brake Rubber Cup	pcs	0	0	0	0	0.00	0	0	0	0	0.00	8	0	0	8	320.00	0	0	0	0	0.00	8.00	40.00	320.00
24	AVRC III	Copper Tube	mtr	0	0	0	0	0.00	0	0	0	0	0.00	5	0	0	5	750.00	0	0	0	0	0.00	5.00	150.00	750.00
25	AVRC III	Lower & Upper Hose	pcs	0	0	0	0	0.00	0	0	0	0	0.00	2	0	0	2	500.00	0	0	0	0	0.00	2.00	250.00	500.00
26	AVRC III	Gear Big & small	set	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	500.00	0	0	0	0	0.00	1.00	500.00	500.00
27	AVRC III	Oil Filter	pcs	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	150.00	0	0	0	0	0.00	1.00	150.00	150.00
28	AVRC III	Radiator Assy 3 row	unit	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	2,000.00	0	0	0	0	0.00	1.00	2,000.00	2,000.00
29	AVRC III	Conrod Bearing	set	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	600.00	0	0	0	0	0.00	1.00	600.00	600.00
30	AVRC III	Pitman Arm	pcs	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	1,500.00	0	0	0	0	0.00	1.00	1,500.00	1,500.00
31	AVRC III	Drag Linkl	pcs	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	1,500.00	0	0	0	0	0.00	1.00	1,500.00	1,500.00
32	AVRC III	Tie Rod End(left & Right)	set	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	1,500.00	0	0	0	0	0.00	1.00	1,500.00	1,500.00
33	AVRC III	Steering Cover	pc	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	500.00	0	0	0	0	0.00	1.00	500.00	500.00
34	AVRC III	Horn	pc	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	750.00	0	0	0	0	0.00	1.00	750.00	750.00
35	AVRC III	Signal flasher	pc	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	1,000.00	0	0	0	0	0.00	1.00	1,000.00	1,000.00
36	AVRC III	Head Light	set	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	1,500.00	0	0	0	0	0.00	1.00	1,500.00	1,500.00
37	AVRC III	I-Beam Assy	unit	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	2,000.00	0	0	0	0	0.00	1.00	2,000.00	2,000.00
38	AVRC III	Signal Light flasher Assy rear	pcs	0	0	0	0	0.00	0	0	0	0	0.00	2	0	0	2	1,600.00	0	0	0	0	0.00	2.00	800.00	1,600.00
39	AVRC III	Tire 13 x 6.40 w/inner tubes	pcs	0	0	0	0	0.00	0	0	0	0	0.00	2	0	0	2	8,000.00	0	0	0	0	0.00	2.00	4,000.00	8,000.00

OTHER SUPPLIES AND MATERIALS

1	4PS	OTHER SUPPLIES USE OF PABTAWID STAFF		0	0	15	15	180,000.00	0	0	0	0	0.00	12	0	0	12	144,000.00	0	0	0	0	0.00	27.00	12,000.00	324,000.00
	RSCC	School supplies (pencils, notebook, paper, color, art materials) FOR RSCC		0	0.5	0	0.5	52,450.00	0	0	0	0	0.00	0.5	0	0	0.5	52,450.00	0	0	0	0	0.00	1.00	104,900.00	104,900.00

SKILLS TRAINING MATERIALS

1	AVRC III	SKILLS TRAINING MATERIALS ALONG INDUSTRIAL ARTS	LOT	0	0	0	0	0.00	0	0	1	1	1,628,700.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,628,700.00	1,628,700.00
2	AVRC III	SKILLS TRAINING MATERIALS ALONG COMMERCIAL ARTS *	LOT	0	0	0	0	0.00	0	0	1	1	2,667,900.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	2,667,900.00	2,667,900.00
3		SKILLS TRAINING MATERIALS ALONG COMMERCIAL ARTS *	LOT	0	0	0	0	0.00	0	0	1	1	56,790.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	56,790.00	56,790.00
4	AVRC III	SKILLS TRAINING MATERIALS ALONG BEAUTY CARE	LOT	0	0	0	0	0.00	0	0	1	1	1,770,450.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,770,450.00	1,770,450.00
5	AVRC III	SKILLS TRAINING MATERIALS ALONG AGRICULTURE	LOT	0	0	0	0	0.00	0	0	1	1	1,899,150.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,899,150.00	1,899,150.00
6	AVRC III	SKILLS TRAINING MATERIALS ALONG MASSAGE THERAPY *	LOT	0	0	0	0	0.00	0	0	1	1	1,046,100.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,046,100.00	1,046,100.00
7	AVRC III	SKILLS TRAINING MATERIALS ALONG GARMENTS TECHNOLOGY *	LOT	0	0	0	0	0.00	0	0	1	1	1,305,750.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,305,750.00	1,305,750.00
8	AVRC III	SKILLS TRAINING MATERIALS ALONG Carpentry Class	LOT	0	0	0	0	0.00	0	0	1	1	27,490.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	27,490.00	27,490.00
9	AVRC III	SKILLS TRAINING MATERIALS ALONG HOUSEKEEPING SERVICES/FRONT OFFICES	LOT	0	0	0	0	0.00	0	0	1	1	1,179,025.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,179,025.00	1,179,025.00
10	AVRC III	SKILLS TRAINING MATERIALS ALONG Garments Technology*	LOT	0	0	0	0	0.00	0	0	1	1	517,700.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	517,700.00	517,700.00

11	AVRC III	SKILLS TRAINING MATERIALS ALONG Industrial Arts *	LOT	0	0	0	0	0.00	0	0	1	1	231,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	231,000.00	231,000.00
12	AVRC III	SKILLS TRAINING MATERIALS ALONG Beauty Care	LOT	0	0	0	0	0.00	0	0	1	1	222,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	222,000.00	222,000.00
13	AVRC III	Basic Computer Operations	LOT	0	0	0	0	0.00	0	0	1	1	77,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	77000	77,000.00
14	AVRC III	SKILLS TRAINING MATERIALS ALONG Agriculture	LOT	0	0	0	0	0.00	0	0	1	1	105,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	105,000.00	105,000.00
15	AVRC III	Skills Training of PWDs on Sportswear	LOT	0	0	0	0	0.00	0	0	1	1	303,640.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	303,640.00	303,640.00
16																										

WATER EXPENSES

1		ALKALINE/MINERAL WATER	GAL	100	100	100	300	12,000.00	100	100	100	300	12,000.00	100	100	100	300	12,000.00	100	100	100	300	12,000.00	1,200.00	40.00	48,000.00
		PURIFIED WATER(Purified Drinking (refill for the consumption of the client	GAL	3000	0	0	3000	60,000.00	3000	0	0	3000	60,000.00	3000	0	0	3000	60,000.00	3000	0	0	3000	60,000.00	12,000.00	20.00	240,000.00

MEDICINE/MEDICAL SUPPLIES

1		MEDICINE SUPPLIES	LOT	1	0	0	1	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	50,000.00	50,000.00
2		Nebulizer(Nebulizer)		2	0	0	2	20,000.00	0	0	0	0	0.00	2	0	0	2	20,000.00	0	0	0	0	0.00	4.00	10,000.00	40,000.00
4		Adhesive Plaster 1"(Adhesive Plaster 1")		0	0	0	0	0.00	0	150	0	150	1,500.00	0	0	0	0	0.00	0	0	0	0	0.00	150.00	10.00	1,500.00
5		Agua oxinada		0	0	0	0	0.00	0	150	0	150	1,200.00	0	0	0	0	0.00	0	0	0	0	0.00	150.00	8.00	1,200.00
6		Alcohol 70% isopropyl		0	0	0	0	0.00	0	150	0	150	1,200.00	0	0	0	0	0.00	0	0	0	0	0.00	150.00	8.00	1,200.00
7		Amlodipine 10mg 100's(Amlodipine 10mg 100's)		0	0	0	0	0.00	0	90	0	90	9,000.00	0	0	0	0	0.00	0	0	0	0	0.00	90.00	100.00	9,000.00
8		Amlodipine 5mg 100's(Amlodipine 5mg 100's)		0	0	0	0	0.00	0	300	0	300	2,700.00	0	0	0	0	0.00	0	0	0	0	0.00	300.00	9.00	2,700.00
9		Amoxicillin 250mg		0	0	0	0	0.00	0	150	0	150	1,200.00	0	0	0	0	0.00	0	0	0	0	0.00	150.00	8.00	1,200.00
10		Amoxicillin 500mg 100's(Amoxicillin 500mg 100's)		0	0	0	0	0.00	0	450	0	450	3,600.00	0	0	0	0	0.00	0	0	0	0	0.00	450.00	8.00	3,600.00
11		Ascorbic acid		0	0	0	0	0.00	0	150	0	150	1,500.00	0	0	0	0	0.00	0	0	0	0	0.00	150.00	10.00	1,500.00
12		ASPIRIN(80mg./100's)		0	0	0	0	0.00	0	30	0	30	3,450.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	115.00	3,450.00
13		ATORVASTATIN(40mg./100's)		0	0	0	0	0.00	0	30	0	30	300.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	10.00	300.00
14		B Complex		0	0	0	0	0.00	0	15	0	15	1,425.00	0	0	0	0	0.00	0	0	0	0	0.00	15.00	95.00	1,425.00
15		bandage scissors		0	0	0	0	0.00	0	150	0	150	900.00	0	0	0	0	0.00	0	0	0	0	0.00	150.00	6.00	900.00
16		Bandages		0	0	0	0	0.00	0	150	0	150	1,200.00	0	0	0	0	0.00	0	0	0	0	0.00	150.00	8.00	1,200.00
17		BETADINE 120 ML.(BETADINE 120 ML.)		0	0	0	0	0.00	0	105	0	105	12,600.00	0	0	0	0	0.00	0	0	0	0	0.00	105.00	120.00	12,600.00
18		Biogesic		0	0	0	0	0.00	0	30	0	30	6,000.00	0	0	0	0	0.00	0	0	0	0	0.00	30.00	200.00	6,000.00
19		Bonamine tablet		0	0	0	0	0.00	0	150	0	150	37,500.00	0	0	0	0	0.00	0	0	0	0	0.00	150.00	250.00	37,500.00
20		CALCIUM CARBONATE(100's)		0	0	0	0	0.00	0	150	0	150	30,000.00	0	0	0	0	0.00	0	0	0	0	0.00	150.00	200.00	30,000.00
21		CAPIOPRIL(25mg./100's)		0	0	0	0	0.00	0	15	0	15	4,500.00	0	0	0	0	0.00	0	0	0	0	0.00	15.00	300.00	4,500.00
22		Carboesteine 500mg		0	0	0	0	0.00	0	160	0	160	48,000.00	0	0	0	0	0.00	0	0	0	0	0.00	160.00	300.00	48,000.00
23		Cefalexin 250mg		0	0	0	0	0.00	0	32	0	32	16,000.00	0	0	0	0	0.00	0	0	0	0	0.00	32.00	500.00	16,000.00
24		CEFALOXIN 500 MG	tab	100	100	100	300	900.00	100	100	100	300	900.00	100	100	100	300	900.00	100	100	100	300	900.00	1,200.00	3.00	3,600.00
25		Cefalexin 500mg 100's(Cefalexin 500mg 100's)	tab	200	200	200	600	3,600.00	200	200	200	600	3,600.00	200	200	200	600	3,600.00	200	200	200	600	3,600.00	2,400.00	6.00	14,400.00
26		Cefixime 200 mg. 100's(Cefixime 200 mg. 100's)	cap	100	100	100	300	1,200.00	100	100	100	300	1,200.00	100	100	100	300	1,200.00	100	100	100	300	1,200.00	1,200.00	4.00	4,800.00
27		Cefuroxime 500mg 100's(Cefuroxime 500mg 100's)	cap	100	100	100	300	1,800.00	100	100	100	300	1,800.00	100	100	100	300	1,800.00	100	100	100	300	1,800.00	1,200.00	6.00	7,200.00
28		Celecoxib 200mg 100's(Celecoxib 200mg 100's)	tab	150	150	150	450	5,850.00	150	150	150	450	5,850.00	150	150	150	450	5,850.00	150	150	150	450	5,850.00	1,800.00	13.00	23,400.00
29		Cetirizine 10mg 100's(Cetirizine 10mg 100's)	tab	150	150	150	450	3,600.00	150	150	150	450	3,600.00	150	150	150	450	3,600.00	150	150	150	450	3,600.00	1,800.00	8.00	14,400.00
30		Cetirizine 10mg	sachet	50	50	50	150	3,750.00	50	50	50	150	3,750.00	50	50	50	150	3,750.00	50	50	50	150	3,750.00	600.00	25.00	15,000.00

31	CIPROFLOXACIN(500mg./100's)	cap	200	200	200	600	3,600.00	200	200	200	600	3,600.00	200	200	200	600	3,600.00	200	200	200	600	3,600.00	2,400.00	6.00	14,400.00
32	Clindamycin 300mg 100's(Clindamycin 300mg 100's)	cap	100	100	100	300	4,500.00	100	100	100	300	4,500.00	100	100	100	300	4,500.00	100	100	100	300	4,500.00	1,200.00	15.00	18,000.00
33	CLOXACILIN 500MG	cap	200	200	200	600	3,000.00	200	200	200	600	3,000.00	200	200	200	600	3,000.00	200	200	200	600	3,000.00	2,400.00	5.00	12,000.00
34	Co-Amoxiclav 625 mg 30's(Co-Amoxiclav 625 mg 30's)	cap	100	100	100	300	1,800.00	100	100	100	300	1,800.00	100	100	100	300	1,800.00	100	100	100	300	1,800.00	1,200.00	6.00	7,200.00
35	COLCHICINE(0.5mg/100's)	tab	100	100	100	300	4,800.00	100	100	100	300	4,800.00	100	100	100	300	4,800.00	100	100	100	300	4,800.00	1,200.00	16.00	19,200.00
36	Cotrimoxazole 800mg	cap	150	150	150	450	9,000.00	150	150	150	450	9,000.00	150	150	150	450	9,000.00	150	150	150	450	9,000.00	1,800.00	20.00	36,000.00
37	COTRIMOXAZOLE 800MG	bot	2	2	2	6	1,560.00	2	2	2	6	1,560.00	2	2	2	6	1,560.00	2	2	2	6	1,560.00	24.00	260.00	6,240.00
38	Cotton Balls (150 Balls)(Cotton Balls (150 Balls))	tube	2	2	2	6	3,600.00	2	2	2	6	3,600.00	2	2	2	6	3,600.00	2	2	2	6	3,600.00	24.00	600.00	14,400.00
39	COTTON BUDS	bx	1	1	1	3	2,250.00	1	1	1	3	2,250.00	1	1	1	3	2,250.00	1	1	1	3	2,250.00	12.00	750.00	9,000.00
40	Cotton,300g	tab	50	50	50	150	600.00	50	50	50	150	600.00	50	50	50	150	600.00	50	50	50	150	600.00	600.00	4.00	2,400.00
41	Decolgen	cap	20	20	20	60	15,000.00	20	20	20	60	15,000.00	20	20	20	60	15,000.00	20	20	20	60	15,000.00	240.00	250.00	60,000.00
42	DECOLGEN	Boxes	5	0	0	5	750.00	5	0	0	5	750.00	10	0	0	10	1,500.00	10	0	0	10	1,500.00	30.00	150.00	4,500.00
43	Diatab-tablet	Boxes	20	0	0	20	12,000.00	0	0	0	0	0.00	20	0	0	20	12,000.00	0	0	0	0	0.00	40.00	600.00	24,000.00
44	DIATAB TABLET	Boxes	5	0	0	5	1,375.00	5	0	0	5	1,375.00	5	0	0	5	1,375.00	5	0	0	5	1,375.00	20.00	275.00	5,500.00
45	DIGITAL THERMOMETER(DIGITAL THERMOMETER)	Boxes	1	0	0	1	400.00	1	0	0	1	400.00	2	0	0	2	800.00	2	0	0	2	800.00	6.00	400.00	2,400.00
46	DIPHENHYDRAMINE(25mg.)	PCS	2	0	0	2	7,440.00	0	0	0	0	0.00	2	0	0	2	7,440.00	0	0	0	0	0.00	4.00	3,720.00	14,880.00
47	DOMPERIDONE(10mg./10 X 10 TABLETS)	PCS	3	0	0	3	450.00	0	0	0	0	0.00	3	0	0	3	450.00	0	0	0	0	0.00	6.00	150.00	900.00
48	DOXYCYCLINE(200mg.)	PIECES	0	0	0	0	0.00	0	0	0	0	0.00	2	0	0	2	300.00	2	0	0	2	300.00	4.00	150.00	600.00
49	Dylucan 50mg	MG	50	0	0	50	3,500.00	50	0	0	50	3,500.00	50	0	50	100	7,000.00	0	0	0	0	0.00	200.00	70.00	14,000.00
50	EFFICASCENT OIL (EXTRA STRENGTH 235ml)	MCG	10	0	0	10	7,250.00	10	0	0	10	7,250.00	10	0	10	20	14,500.00	0	0	0	0	0.00	40.00	725.00	29,000.00
51	Efficascent oil 100ml	MG	206	0	0	206	20,600.00	206	0	0	206	20,600.00	206	0	0	206	20,600.00	206	0	0	206	20,600.00	824.00	100.00	82,400.00
52	Enervon-C	Boxes	5	0	0	5	1,250.00	0	0	0	0	0.00	5	0	0	5	1,250.00	0	0	0	0	0.00	10.00	250.00	2,500.00
53	Facial Mask(Facial Mask)	Boxes	35	0	0	35	12,250.00	35	0	0	35	12,250.00	35	0	0	35	12,250.00	35	0	0	35	12,250.00	140.00	350.00	49,000.00
54	Ferrous Sulfate/Folic Acid	Boxes	6	0	0	6	1,800.00	6	0	0	6	1,800.00	6	0	0	6	1,800.00	6	0	0	6	1,800.00	24.00	300.00	7,200.00
55	FERROUS SULFATE/FOLIC ACID	Boxes	0	0	0	0	0.00	2	0	0	2	700.00	2	0	0	2	700.00	2	0	0	2	700.00	6.00	350.00	2,100.00
56	FUNGIZOLE	Boxes	0	0	0	0	0.00	2	0	0	2	900.00	2	0	0	2	900.00	2	0	0	2	900.00	6.00	450.00	2,700.00
57	Gauze Bandages 4x4(Gauze Bandages 4x4)	Boxes	10	0	0	10	25,000.00	8	0	0	8	20,000.00	10	0	0	10	25,000.00	8	0	0	8	20,000.00	36.00	2,500.00	90,000.00
58	Gel cooling Patch (Fever)	Boxes	0	0	0	0	0.00	2	0	0	2	960.00	2	0	0	2	960.00	2	0	0	2	960.00	6.00	480.00	2,880.00
59	Gloves	Boxes	0	0	0	0	0.00	1	0	0	1	1,500.00	0	0	0	0	0.00	1	0	0	1	1,500.00	2.00	1,500.00	3,000.00
60	HYDROGEN PEROXIDE 150 ML.	Boxes	15	0	0	15	2,250.00	17	0	0	17	2,550.00	15	0	0	15	2,250.00	17	0	0	17	2,550.00	64.00	150.00	9,600.00
61	Hyoscine N-butylbromide 100's(Hyoscine N-butylbromide 100's)	Boxes	16	0	0	16	9,600.00	22	0	0	22	13,200.00	16	0	0	16	9,600.00	22	0	0	22	13,200.00	76.00	600.00	45,600.00
62	IBUFROFEN	Boxes	10	0	0	10	1,800.00	10	0	0	10	1,800.00	10	0	0	10	1,800.00	10	0	0	10	1,800.00	40.00	180.00	7,200.00
63	IBUPROFEN SOFT GEL(200mg./100's)	Boxes	6	0	0	6	1,650.00	6	0	0	6	1,650.00	6	0	0	6	1,650.00	6	0	0	6	1,650.00	24.00	275.00	6,600.00
64	ICE BAG(GOOD QUALITY)	Boxes	20	0	0	20	8,000.00	22	0	0	22	8,800.00	22	0	0	22	8,800.00	22	0	0	22	8,800.00	86.00	400.00	34,400.00
65	Kremil-S	Pieces	20	0	0	20	2,000.00	0	0	0	0	0.00	64	0	0	64	6,400.00	0	0	0	0	0.00	84.00	100.00	8,400.00
66	Lagundi	Boxes	6	0	0	6	1,050.00	6	0	0	6	1,050.00	6	0	0	6	1,050.00	6	0	0	6	1,050.00	24.00	175.00	4,200.00
67	LAGUNDI	Pieces	12	0	0	12	1,800.00	0	0	0	0	0.00	24	0	0	24	3,600.00	12	0	0	12	1,800.00	48.00	150.00	7,200.00
68	LAGUNDI LIQUID	BOXES	6	0	0	6	1,080.00	6	0	0	6	1,080.00	6	0	0	6	1,080.00	6	0	0	6	1,080.00	24.00	180.00	4,320.00
69	LOPERAMIDE(2mg.)	BOXES	0	0	0	0	0.00	4	0	0	4	1,400.00	0	0	0	0	0.00	4	0	0	4	1,400.00	8.00	350.00	2,800.00

70	LOSARTAN (50's/100mg.)	BOTTLE	30	0	0	30	7,950.00	30	0	0	30	7,950.00	30	0	0	30	7,950.00	30	0	0	30	7,950.00	120.00	265.00	31,800.00
71	LOSARTAN (50's/100mg.)	BOXES	5	0	0	5	3,750.00	5	0	0	5	3,750.00	5	0	0	5	3,750.00	5	0	0	5	3,750.00	20.00	750.00	15,000.00
72	LOSARTAN (50's/50mg.)	BOXES	0	0	0	0	0.00	4	0	0	4	2,000.00	0	0	0	0	0.00	4	0	0	4	2,000.00	8.00	500.00	4,000.00
73	Mefenamic acid 250mg	PIECES	0	0	0	0	0.00	4	0	0	4	600.00	4	0	0	4	600.00	0	0	0	0	0.00	8.00	150.00	1,200.00
74	MEFENAMIC ACID 250MG	BOXES	0	0	0	0	0.00	4	0	0	4	2,000.00	4	0	0	4	2,000.00	0	0	0	0	0.00	8.00	500.00	4,000.00
75	Mefenamic Acid 500mg, 100's(Mefenamic Acid 500mg, 100's)	BOXES	14	0	0	14	10,500.00	4	0	0	4	3,000.00	14	0	0	14	10,500.00	14	0	0	14	10,500.00	46.00	750.00	34,500.00
76	Mefformin 500mg 100's(Mefformin 500mg 100's)	BOXES	4	0	0	4	2,000.00	0	0	0	0	0.00	4	0	0	4	2,000.00	0	0	0	0	0.00	8.00	500.00	4,000.00
77	Metoprolamide 10mg	BOXES	4	0	0	4	3,200.00	4	0	0	4	3,200.00	4	0	0	4	3,200.00	4	0	0	4	3,200.00	16.00	800.00	12,800.00
78	Metoprolol 100mg	BOXES	2	0	0	2	1,000.00	2	0	0	2	1,000.00	2	0	0	2	1,000.00	2	0	0	2	1,000.00	8.00	500.00	4,000.00
79	METRONIDAZOLE(100's/500mg.)	BOXES	0	0	0	0	0.00	0	0	0	0	0.00	3	0	0	3	7,200.00	0	0	0	0	0.00	3.00	2,400.00	7,200.00
80	MORIAMIN FORTE(100's)	BOTTLE	10	0	0	10	4,500.00	0	0	0	0	0.00	30	0	0	30	13,500.00	0	0	0	0	0.00	40.00	450.00	18,000.00
81	Multivitamins Syrup	BOXES	30	0	0	30	5,250.00	30	0	0	30	5,250.00	60	0	0	60	10,500.00	60	0	0	60	10,500.00	180.00	175.00	31,500.00
82	Multivitamins Tablets	BOXES	6	0	0	6	1,800.00	6	0	0	6	1,800.00	6	0	0	6	1,800.00	6	0	0	6	1,800.00	24.00	300.00	7,200.00
83	Mupirocin Ointment 5g(Mupirocin Ointment 5g)	BOXES	0	0	0	0	0.00	4	0	0	4	1,500.00	4	0	0	4	1,500.00	4	0	0	4	1,500.00	12.00	375.00	4,500.00
84	NASATERA(100's)	BOXES	6	0	0	6	900.00	6	0	0	6	900.00	6	0	0	6	900.00	6	0	0	6	900.00	24.00	150.00	3,600.00
85	NEOSEP	BOXES	0	0	0	0	0.00	3	0	0	3	450.00	3	0	0	3	450.00	3	0	0	3	450.00	9.00	150.00	1,350.00
86	Non-Surgical Gloves(Non-Surgical Gloves)	BOXES	1	0	0	1	750.00	0	0	0	0	0.00	1	0	0	1	750.00	0	0	0	0	0.00	2.00	750.00	1,500.00
87	Non-Surgical Gloves(Non-Surgical Gloves)	BOXES	6	0	0	6	1,500.00	6	0	0	6	1,500.00	6	0	0	6	1,500.00	6	0	0	6	1,500.00	24.00	250.00	6,000.00
88	Non-Surgical Gloves(Non-Surgical Gloves)	TABLET	0	20	0	20	40.00	0	20	0	20	40.00	0	20	0	20	40.00	20	0	0	20	40.00	80.00	2.00	160.00
89	Olanzapine(Medicine for Psych patient)	bx	0	3	0	3	2,250.00	0	3	0	3	2,250.00	0	3	0	3	2,250.00	3	0	0	3	2,250.00	12.00	750.00	9,000.00
90	ONE TOUCH GLUCOMETER STRIPS(25's)	TABLET	0	12	0	12	24.00	0	12	0	12	24.00	0	12	0	12	24.00	12	0	0	12	24.00	48.00	2.00	96.00
91	Oral Hydration Salt	BOTTLE	0	40	0	40	2,800.00	0	40	0	40	2,800.00	0	40	0	40	2,800.00	40	0	0	40	2,800.00	160.00	70.00	11,200.00
92	500's/box(Paracetamol 500mg 500's/box)	PIECE	0	40	0	40	240.00	0	40	0	40	240.00	0	40	0	40	240.00	40	0	0	40	240.00	160.00	6.00	960.00
93	Paracetamol 500mg 500's/box(Paracetamol 500mg 500's/box)	PIECE	0	20	0	20	160.00	0	20	0	20	160.00	0	20	0	20	160.00	20	0	0	20	160.00	80.00	8.00	640.00
94	penlights	TABLET	0	20	0	20	100.00	0	20	0	20	100.00	0	20	0	20	100.00	20	0	0	20	100.00	80.00	5.00	400.00
95	Phenylpropanolamine/Paracetamol	CAP	0	50	0	50	350.00	0	50	0	50	350.00	0	50	0	50	350.00	50	0	0	50	350.00	200.00	7.00	1,400.00
96	Plastic Strips (Band-Aid)(Plastic Strips (Band-Aid))	TABLET	0	20	0	20	120.00	0	20	0	20	120.00	0	20	0	20	120.00	20	0	0	20	120.00	80.00	6.00	480.00
97	Risperidone 2mg 100's(Risperidone 2mg 100's)	TABLET	0	20	0	20	130.00	0	20	0	20	130.00	0	20	0	20	130.00	20	0	0	20	130.00	80.00	6.50	520.00
98	RUBBING ALCOHOL	TABLET	0	30	0	30	750.00	0	30	0	30	750.00	0	30	0	30	750.00	30	0	0	30	750.00	120.00	25.00	3,000.00
99	SABTUTAMOL FLUTI(ASTHMA PATIENT)	ROLL	0	70	0	70	1,190.00	0	70	0	70	1,190.00	0	70	0	70	1,190.00	70	0	0	70	1,190.00	280.00	17.00	4,760.00
100	SALBUTAMOL 2MG	TUBE	0	10	0	10	2,805.00	0	10	0	10	2,805.00	0	10	0	10	2,805.00	10	0	0	10	2,805.00	40.00	280.50	11,220.00
101	Salbutamol 2mg 100's(Salbutamol 2mg 100's)	Boxes	0	2	0	2	300.00	0	2	0	2	300.00	0	2	0	2	300.00	2	0	0	2	300.00	8.00	150.00	1,200.00
102	SERTRALINE(50mg, 100's)	BOTTLE	0	10	0	10	850.00	0	10	0	10	850.00	0	10	0	10	850.00	10	0	0	10	850.00	40.00	85.00	3,400.00
103	Sodium bicarbonate	PIECE	0	20	0	20	160.00	0	20	0	20	160.00	0	20	0	20	160.00	20	0	0	20	160.00	80.00	8.00	640.00
104	Sterile Gauze 2 x 2 100's	PIECE	0	20	0	20	160.00	0	20	0	20	160.00	0	20	0	20	160.00	20	0	0	20	160.00	80.00	8.00	640.00
105	Sterile Gauze 2 x 2 100's	PACK	0	20	0	20	790.00	0	20	0	20	790.00	0	20	0	20	790.00	20	0	0	20	790.00	80.00	39.50	3,160.00
106	Stethoscope(Stethoscope)		0	20	0	20	3,000.00	0	20	0	20	3,000.00	0	20	0	20	3,000.00	20	0	0	20	3,000.00	80.00	150.00	12,000.00
107	surgical mask	Boxes	0	2	0	2	400.00	0	2	0	2	400.00	0	2	0	2	400.00	2	0	0	2	400.00	8.00	200.00	1,600.00
108	surgical scissors	TABLET	0	20	0	20	140.00	0	20	0	20	140.00	0	20	0	20	140.00	20	0	0	20	140.00	80.00	7.00	560.00

109		syringes 3cc, 5cc, 10cc	CAP	0	20	0	20	200.00	0	20	0	20	200.00	0	20	0	20	200.00	20	0	0	20	200.00	80.00	10.00	800.00
110		SYSTANE (ULTRA EYE DROPS 10ml)	TABLET	0	20	0	20	130.00	0	20	0	20	130.00	0	20	0	20	130.00	20	0	0	20	130.00	80.00	6.50	520.00
111		Terramycin Ophthalmic Ointment 5gm	tab	0	20	0	20	200.00	0	20	0	20	200.00	0	20	0	20	200.00	20	0	0	20	200.00	80.00	10.00	800.00
112		Terramycin Skin Ointment 5 g	PIECE	0	20	0	20	160.00	0	20	0	20	160.00	0	20	0	20	160.00	20	0	0	20	160.00	80.00	8.00	640.00
113		Tranexamic Acid 500mg	PIECE	0	20	0	20	120.00	0	20	0	20	120.00	0	20	0	20	120.00	20	0	0	20	120.00	80.00	6.00	480.00
114		Vicks 50g(Vicks 50g)	Boxes	0	2	0	2	1,000.00	0	2	0	2	1,000.00	0	2	0	2	1,000.00	2	0	0	2	1,000.00	8.00	500.00	4,000.00
115		VITAMIN B-COMPLEX(100's)	TABLET	0	20	0	20	200.00	0	20	0	20	200.00	0	20	0	20	200.00	0	0	0	0	0.00	60.00	10.00	600.00
116	RSCC	MEDICINE SUPPLIES FOR RSCC	LOT	0	0.5	0	0.5	529,878.00	0	0	0	0	0.00	0.5	0	0	0.5	529,878.00	0	0	0	0	0.00	1.00	1,059,756.00	1,059,756.00
117	RSCC	Medical, Dental and Laboratory Supplies Exp. FOR RSCC	LOT	0	0.5	0	0.5	347,626.00	0	0	0	0	0.00	0.5	0	0	0.5	347,626.00	0	0	0	0	0.00	1.00	695,252.00	695,252.00
118																										

PERSONAL EFFECTS

1	HFE/HFW PUBLIC BIDDING	Adult diapers(small/medium/large)	packs	1000	50	0	1050	367,500.00	50	0	0	50	17,500.00	1000	50	0	1050	367,500.00	50	0	0	50	17,500.00	2,200.00	350.00	770,000.00
2	HFE/HFW PUBLIC BIDDING	blanket(100% cotton polyester)	pieces	2000	0	0	2000	400,000.00	2000	0	0	2000	400,000.00	2000	0	0	2000	400,000.00	2000	0	0	2000	400,000.00	8,000.00	200.00	1,600,000.00
3	HFE/HFW PUBLIC BIDDING	SIZES(BRASSLERS - ASSORTED SIZES)	DOZEN	1000	0	0	1000	785,000.00	0	0	0	0	0.00	1000	0	0	1000	785,000.00	0	0	0	0	0.00	2,000.00	785.00	1,570,000.00
4	HFE/HFW PUBLIC BIDDING	BRIEF - ASSORTED SIZES(BRIEF - ASSORTED SIZES)	DOZEN	60	0	0	60	30,000.00	60	0	0	60	30,000.00	60	0	0	60	30,000.00	60	0	0	60	30,000.00	240.00	500.00	120,000.00
5	HFE/HFW PUBLIC BIDDING	brief cotton(medium/large by 3's)	packs	200	0	0	200	30,000.00	0	0	0	0	0.00	200	0	0	200	30,000.00	0	0	0	0	0.00	400.00	150.00	60,000.00
6	HFE/HFW PUBLIC BIDDING	cologne spray(mild scent 200ml)	pieces	130	0	0	130	14,300.00	30	0	0	30	3,300.00	130	0	0	130	14,300.00	30	0	0	30	3,300.00	320.00	110.00	35,200.00
7	HFE/HFW PUBLIC BIDDING	comb(white tooth comb 93/48quot;)	pieces	15	0	0	15	1,800.00	15	0	0	15	1,800.00	15	0	0	15	1,800.00	15	0	0	15	1,800.00	60.00	120.00	7,200.00
8	HFE/HFW PUBLIC BIDDING	deodorant spray(200ml)	tins	100	0	0	100	23,000.00	0	0	0	0	0.00	100	0	0	100	23,000.00	0	0	0	0	0.00	200.00	230.00	46,000.00
9	HFE/HFW PUBLIC BIDDING	Diaper (Medium)	pack		20	0	20	3,800.00	10	0	0	10	1,900.00	10	0	0	10	1,900.00	10	0	0	10	1,900.00	50.00	190.00	9,500.00
10	HFE/HFW PUBLIC BIDDING	Disposable Diaper (large)(Disposable Diaper (large))	pcs	500	20	0	520	7,280.00	510	0	0	510	7,140.00	510	0	0	510	7,140.00	510	0	0	510	7,140.00	2,050.00	14.00	28,700.00
11	HFE/HFW PUBLIC BIDDING	Disposable Diaper (med)(Disposable Diaper (med))	pcs	500	0	0	500	6,000.00	500	0	0	500	6,000.00	500	0	0	500	6,000.00	500	0	0	500	6,000.00	2,000.00	12.00	24,000.00
12	HFE/HFW PUBLIC BIDDING	Disposable Diaper (small)(Disposable Diaper (small))	pcs	500	15	0	515	5,665.00	510	0	0	510	5,610.00	510	0	0	510	5,610.00	510	0	0	510	5,610.00	2,045.00	11.00	22,495.00
13	HFE/HFW PUBLIC BIDDING	Disposable Diaper (XL)(Disposable Diaper (XL))	pcs	500	240	0	740	11,840.00	620	0	0	620	9,920.00	620	0	0	620	9,920.00	620	0	0	620	9,920.00	2,600.00	16.00	41,600.00
14	HFE/HFW PUBLIC BIDDING	duster(cotton (free size))	pieces	350	0	0	350	70,000.00	0	0	0	0	0.00	350	0	0	350	70,000.00	0	0	0	0	0.00	700.00	200.00	140,000.00
15	HFE/HFW PUBLIC BIDDING	foot sacks(cotton polyester/medium-large)	pair	100	0	0	100	18,000.00	0	0	0	0	0.00	100	0	0	100	18,000.00	0	0	0	0	0.00	200.00	180.00	36,000.00
16	HFE/HFW PUBLIC BIDDING	HYPOALLERGENIC LOTION (500ml)	pieces	100	0	0	100	40,000.00	0	0	0	0	0.00	100	0	0	100	40,000.00	0	0	0	0	0.00	200.00	400.00	80,000.00
17	HFE/HFW PUBLIC BIDDING	laundry soap powder(1kg.)	kilos	150	0	0	150	19,500.00	0	0	0	0	0.00	150	0	0	150	19,500.00	0	0	0	0	0.00	300.00	130.00	39,000.00
18	HFE/HFW PUBLIC BIDDING	MALONG(MALONG)	PIECE	0	0	0	0	0.00	0	500	0	500	85,000.00	0	500	0	500	85,000.00	0	0	0	0	0.00	1,000.00	170.00	170,000.00
19	HFE/HFW PUBLIC BIDDING	nail cutter(big (good quality))	pieces	50	0	0	50	1,500.00	0	0	0	0	0.00	50	0	0	50	1,500.00	0	0	0	0	0.00	100.00	30.00	3,000.00
20	HFE/HFW PUBLIC BIDDING	pajamas(cotton (unisex))	peices	500	0	0	500	65,000.00	0	0	0	0	0.00	500	0	0	500	65,000.00	0	0	0	0	0.00	1,000.00	130.00	130,000.00
21	HFE/HFW PUBLIC BIDDING	PANTY ASSORTED - SIZES(PANTY ASSORTED - SIZES)	DOZEN	60	0	0	60	36,600.00	60	0	0	60	36,600.00	60	0	0	60	36,600.00	60	0	0	60	36,600.00	240.00	610.00	146,400.00
22	HFE/HFW PUBLIC BIDDING	panty high waist(cotton (medium&large))	peices	200	0	0	200	22,000.00	20	0	0	20	2,200.00	20	0	0	20	2,200.00	20	0	0	20	2,200.00	260.00	110.00	28,600.00
23	HFE/HFW PUBLIC BIDDING	petroleum jelly protectant(200g.)	jar	10	0	0	10	2,300.00	10	0	0	10	2,300.00	10	0	0	10	2,300.00	10	0	0	10	2,300.00	40.00	230.00	9,200.00

24	HFE/HFW PUBLIC BIDDING	Pillow Cases(Pillow Cases)	pcs	2000	0	0	2000	400,000.00	2000	0	0	2000	400,000.00	2000	0	0	2000	400,000.00	2000	0	0	2000	400,000.00	8,000.00	200.00	1,600,000.00
25	HFE/HFW PUBLIC BIDDING	plastic slippers(unisex/size 7-10 (good quality))	pair	15	0	0	15	3,750.00	15	0	0	15	3,750.00	15	0	0	15	3,750.00	15	0	0	15	3,750.00	60.00	250.00	15,000.00
26	HFE/HFW PUBLIC BIDDING	polo shirt(white color/large size/cotton polyester)	pieces	10	0	0	10	4,000.00	10	0	0	10	4,000.00	10	0	0	10	4,000.00	10	0	0	10	4,000.00	40.00	400.00	16,000.00
27	HFE/HFW PUBLIC BIDDING	Purong (shole)(Purong (shole))	pcs	1000	0	0	1000	120,000.00	0	0	0	0	0.00	1000	0	0	1000	120,000.00	0	0	0	0	0.00	2,000.00	120.00	240,000.00
28	HFE/HFW PUBLIC BIDDING	RUBBER SLIPPERS - SIZE 10(RUBBER SLIPPERS - SIZE 10)	PAIR	0	0	0	0	0.00	200	0	0	200	10,600.00	200	0	0	200	10,600.00	0	0	0	0	0.00	400.00	53.00	21,200.00
29	HFE/HFW PUBLIC BIDDING	RUBBER SLIPPERS - SIZE 11(RUBBER SLIPPERS - SIZE 11)	PAIR	0	0	0	0	0.00	0	400	0	400	24,800.00	0	400	0	400	24,800.00	0	0	0	0	0.00	800.00	62.00	49,600.00
30	HFE/HFW PUBLIC BIDDING	RUBBER SLIPPERS - SIZE 12(RUBBER SLIPPERS - SIZE 12)	PAIR	0	0	0	0	0.00	0	400	0	400	24,800.00	0	400	0	400	24,800.00	0	0	0	0	0.00	800.00	62.00	49,600.00
31	HFE/HFW PUBLIC BIDDING	RUBBER SLIPPERS - SIZE 6(RUBBER SLIPPERS - SIZE 6)	PAIR	50	0	0	50	2,550.00	50	0	0	50	2,550.00	50	0	50	100	5,100.00	0	0	0	0	0.00	200.00	51.00	10,200.00
32	HFE/HFW PUBLIC BIDDING	RUBBER SLIPPERS - SIZE 7(RUBBER SLIPPERS - SIZE 7)	PAIR	50	0	0	50	2,550.00	50	0	0	50	2,550.00	50	0	50	100	5,100.00	0	0	0	0	0.00	200.00	51.00	10,200.00
33	HFE/HFW PUBLIC BIDDING	RUBBER SLIPPERS - SIZE 9(RUBBER SLIPPERS - SIZE 9)	PAIR	50	0	0	50	2,550.00	100	0	0	100	5,100.00	100	0	50	150	7,650.00	0	0	0	0	0.00	300.00	51.00	15,300.00
34	HFE/HFW PUBLIC BIDDING	Sanitary napkin	pack	0	20	0	20	1,000.00	10	0	0	10	500.00	10	0	0	10	500.00	10	0	0	10	500.00	50.00	50.00	2,500.00
35	HFE/HFW PUBLIC BIDDING	shampoo(5ml/box)	box	5	0	0	5	10,000.00	5	0	0	5	10,000.00	5	0	0	5	10,000.00	5	0	0	5	10,000.00	20.00	2,000.00	40,000.00
36	HFE/HFW PUBLIC BIDDING	shaver(disposable (good quality))	pieces	20	0	0	20	1,600.00	20	0	0	20	1,600.00	20	0	0	20	1,600.00	20	0	0	20	1,600.00	80.00	80.00	6,400.00
37	HFE/HFW PUBLIC BIDDING	SHIRT FOR ADULTS - LARGE(SHIRT FOR ADULTS - LARGE)	PIECE	2000	0	0	2000	300,000.00	2000	0	0	2000	300,000.00	2000	0	0	2000	300,000.00	2000	0	0	2000	300,000.00	8,000.00	150.00	1,200,000.00
38	HFE/HFW PUBLIC BIDDING	MEDIUM(SHIRT FOR ADULTS - MEDIUM)	PIECE	2000	0	0	2000	200,000.00	2000	0	0	2000	200,000.00	2000	0	0	2000	200,000.00	2000	0	0	2000	200,000.00	8,000.00	100.00	800,000.00
39	HFE/HFW PUBLIC BIDDING	SHIRT FOR ADULTS - XL(SHIRT FOR ADULTS - XL)	PIECE	2000	0	0	2000	400,000.00	2000	0	0	2000	400,000.00	2000	0	0	2000	400,000.00	2000	0	0	2000	400,000.00	8,000.00	200.00	1,600,000.00
40	HFE/HFW PUBLIC BIDDING	short pants(unisex (good quality))	pieces	40	0	0	40	6,000.00	40	0	0	40	6,000.00	40	0	0	40	6,000.00	40	0	0	40	6,000.00	160.00	150.00	24,000.00
41	HFE/HFW PUBLIC BIDDING	slack pants(assorted color/ sizes 28-40)	pieces	30	0	0	30	10,500.00	30	0	0	30	10,500.00	30	0	0	30	10,500.00	30	0	0	30	10,500.00	120.00	350.00	42,000.00
42	HFE/HFW PUBLIC BIDDING	storage box clear(rolling/150 liters)	units	0	0	0	0	0.00	10	0	0	10	15,000.00	19	0	0	19	28,500.00	0	0	0	0	0.00	29.00	1,500.00	43,500.00
43	HFE/HFW PUBLIC BIDDING	sweater for adult(large size (assorted in color))	pieces	30	0	0	30	9,000.00	30	0	0	30	9,000.00	30	0	0	30	9,000.00	30	0	0	30	9,000.00	120.00	300.00	36,000.00
44	HFE/HFW PUBLIC BIDDING	tawas(powder (scented))	pieces	20	0	0	20	400.00	20	0	0	20	400.00	20	0	0	20	400.00	20	0	0	20	400.00	80.00	20.00	1,600.00
45	HFE/HFW PUBLIC BIDDING	therapeutic slippers(sizes 7-10)	pair	20	0	0	20	5,000.00	20	0	0	20	5,000.00	20	0	0	20	5,000.00	20	0	0	20	5,000.00	80.00	250.00	20,000.00
46	HFE/HFW PUBLIC BIDDING	toothpaste(25ml (33g.))	tube	20	0	0	20	2,000.00	20	0	0	20	2,000.00	20	0	0	20	2,000.00	20	0	0	20	2,000.00	80.00	100.00	8,000.00
47	HFE/HFW PUBLIC BIDDING	virgin coconut oil(250ml)	bottle	15	0	0	15	3,750.00	15	0	0	15	3,750.00	15	0	0	15	3,750.00	15	0	0	15	3,750.00	60.00	250.00	15,000.00
48	HFE/HFW PUBLIC BIDDING	whole dress for female(white in color/ silk cloth/ large size)	set	20	0	0	20	13,000.00	20	0	0	20	13,000.00	20	0	0	20	13,000.00	20	0	0	20	13,000.00	80.00	650.00	52,000.00
49		Alcohol, ethyl, 500 ml	bots	100	0	0	100	8,000.00	0	0	0	0	0.00	100	0	0	100	8,000.00	0	0	0	0	0.00	200.00	80.00	16,000.00
50		Baby Oil (small) 125ml	bots	100	0	0	100	6,500.00	0	0	0	0	0.00	100	0	0	100	6,500.00	0	0	0	0	0.00	200.00	65.00	13,000.00
51		Baby Lotion 500ml	bots	120	0	0	120	42,000.00	0	0	0	0	0.00	120	0	0	120	42,000.00	0	0	0	0	0.00	240.00	350.00	84,000.00
52		Baby Powder 500g	bots	100	0	0	100	25,000.00	0	0	0	0	0.00	100	0	0	100	25,000.00	0	0	0	0	0.00	200.00	250.00	50,000.00
53		Baby Shampoo 500ml	pcs.	120	0	0	120	42,000.00	0	0	0	0	0.00	120	0	0	120	42,000.00	0	0	0	0	0.00	240.00	350.00	84,000.00
54		Baby Bath 500ml	pcs.	100	0	0	100	25,000.00	0	0	0	0	0.00	100	0	0	100	25,000.00	0	0	0	0	0.00	200.00	250.00	50,000.00
55		Baby wet wipes-Hypoallergenic, Extra soft 20cmx19cm	pcs.	100	0	0	100	10,000.00	0	0	0	0	0.00	100	0	0	100	10,000.00	0	0	0	0	0.00	200.00	100.00	20,000.00
56		Bathroom Soap 150g hypoallergenic	pcs.	375	0	0	375	18,750.00	0	0	0	0	0.00	375	0	0	375	18,750.00	0	0	0	0	0.00	750.00	50.00	37,500.00
57		Bath Towel big,assorted colors 100%	pcs.	200	0	0	200	80,000.00	0	0	0	0	0.00	200	0	0	200	80,000.00	0	0	0	0	0.00	400.00	400.00	160,000.00
58		Comb (plastic,durable) atleast 7-9 inch	pcs.	40	0	0	40	1,200.00	0	0	0	0	0.00	40	0	0	40	1,200.00	0	0	0	0	0.00	80.00	30.00	2,400.00
59		Cologne 250ml	bots	100	0	0	100	20,000.00	0	0	0	0	0.00	100	0	0	100	20,000.00	0	0	0	0	0.00	200.00	200.00	40,000.00
60		Cotton absorbent 100g	packs	100	0	0	100	20,000.00	0	0	0	0	0.00	100	0	0	100	20,000.00	0	0	0	0	0.00	200.00	200.00	40,000.00
61		Conditioner 150ml	bots	100	0	0	100	20,000.00	0	100	0	100	20,000.00	100	0	0	100	20,000.00	100	0	0	100	20,000.00	400.00	200.00	80,000.00
62		Cotton buds 400 tips	packs	100	0	0	100	7,500.00	0	0	0	0	0.00	100	0	0	100	7,500.00	0	0	0	0	0.00	200.00	75.00	15,000.00

63		Deodorant 50ml	bots	200	0	0	200	30,000.00	0	0	0	0	0.00	200	0	0	200	30,000.00	0	0	0	0	0.00	400.00	150.00	60,000.00
64		Detergent Bar (Laundry soap)	cases	20	0	0	20	34,000.00	0	0	0	0	0.00	20	0	0	20	34,000.00	0	0	0	0	0.00	40.00	1,700.00	68,000.00
65		Detergent Powder 2200g	packs	200	0	0	200	60,000.00	0	0	0	0	0.00	200	0	0	200	60,000.00	0	0	0	0	0.00	400.00	300.00	120,000.00
66		Face Towel (cotton, assorted colors)	pcs.	200	0	0	200	10,000.00	0	0	0	0	0.00	200	0	0	200	10,000.00	0	0	0	0	0.00	400.00	50.00	20,000.00
67		Fabric Conditioner 800ml	bots	200	0	0	200	50,000.00	0	0	0	0	0.00	200	0	0	200	50,000.00	0	0	0	0	0.00	400.00	250.00	100,000.00
68		Hand Towel (cotton, assorted colors)	pcs.	100	0	0	100	5,000.00	0	0	0	0	0.00	100	0	0	100	5,000.00	0	0	0	0	0.00	200.00	50.00	10,000.00
69		Hand sanitizer anti-bacterial 500ml	bots	100	0	0	100	40,000.00	0	0	0	0	0.00	100	0	0	100	40,000.00	0	0	0	0	0.00	200.00	400.00	80,000.00
70		Liquid hand soap hypoallergenic 500ml	bots	100	0	0	100	25,000.00	0	0	0	0	0.00	100	0	0	100	25,000.00	0	0	0	0	0.00	200.00	250.00	50,000.00
71		Sanitary Napkins 8pcs/pack	packs	100	0	0	100	5,000.00	0	0	0	0	0.00	100	0	0	100	5,000.00	0	0	0	0	0.00	200.00	50.00	10,000.00
72		Shampoo for Children 500ml	bots	120	0	0	120	36,000.00	0	0	0	0	0.00	120	0	0	120	36,000.00	0	0	0	0	0.00	240.00	300.00	72,000.00
73		Slippers (assorted sizes) size 25-26	pcs.	200	0	0	200	40,000.00	0	0	0	0	0.00	200	0	0	200	40,000.00	0	0	0	0	0.00	400.00	200.00	80,000.00
74		Tissue paper (pack of 12, 2 ply jumbo)	packs	100	0	0	100	20,000.00	0	0	0	0	0.00	100	0	0	100	20,000.00	0	0	0	0	0.00	200.00	200.00	40,000.00
75		Toothbrush (classic) soft bristle	pcs.	200	0	0	200	10,000.00	0	0	0	0	0.00	200	0	0	200	10,000.00	0	0	0	0	0.00	400.00	50.00	20,000.00
76		Toothpaste for kiddie 50 ml	tubes	100	0	0	100	7,500.00	0	0	0	0	0.00	100	0	0	100	7,500.00	0	0	0	0	0.00	200.00	75.00	15,000.00
77		Toothpaste (big) 145ml/214g	tubes	200	0	0	200	40,000.00	0	0	0	0	0.00	200	0	0	200	40,000.00	0	0	0	0	0.00	400.00	200.00	80,000.00
78		Cloth diapers pranela w/ hood asstd	pcs.	100	0	0	100	55,000.00	0	0	0	0	0.00	100	0	0	100	55,000.00	0	0	0	0	0.00	200.00	550.00	110,000.00
79		Disposable diapers small 66's bubble	packs	200	0	0	200	80,000.00	0	0	0	0	0.00	200	0	0	200	80,000.00	0	0	0	0	0.00	400.00	400.00	160,000.00
80		Disposable diapers medium 60's bubble top sheet cover	packs	200	0	0	200	80,000.00	0	0	0	0	0.00	200	0	0	200	80,000.00	0	0	0	0	0.00	400.00	400.00	160,000.00
81		Disposable diapers Large 54's bubble top sheet cover	packs	200	0	0	200	80,000.00	0	0	0	0	0.00	200	0	0	200	80,000.00	0	0	0	0	0.00	400.00	400.00	160,000.00
82		Disposable diapers XL 60's bubble top sheet cover	packs	200	0	0	200	100,000.00	0	0	0	0	0.00	200	0	0	200	100,000.00	0	0	0	0	0.00	400.00	500.00	200,000.00
83		Disposable diapers XXL 60's bubble top sheet cover	packs	200	0	0	200	120,000.00	0	0	0	0	0.00	200	0	0	200	120,000.00	0	0	0	0	0.00	400.00	600.00	240,000.00
84		Adult Diaper Large 10 pcs/pack	packs	200	0	0	200	54,000.00	0	0	0	0	0.00	200	0	0	200	54,000.00	0	0	0	0	0.00	400.00	270.00	108,000.00
85		Curtain cloth, asst. colors and design	rolls	4	0	0	4	60,000.00	0	0	0	0	0.00	4	0	0	4	60,000.00	0	0	0	0	0.00	8.00	15,000.00	120,000.00
86		Bed sheet cloth (100% cotton)	rolls	4	0	0	4	60,000.00	0	0	0	0	0.00	4	0	0	4	60,000.00	0	0	0	0	0.00	8.00	15,000.00	120,000.00
87		Blanket, 60x0 single sided blanket, flannel	pcs.	200	0	0	200	80,000.00	0	0	0	0	0.00	200	0	0	200	80,000.00	0	0	0	0	0.00	400.00	400.00	160,000.00
88		Pranela cloth diaper (100 meters cloth)	meters	200	0	0	200	30,000.00	0	0	0	0	0.00	200	0	0	200	30,000.00	0	0	0	0	0.00	400.00	150.00	60,000.00
89		Hotdog pillows with pillow case (soft)	pcs.	100	0	0	100	32,000.00	0	0	0	0	0.00	100	0	0	100	32,000.00	0	0	0	0	0.00	200.00	320.00	64,000.00
90		Pillows for Infant	pcs.	50	0	0	50	10,000.00	0	0	0	0	0.00	50	0	0	50	10,000.00	0	0	0	0	0.00	100.00	200.00	20,000.00
91		Pillow case 100% cotton 20"x26"	pcs.	200	0	0	200	64,000.00	0	0	0	0	0.00	200	0	0	200	64,000.00	0	0	0	0	0.00	400.00	320.00	128,000.00
92		Pillows made of fiber	pcs.	0	0	0	0	0.00	0	100	0	100	50,000.00	0	0	0	0.00	0	0	0	0	0.00	100.00	500.00	50,000.00	
	AVRC	PROVISION OF APPAREL AND FOOTWEAR		0	0	0	0	0.00	0	0	0	0	0.00	150	0	0	150	1,498,015.05	0	0	0	0	0.00	150.00	9,986.77	1,498,015.05

PERSONAL EFFECTS CLOTHING, EDUCATIONAL NEEDS

1	RSCC	Assorted dress ages 2-18 years old	pcs.	0	200	0	200	100,000.00	0	0	0	0	0.00	200	0	0	200	100,000.00	0	0	0	0	0.00	400.00	500.00	200,000.00
2	RSCC	Assorted polo ages 2-18 years old	pcs.	0	200	0	200	60,000.00	0	0	0	0	0.00	200	0	0	200	60,000.00	0	0	0	0	0.00	400.00	300.00	120,000.00
3	RSCC	Assorted T-shirt	pcs.	0	200	0	200	50,000.00	0	0	0	0	0.00	200	0	0	200	50,000.00	0	0	0	0	0.00	400.00	250.00	100,000.00
4	RSCC	Assorted Infant wear	pcs.	0	200	0	200	30,000.00	0	0	0	0	0.00	200	0	0	200	30,000.00	0	0	0	0	0.00	400.00	150.00	60,000.00

5	RSCC	Assorted panties for children	pcs.	0	200	0	200	12,000.00	0	0	0	0	0.00	200	0	0	200	12,000.00	0	0	0	0	0.00	400.00	60.00	24,000.00
6	RSCC	Assorted underwear	pcs.	0	200	0	200	12,000.00	0	0	0	0	0.00	200	0	0	200	12,000.00	0	0	0	0	0.00	400.00	60.00	24,000.00
7	RSCC	Assorted sandals for femal ages 4-8 years old	pcs.	0	200	0	200	20,000.00	0	0	0	0	0.00	200	0	0	200	20,000.00	0	0	0	0	0.00	400.00	100.00	40,000.00
8	RSCC	Assorted shortpants	pcs.	0	200	0	200	70,000.00	0	0	0	0	0.00	200	0	0	200	70,000.00	0	0	0	0	0.00	400.00	350.00	140,000.00
9	RSCC	Assorted long pants maong	pcs.	0	200	0	200	80,000.00	0	0	0	0	0.00	200	0	0	200	80,000.00	0	0	0	0	0.00	400.00	400.00	160,000.00
10	RSCC	Assorted shoes for toddlers	pcs.	0	200	0	200	60,000.00	0	0	0	0	0.00	200	0	0	200	60,000.00	0	0	0	0	0.00	400.00	300.00	120,000.00
11	RSCC	Assorted rubber shoes for ages 4-18 years old	pcs.	0	200	0	200	120,000.00	0	0	0	0	0.00	200	0	0	200	120,000.00	0	0	0	0	0.00	400.00	600.00	240,000.00
12	RSCC	Assorted sandals for ages 3-12 years old	pcs.	0	200	0	200	100,000.00	0	0	0	0	0.00	200	0	0	200	100,000.00	0	0	0	0	0.00	400.00	500.00	200,000.00
13	RSCC	Jogging pants	pcs.	0	200	0	200	60,000.00	0	0	0	0	0.00	200	0	0	200	60,000.00	0	0	0	0	0.00	400.00	300.00	120,000.00
14	RSCC	Pajama Cotton (Good Quality) for ages 1-18	pcs.	0	200	0	200	40,000.00	0	0	0	0	0.00	200	0	0	200	40,000.00	0	0	0	0	0.00	400.00	200.00	80,000.00
15	RSCC	White T-shirt assorted sizes	pcs.	0	200	0	200	30,000.00	0	0	0	0	0.00	200	0	0	200	30,000.00	0	0	0	0	0.00	400.00	150.00	60,000.00
16	RSCC	Swimming trunks assorted sizes for children	pcs.	0	200	0	200	20,000.00	0	0	0	0	0.00	200	0	0	200	20,000.00	0	0	0	0	0.00	400.00	100.00	40,000.00
17	RSCC	Swimsuit assorted sizes for children	pcs.	0	200	0	200	30,000.00	0	0	0	0	0.00	200	0	0	200	30,000.00	0	0	0	0	0.00	400.00	150.00	60,000.00
18	RSCC	Assorted blouse for ages 1-8 years old	pcs.	0	200	0	200	40,000.00	0	0	0	0	0.00	200	0	0	200	40,000.00	0	0	0	0	0.00	400.00	200.00	80,000.00
19	RSCC	Assorted pajama terno ages 1-8 years old	pcs.	0	200	0	200	40,000.00	0	0	0	0	0.00	200	0	0	200	40,000.00	0	0	0	0	0.00	400.00	200.00	80,000.00
20	RSCC	Crossbody sling shoulder bag for girls	pcs.	0	50	0	50	20,000.00	0	0	0	0	0.00	50	0	0	50	20,000.00	0	0	0	0	0.00	100.00	400.00	40,000.00
21	RSCC	Sweater cotton long sleeves T-shirt suit for ages 1-18	pcs.	0	100	0	100	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	500.00	50,000.00
22	RSCC	Jumpsuits printed ages 3-17 yrs. Old	pcs.	0	100	0	100	40,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	400.00	40,000.00
23	RSCC	Children slacks (assorted color) for ages 4-18	pcs.	0	100	0	100	40,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	400.00	40,000.00
24	RSCC	Children's jumper for ages 4-17 y.o. (mole & plaid)	pcs.	0	100	0	100	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	500.00	50,000.00
25	RSCC	Hairband (good quality)	pcs.	0	100	0	100	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	80.00	8,000.00
26	RSCC	Tights for girls ages 3-12 yrs. Old	pcs.	0	100	0	100	25,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	250.00	25,000.00
27	RSCC	Swimming trunks for kids	pcs.	0	100	0	100	18,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	180.00	18,000.00
28	RSCC	Leggings cotton	pcs.	0	100	0	100	20,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	200.00	20,000.00
29	RSCC	Denim jeans for ages 3-17 yrs. Old (male & female)	pcs.	0	100	0	100	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	500.00	50,000.00
30	RSCC	Denim Jacket	pcs.	0	100	0	100	50,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	500.00	50,000.00
31	RSCC	Boots for children (good quality for female)	pcs.	0	50	0	50	45,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50.00	900.00	45,000.00
32	RSCC	Fleece pants for ages 3-18 yrs. Old (male & female)	pcs.	0	100	0	100	30,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	100.00	300.00	30,000.00
33	RSCC	Female blouse (white uniform) for ages 4-8	pcs.	0	80	0	80	20,000.00	0	0	0	0	0.00	80	0	0	80	20,000.00	0	0	0	0	0.00	160.00	250.00	40,000.00
34	RSCC	Male polo (white uniform for ages 4-8	pcs.	0	80	0	80	20,000.00	0	0	0	0	0.00	80	0	0	80	20,000.00	0	0	0	0	0.00	160.00	250.00	40,000.00
35	RSCC	Skirt for female children 4-8	pcs.	0	80	0	80	20,000.00	0	0	0	0	0.00	80	0	0	80	20,000.00	0	0	0	0	0.00	160.00	250.00	40,000.00
36	RSCC	Checkeded shorts and skirts for ages 4-6	pcs.	0	50	0	50	10,000.00	0	0	0	0	0.00	50	0	0	50	10,000.00	0	0	0	0	0.00	100.00	200.00	20,000.00
37	RSCC	Black/blue long pants for ages 4-8	pcs.	0	70	0	70	35,000.00	0	0	0	0	0.00	70	0	0	70	35,000.00	0	0	0	0	0.00	140.00	500.00	70,000.00
38	RSCC	Black/blue short pants for ages 4-6	pcs.	0	70	0	70	21,000.00	0	0	0	0	0.00	70	0	0	70	21,000.00	0	0	0	0	0.00	140.00	300.00	42,000.00
39	RSCC	Knapsack for boys	pcs.	0	50	0	50	27,500.00	0	0	0	0	0.00	50	0	0	50	27,500.00	0	0	0	0	0.00	100.00	550.00	55,000.00
40	RSCC	School bags for female children	pcs.	0	50	0	50	25,000.00	0	0	0	0	0.00	50	0	0	50	25,000.00	0	0	0	0	0.00	100.00	500.00	50,000.00
41	RSCC	Umbrella and raincoat	pcs.	0	100	0	100	40,000.00	0	0	0	0	0.00	100	0	0	100	40,000.00	0	0	0	0	0.00	200.00	400.00	80,000.00
42	RSCC	School shoes for male kids assorted sizes	pcs.	0	50	0	50	27,500.00	0	0	0	0	0.00	50	0	0	50	27,500.00	0	0	0	0	0.00	100.00	550.00	55,000.00
43	RSCC	School shoes for female kids assorted sizes	pcs.	0	0	0	0	0.00	0	0	0	0	0.00	50	0	0	50	27,500.00	0	0	0	0	0.00	50.00	550.00	27,500.00

5		COMMUNITY TRAINING (CHILD GROWTH STANDARD)-BangUN	PAX	0	0	600	600	270,000.00	0	0	0	0	0.00	0	0	0	0	0	0	0	0.00	600.00	450.00	270,000.00		
6		COMMUNITY TRAINING (YCF)-BangUN	PAX	0	0	0	0	0.00	0	600	0	600	252,000.00	0	0	0	0	0	0	0	0.00	600.00	420.00	252,000.00		
7		MID-YEAR EVALUATION-BangUN	lot	0	0	0	0	0.00	0	0	1	1	93,600.00	0	0	0	0	0	0	0	0.00	1.00	93,600.00	93,600.00		
8		COMMUNITY TRAINING FDS CUM NUTRITION LITERACY-BangUN	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	600	0	600	210,000.00	0	0	0	0	0.00	600.00	350.00	210,000.00
9		COMMUNITY TRAINING (YCF)	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	500	0	500	175,000.00	0	0	0	0	0.00	500.00	350.00	175,000.00
10		COMMUNITY TRAINING (CHILD GROWTH STANDARD) BangUN	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	600	0	600	210,000.00	0	0	0	0	0.00	600.00	350.00	210,000.00
11		PROGRAM IMPLEMENTATION REVIEW-BangUN	lot	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0	1	0	1	93,600.00	1.00	93,600.00	93,600.00	
12	502-9903-000	CRCF-MONTHLY MEETING 2 DAYS 1 MEAL AND 1 SNACK	PAX	20	20	20	60	24,000.00	20	20	20	60	24,000.00	20	20	20	60	24,000.00	20	20	20	60	24,000.00	240.00	400.00	96,000.00
13	KC-NCCDP	CDD FACILITATION WORKSHOP	LOT	0	0	0	0	0.00	0	0	0	0	0.00	0	1	0	1	446,800.00	0	0	0	0	0.00	1.00	446,800.00	446,800.00
14	RECORDS	ORIENTATION OF REGIONWIDE INVENTORY FOR RECORDS DISPOSAL	LOT	0	0	0	0	0.00	1	0	0	1	100,000.00	0	0	0	0	0.00	0	1	0	1	100,000.00	2.00	100,000.00	200,000.00
15	4PS	PROVINCIAL SEARCH FOR HUWARANG PANTAWID PAMILYA AND EXEMPLARY CHILD ROAD AND	PAX	0	0	0	0	0.00	0	0	420	420	420,000.00	0	0	0	0	0.00	0	0	0	0	0.00	420.00	1,000.00	420,000.00
16	4PS	SHORT FILM FESTIVAL	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	105	0	105	15,750.00	105.00	150.00	15,750.00
17	4PS	PANTAWID PAMILYA DAY -POTLUCK	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	900	900	135,000.00	0	0	0	0	0.00	900.00	150.00	135,000.00
18	4PS	PANTAWID FAMILY DAY-CENIMA RENTAL	UNIT	0	0	0	0	0.00	0	0	0	0	0.00	0	0	1	1	15,000.00	0	0	0	0	0.00	1.00	15,000.00	15,000.00
19	4PS	PANTAWID PAMILYA DAY- MEALS FOR PARTNERS	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	100	100	50,000.00	0	0	0	0	0.00	100.00	500.00	50,000.00
20	4PS	STAKEHOLDER FORUM ON PANTAWID PAMILYA PROGRAM	PAX	0	85	0	85	238,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	85.00	2,800.00	238,000.00
21	4PS	ROLL-OUT TRAINING ON COACHING AND MONITORING ON FDS-MIS FOR CHL AND CFS	PAX	0	0	373	373	1,342,800.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	373.00	3,600.00	1,342,800.00
22	4PS	ROLL-OUT TRAINING ON PARENT LEADERS AS FACILITATORS OF FDS	PAX	0	0	0	0	0.00	0	82	0	82	344,400.00	0	0	0	0	0.00	0	0	0	0	0.00	82.00	4,200.00	344,400.00
23	4PS	ROLL-OUT TRAINING ON PARALEGAL OF WOMENS AND CHILDREN'S RIGHT FOR CHL	PAX	0	0	0	0	0.00	0	0	168	168	756,000.00	0	0	0	0	0.00	0	0	0	0	0.00	168.00	4,500.00	756,000.00
24	4PS	ROLL-OUT TRAINING ON GRMC FOR MUNICIPAL GAD FOCAL	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	82	0	82	369,000.00	0	0	0	0	0.00	82.00	4,500.00	369,000.00
25	4PS	TRAINING ORIENTATION ON KNOWLEDGE MANAGEMENT FOR CONFLICT RESOLUTION	PAX	0	0	0	0	0.00	0	0	0	0	0.00	151	0	0	151	634,200.00	0	0	0	0	0.00	151.00	4,200.00	634,200.00
26	4PS	BRIDGING LEADERSHIP FOR SELECTED PAT AND MAT MEETING	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	84	84	352,800.00	0	0	0	0	0.00	84.00	4,200.00	352,800.00
27	4PS	TECHNICAL WRITING CUM DOCUMENTATION SKILLS DEVELOPMENT FOR SELECTED SWL	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	119	119	333,200.00	0	0	0	0	0.00	119.00	2,800.00	333,200.00
28	4PS	YEAR-END PREW-PANTAWID	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	150	150	225,000.00	150.00	1,500.00	225,000.00
29	4PS	RIAC MEETING-PANTAWID	PAX	0	0	5	5	4,000.00	0	5	0	5	4,000.00	5	0	0	5	4,000.00	5	0	0	5	4,000.00	20.00	800.00	16,000.00
30	4PS	PROVINCIAL MEETING -PANTAWID	PAX	0	0	0	0	0.00	125	0	0	125	100,000.00	0	0	0	0	0.00	125	0	0	125	100,000.00	250.00	800.00	200,000.00
31	4PS	SYSTEMS MEETING -PANTAWID	PAX	0	0	0	0	0.00	250	0	0	250	500,000.00	0	0	0	0	0.00	25	0	0	25	50,000.00	275.00	2,000.00	550,000.00
32	4PS	SPECIAL WITH THE CSOs AND OTHER PARTNERS -PANTAWID	PAX	0	0	0	0	0.00	15	0	0	15	22,500.00	0	0	15	15	22,500.00	0	0	0	0	0.00	30.00	1,500.00	45,000.00
33	4PS	PARTNERSHIP MEETING -PANTAWID	PAX	0	0	0	0	0.00	0	120	0	120	240,000.00	0	0	0	0	0.00	0	0	0	0	0.00	120.00	2,000.00	240,000.00
34	4PS	RPMO MEETING -PANTAWID	PAX	0	0	7	7	9,100.00	0	0	0	0	0.00	0	0	7	7	9,100.00	0	0	0	0	0.00	14.00	1,300.00	18,200.00
35	4PS	CCT LIQUIDATION WORKSHOP-PANTAWID	PAX	0	0	0	0	0.00	27	0	0	27	64,800.00	0	0	27	27	64,800.00	0	0	0	0	0.00	54.00	2,400.00	129,600.00
36	PPD	Regional Sub-Committee on Social Protection(RSCSP) Quarterly Meetings	PAX	0	0	1	1	117,000.00	0	0	1	1	117,000.00	0	0	1	1	117,000.00	0	0	1	1	117,000.00	4.00	117,000.00	468,000.00
37	PPD	Staff Development Meeting	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1	0	1	125,000.00	1.00	125,000.00	125,000.00
38	PPD	Contingency	PAX	0	0	1	1	5,000.00	0	0	1	1	5,000.00	0	0	1	1	5,000.00	1	1	1	3	15,000.00	6.00	5,000.00	30,000.00
39	PPD	Policy and Plans Division: Conduct of Regular Monthly Division Meetings	PAX	0	0	35	35	7,000.00	0	0	35	35	7,000.00	0	0	35	35	7,000.00	35	35	35	105	21,000.00	210.00	200.00	42,000.00
40	PPD	Regional Council on Disability Affairs Quarterly Meeting (1Day - For 32 pax	PAX	0	0	1	1	33,000.00	0	0	1	1	33,000.00	0	0	1	1	33,000.00	0	0	1	1	33,000.00	4.00	33,000.00	132,000.00
41	PPD	41st National Disability Prevention and Rehabilitation (NDPR) Week 2019	PAX	0	0	0	0	0.00	0	0	1	1	200,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	200,000.00	200,000.00
42	PPD	Quarterly Meeting for Senior Citizens (1 Day - 32pax inclusive of accommodation	PAX	0	0	1	1	33,000.00	0	0	1	1	33,000.00	0	0	1	1	33,000.00	0	0	1	1	33,000.00	4.00	33,000.00	132,000.00
43	PPD	Association of the Philippines (FSCAP) Quarterly Meeting (2days -inclusive of	PAX	0	0	1	1	32,400.00	0	0	1	1	32,400.00	0	0	1	1	32,400.00	0	0	1	1	32,400.00	4.00	32,400.00	129,600.00

44	PPD	National Elderly Filiping Week 2019	PAX	0	0	0	0	0.00	0	0	0	0.00	0	0	1	1	200,000.00	0	0	0	0	0.00	1.00	200,000.00	200,000.00	
45	PPD	Association of the Philippines (PYAP) Quarterly Meeting (1 Day - inclusive of	PAX	0	0	1	1	35,000.00	0	0	1	1	35,000.00	0	0	1	1	35,000.00	0	0	1	1	35,000.00	4.00	35,000.00	140,000.00
46	PPD	Philippines (PYAP) Founding Anniversary	PAX	0	0	0	0	0.00	0	0	1	1	200,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	200,000.00	200,000.00
47	PPD	Implementation - TWG selection process	PAX	0	0	1	1	7,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	7,500.00	7,500.00
48	PPD	Implementation - Orientation of selected Pax for Deployment	PAX	0	0	80	80	8,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	80.00	100.00	8,000.00
49	PPD	Implementation - TWG selection process	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	7,500.00	1.00	7,500.00	7,500.00
50		Implementation - Orientation of selected Pax for Deployment	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	80	0	0	80	8,000.00	80.00	100.00	8,000.00
51		CLUSTER MEETING	PAX	90	0	0	90	27,000.00	90	0	0	90	27,000.00	90	0	0	90	27,000.00	90	0	0	90	27,000.00	360.00	300.00	108,000.00
52		DIVISION MEETING WITH ACCOM.	PAX	0	0	40	40	120,000.00	0	0	41	41	123,000.00	0	0	0	0	0.00	0	0	0	0	0.00	81.00	3,000.00	243,000.00
53		RPMO MEETING-SLP	PAX	0	0	30	30	90,000.00	0	0	30	30	90,000.00	0	0	30	30	90,000.00	0	0	30	30	90,000.00	120.00	3,000.00	360,000.00
54		CATERING AND HOTEL ACCOMMODATION-	PAX	0	0	0	0	0.00	100	0	0	100	750,000.00	0	100	0	100	750,000.00	0	100	100	200	1,500,000.00	400.00	7,500.00	3,000,000.00
55		GENERAL ORIENTATION FOR NEWLY HIRED EMPLOYEES	PAX	1	0	1	2	509,200.00	0	0	1	1	254,600.00	1	0	0	1	254,600.00	0	1	0	1	254,600.00	5.00	254,600.00	1,273,000.00
56		DSPMS FOCAL MEETING	LOT	1	0	1	2	299,000.00	0	0	0	0	0.00	1	0	0	1	149,500.00	0	1	0	1	149,500.00	4.00	149,500.00	598,000.00
57		DSWD IX COMMUNITIES OF PRACTICE (COP)	PAX	0	0	0	0	0.00	1	1	1	3	75,600.00	1	1	1	3	75,600.00	1	1	1	3	75,600.00	9.00	25,200.00	226,800.00
58		REGIONAL GENERAL ASSEMBLY	lot	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	220,000.00	0	0	1	1	220,000.00	2.00	220,000.00	440,000.00
59		MONTHLY MEETING-HRMD	PAX	1	1	1	3	40,500.00	1	1	1	3	40,500.00	1	1	1	3	40,500.00	1	1	1	3	40,500.00	12.00	13,500.00	162,000.00
60		DIVISION STAFF DEVT. MEETING CUM PERFORMANCE REVIEW-HRMD	PAX	0	0	0	0	0.00	1	0	0	1	45,000.00	1	0	0	1	45,000.00	1	0	1	2	90,000.00	4.00	45,000.00	180,000.00
61		PANEL INTERVIEW	PAX	1	1	1	3	13,500.00	1	1	1	3	13,500.00	1	1	1	3	13,500.00	1	1	1	3	13,500.00	12.00	4,500.00	54,000.00
62		COMMUNITY MEETING (PMT, PRAISE, ETC...)	PAX	1	1	1	3	10,500.00	1	1	1	3	10,500.00	1	1	1	3	10,500.00	1	1	1	3	10,500.00	12.00	3,500.00	42,000.00
63		PRAISE VALIDATION -HRMD	PAX	0	0	1	1	45,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	45,000.00	45,000.00
64		REGIONAL TEAM BUILDING CUM MORAL RECOVERY SESSION-HRMD	PAX	0	0	1	1	49,000.00	0	0	0	0	0.00	0	0	1	1	49,000.00	0	0	0	0	0.00	2.00	49,000.00	98,000.00
65		SKILLS ENHANCEMENT WORKSHOP FOR ADMIN SUPPORT STAFF	PAX	0	0	1	1	40,000.00	0	0	0	0	0.00	1	0	0	1	40,000.00	0	0	0	0	0.00	2.00	40,000.00	80,000.00
66		MENTAL HEALTH AWARENESS & STRESS MGMT. FOR FO IX EMPLOYEES	PAX	1	0	0	1	45,000.00	0	0	0	0	0.00	1	0	0	1	45,000.00	0	0	0	0	0.00	2.00	45,000.00	90,000.00
67		WELLNESS DAY ACTIVITIES	PAX	0	0	0	0	0.00	0	1	0	1	45,000.00	0	0	1	1	45,000.00	0	0	0	0	0.00	2.00	45,000.00	90,000.00
68		ANNUAL MANDATORY DRUG TRSTING -HRMD	PAX	0	0	0	0	0.00	0	0	0	0	0.00	1	0	1	30,000.00	0	0	0	0	0.00	1.00	30,000.00	30,000.00	
69		QUARTERLY CENTER HEADS MEETING-PSD	PAX	0	0	1	1	50,000.00	0	0	1	1	50,000.00	0	0	1	1	50,000.00	1	0	0	1	50,000.00	4.00	50,000.00	200,000.00
70		STAFF DEVELOPMENT MEETING W/ ARDO	PAX	0	0	30	30	54,000.00	0	0	30	30	54,000.00	0	0	30	30	54,000.00	0	30	0	30	54,000.00	120.00	1,800.00	216,000.00
71		ARDOS MEETING	PAX	0	0	20	20	10,000.00	0	0	20	20	10,000.00	0	0	20	20	10,000.00	0	20	0	20	10,000.00	80.00	500.00	40,000.00
72		Training for DSWD IX Drivers 31 staff x 500.00	PAX	0	0	0	0	0.00	0	0	31	31	15,500.00	0	0	0	0	0.00	0	0	0	0	0.00	31.00	500.00	15,500.00
73		Traveling Allowance for participants 5 drive	PAX	0	0	0	0	0.00	0	0	5	5	16,500.00	0	0	0	0	0.00	0	0	0	0	0.00	5.00	3,300.00	16,500.00
74		Resource Speaker1 x 1,000	PAX	0	0	0	0	0.00	0	0	1	1	1,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	1,000.00	1,000.00
75		Women's Month Celebration	PAX	0	0	1	1	28,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	28,000.00	28,000.00
76		Fire Prevention Awareness Month	PAX	0	0	1	1	13,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	13,000.00	13,000.00
77		Family Week Celebration	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	1	1	26,250.00	0	0	0	0	0.00	1.00	26,250.00	26,250.00
78		Sports & Wellness Act.	PAX	1	0	0	1	30,000.00	1	0	0	1	30,000.00	1	0	0	1	30,000.00	1	0	0	1	30,000.00	4.00	30,000.00	120,000.00
79		Disaster Awareness Activity	PAX	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	25,000.00	0	0	0	0	0.00	1.00	25000	25,000.00
80		Conduct of IPCR Review cum staff meeting	pax	0	0	0	0	0.00	0	0	1	1	7,000.00	0	0	0	0	0.00	0	0	1	1	7,000.00	2.00	7,000.00	14,000.00
81		Children's Month Celebration		0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1	0	1	60,000.00	1.00	60,000.00	60,000.00
82		Elimination of Violence Against Women and Children Cum Gender	Lot	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1	0	1	60,000.00	1.00	60,000.00	60,000.00

83	nutrition month celebration	lot	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	65,000.00	0	0	0	0	0.00	1.00	65,000.00	65,000.00
84	STAFF DEVELOPMENT CONFERENCE	pax	0	0	0	0	0.00	0	0	1	1	100,000.00	0	0	0	0	0.00	0	0	1	1	100,000.00	2.00	100,000.00	200,000.00
85	FAMILY DAY CELEBRATION	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	1	1	70,000.00	0	0	0	0	0.00	1.00	70,000.00	70,000.00
86	NUTRITION MONTH CELEBRATION	PAX	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	48,000.00	0	0	0	0	0.00	1.00	48,000.00	48,000.00
87	YEAR END SOCIALIZATION	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	1	1	120,000.00	1.00	120,000.00	120,000.00
88	WELLNESS PROGRAM	PAX	0	0	0	0	0.00	0	0	0	0	0.00	1	1	1	3	144,000.00	1	1	1	3	144,000.00	6.00	48,000.00	288,000.00
89	FIRE DRILL ORIENTATION	PAX	0	0	1	1	44,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	44,500.00	44,500.00
90	WOMENS MONTH	pax	0	0	1	1	30,366.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	30,366.00	30,366.00
91	HFV-FOUNDING ANNIVERSARY	PAX	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	120,000.00	0	0	0	0	0.00	1.00	120,000.00	120,000.00
92	STAFF DEVELOPMENT CONFERENCE	semester	0	0	0	0	0.00	0	0	1	1	70,000.00	0	0	0	0	0.00	0	1	0	1	70,000.00	2.00	70,000.00	140,000.00
93	MONTHLY RECREATIONAL ACTIVITY (THERAPEUTIC RECREATION)	PAX	1	1	1	3	774,000.00	1	1	1	3	774,000.00	1	1	1	3	774,000.00	1	1	1	3	774,000.00	12.00	258,000.00	3,096,000.00
94	care for the carers	pax	0	0	0	0	0.00	0	1	0	1	95,000.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	95,000.00	95,000.00
95	HFV-FOUNDING ANNIVERSARY	pax	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	120,000.00	0	0	0	0	0.00	1.00	120,000.00	120,000.00
96	women's month celebration(women's month celebration)	lot	0	0	1	1	28,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	28,000.00	28,000.00
97	quarterly social enhancement(quarterly social enhancement)	lot	1	0	0	1	17,500.00	1	0	0	1	17,500.00	1	0	0	1	17,500.00	1	0	0	1	17,500.00	4.00	17,500.00	70,000.00
98	Elderly Week Celebration(Elderly Week Celebration)	lot	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	27,000.00	1.00	27,000.00	27,000.00
99	DSWD Anniversary	PAX	0	71	0	71	35,500.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	71.00	500.00	35,500.00
100	valentines day celebration	PAX	0	0	78	78	39,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	78.00	500.00	39,000.00
101	Graduation/ Thanksgiving and sh	PAX	0	0	0	0	0.00	98	0	0	98	39,200.00	0	0	0	0	0.00	0	0	0	0	0.00	98.00	400.00	39,200.00
102	Picnic	PAX	0	0	75	75	37,500.00	0	0	75	75	37,500.00	0	0	75	75	37,500.00	0	0	75	75	37,500.00	300.00	500.00	150,000.00
103	Sportsfest	PAX	0	0	0	0	0.00	0	78	0	78	39,000.00	0	0	0	0	0.00	0	78	0	78	39,000.00	156.00	500.00	78,000.00
104	Field Trip	PAX	0	0	0	0	0.00	0	83	0	83	33,200.00	0	0	0	0	0.00	0	0	83	83	33,200.00	166.00	400.00	66,400.00
105	Nutrition Month Celebration	PAX	0	0	0	0	0.00	0	0	0	0	0.00	78	0	0	78	66,300.00	0	0	0	0	0.00	78.00	850.00	66,300.00
106	Buwan Ng Wika	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	78	0	78	39,000.00	0	0	0	0	0.00	78.00	500.00	39,000.00
107	Children's Month Celebration	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	120	0	0	120	84,000.00	120.00	700.00	84,000.00
108	Halloween Party	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	85	0	85	42,500.00	85.00	500.00	42,500.00
109	Spiritual Retreat	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	78	0	0	78	81,900.00	78.00	1,050.00	81,900.00
110	Team Building	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	28	0	28	42,000.00	0	0	0	0	0.00	28.00	1,500.00	42,000.00
111	Family Day Celebration w/ TE Provision	PAX	0	0	0	0	0.00	0	0	150	150	225,000.00	0	0	0	0	0.00	0	0	0	0	0.00	150.00	1,500.00	225,000.00
112	Parents & Children Forum w/ TE Provision	PAX	0	0	96	96	48,000.00	0	0	96	96	48,000.00	0	0	96	96	48,000.00	0	0	96	96	48,000.00	384.00	500.00	192,000.00
113	Disaster Preparedness Orientation	PAX	0	0	0	0	0.00	0	75	0	75	30,000.00	0	0	0	0	0.00	0	0	0	0	0.00	75.00	400.00	30,000.00
114	Drug Abuse Prevention Orientatic	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	80	0	0	80	28,000.00	80.00	350.00	28,000.00
115	Year End Socialization	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	70	0	70	56,000.00	70.00	800.00	56,000.00
116	Dialogue/Orientation for Teachers	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	31	0	31	12,400.00	0	0	0	0	0.00	31.00	400.00	12,400.00
117	Oreintation/Dialogue w/ BCPC Chairman	PAX	0	0	0	0	0.00	0	0	0	0	0.00	50	0	0	50	20,000.00	0	0	0	0	0.00	50.00	400.00	20,000.00
118	Orientation on Different VAWC Laws	PAX	0	0	0	0	0.00	0	0	0	0	0.00	70	0	0	70	21,000.00	0	0	0	0	0.00	70.00	300.00	21,000.00
119	Leadership Training	PAX	0	0	0	0	0.00	0	70	0	70	24,500.00	0	0	0	0	0.00	0	0	0	0	0.00	70.00	350.00	24,500.00
120	Orientation Gender Roles for Residents	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	85	85	42,500.00	0	0	0	0	0.00	85.00	500.00	42,500.00
121	Basic Life Support Training	PAX	0	0	0	0	0.00	75	0	0	75	30,000.00	0	0	0	0	0.00	0	0	0	0	0.00	75.00	400.00	30,000.00

122		Fire prevention month	PAX	0	0	0	0	0.00	67	0	0	67	5,025.00	0	0	0	0	0.00	0	0	0	0	0.00	67.00	75.00	5,025.00
123		Summercamp	PAX	0	0	0	0	0.00	0	83	0	83	58,100.00	0	0	0	0	0.00	0	0	0	0	0.00	83.00	700.00	58,100.00
124		Orientation in understanding PTSD	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	70	0	70	31,500.00	0	0	0	0	0.00	70.00	450.00	31,500.00
125		Youth Formation Seminar	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	70	70	42,000.00	0	0	0	0	0.00	70.00	600.00	42,000.00
126		Stress Management and Debriefing seminar	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	30	0	30	33,000.00	30.00	1,100.00	33,000.00
127		Conduct Mental Health Awareness Training	PAX	0	0	0	0	0.00	70	0	0	70	28,000.00	0	0	0	0	0.00	0	0	0	0	0.00	70.00	400.00	28,000.00
128		Family Week Celebration(Family Week Celebration)	lot	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	26,250.00	0	0	0	0	0.00	1.00	26,250.00	26,250.00
129		Home for the Elderly Anniversary Celebration(Home for the Elderly Anniversary Celebration)	lot	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	38,500.00	0	0	0	0	0.00	1.00	38,500.00	38,500.00
130		Nutrition Month Activity(Nutrition Month Activity)	lot	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	24,500.00	0	0	0	0	0.00	1.00	24,500.00	24,500.00
131		Observance of the Holy Week Season(Observance of the Holy Week Season)	lot	0	0	0	0	0.00	1	0	0	1	17,875.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	17,875.00	17,875.00
132		Socialization Activity(Socialization Activity)	lot	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1	0	0	1	43,750.00	1.00	43,750.00	43,750.00
133		CATERING SERVICES(FIRE PREVENTION MONTH)	PAX	0	0	1	1	26,250.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	26,250.00	26,250.00
134		Quarterly Division Meeting	pax	55	0	0	55	33,000.00	55	0	0	55	33,000.00	55	0	0	55	33,000.00	55	0	0	55	33,000.00	220.00	600.00	132,000.00
135		Board and Lodging (Court Litigation)	pax	3	0	0	3	9,000.00	3	0	0	3	9,000.00	3	0	0	3	9,000.00	3	0	0	3	9,000.00	12.00	3,000.00	36,000.00
136		CONDUCT OF MONTHLY MEETING F	pax	36	36	36	108	8,999.64	36	36	36	108	8,999.64	36	36	36	108	8,999.64	36	36	36	108	8,999.64	432.00	83.33	35,998.56
137		STAFF DEVELOPMENT MEETING RSC	pax	0	0	0	0	0.00	0	0	36	36	12,600.00	0	0	0	0	0.00	0	0	36	36	12,600.00	72.00	350.00	25,200.00
138		CONDUCT OF IMPLIMENTATION RE	pax	0	0	0	0	0.00	0	0	36	36	14,400.00	0	0	0	0	0.00	0	0	36	36	14,400.00	72.00	400.00	28,800.00
140		SOCIAL PENSION CONSULTATION D	LOT	0	1	0	1	900.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1.00	900.00	900.00
141		ELDERLY MONTH CELEBRATION	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	1200	0	0	1200	540,000.00	1,200.00	450.00	540,000.00
142	SocPen	RSPU 1ST QUARTERLY MEETING (PHP 600.00/PAX x 25 PAX)	PAX	0	0	25	25	15,000.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	25.00	600.00	15,000.00
143	SocPen	RSPU 2ND QUARTERLY MEETING (PHP 600.00/PAX x 25 PAX)	PAX	0	0	0	0	0.00	0	0	25	25	15,000.00	0	0	0	0	0.00	0	0	0	0	0.00	25.00	600.00	15,000.00
144	SocPen	RSPU 3RD QUARTERLY MEETING (PHP 600.00/PAX x 25 PAX)	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	25	25	15,000.00	0	0	0	0	0.00	25.00	600.00	15,000.00
145	SocPen	RSPU 4TH QUARTERLY MEETING (PHP 600.00/PAX x 25 PAX)	PAX	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	25	25	15,000.00	25.00	600.00	15,000.00
146	SocPen	SOCIAL PENSION PREW (3 DAYSX18	LOT	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	1	1	1,350,000.00	1.00	1,350,000.00	1,350,000.00

A. TOTAL								P	777,305,623.30	
B. ADDITIONAL PROVISION FOR INFLATION (10% of TOTAL)								P	77,730,562.33	
C. ADDITIONAL PROVISION FOR TRANSPORT AND FREIGHT COST (If applicable for motor vehicle and other items)										
D. GRAND TOTAL (A + B+ C)								P	855,036,185.62	
E. APPROVED BUDGET BY THE AGENCY HEAD In Figures and Words:									Eight Hundred Fifty Five Million Thirty Six Thousand One Hundred Eighty Five & 63/00	
F. MONTHLY CASH REQUIREMENTS								P	-	
G.1 Available at Procurement Service Stores		4,967,170.82		1,735,388.40		1,779,053.94		349,746.91	P	8,831,360.08
G.2 Other Items not available at PS but regularly purchased from other sources		171,148,989.37		440,969,330.61		100,666,004.41		55,602,438.83	P	768,386,763.22
TOTAL MONTHLY CASH REQUIREMENTS		176,116,160.19		442,704,719.01		102,445,058.35		55,952,185.74	P	777,218,123.30

**Agency must put the monthly requirement for air tickets both local and international.*

We hereby warrant that the total amount reflected in this Annual Supplies/ Equipment Procurement Plan to procure the listed common-use supplies, materials and equipment has been included in or is within our approved budget for the year.

Prepared by: Certified Funds Available / Certified Appropriate Funds Available:

Approved by:

RENATO G. FOJAS
Property/Supplier Officer

MA. LOURDES U AMILHAMJA (Chief FMD)
Accountant / Local Budget Officer

FATIMA S. CAMINAN
OIC-Regional Director

Date Prepared: September 9, 2019